

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
<b>AIRPORT</b>									
	Feb 12, 2025 10:00:39 AM	22050	SMITH, TIMOTHY	AIRPORT	UL	San Angelo Airport	\$2.2780	22.600	\$51.48
	Feb 2, 2025 12:25:01 AM	22413	OWEN, GARY	AIRPORT	UL	San Angelo Airport	\$2.2260	7.000	\$15.58
	Feb 12, 2025 1:54:47 PM	23270	SMITH, TIMOTHY	AIRPORT	UL	San Angelo Airport	\$2.2780	19.300	\$43.97
	Feb 4, 2025 4:25:42 PM	23270	BARRIGA, ISAIAS	AIRPORT	UL	San Angelo Airport	\$2.2260	26.700	\$59.43
	Feb 13, 2025 8:03:47 AM	22414	ESPINOZA, RICHARD	POLICE	UL	San Angelo Airport	\$2.2780	7.300	\$16.63
	Feb 15, 2025 2:58:31 PM	23002	OWEN, GARY	AIRPORT	UL	San Angelo Airport	\$2.4430	2.300	\$5.62
	Feb 7, 2025 9:15:19 AM	22493	SMITH, TIMOTHY	AIRPORT	UL	San Angelo Airport	\$2.2770	19.800	\$45.08
	Feb 16, 2025 12:12:11 PM	22264	BARRIGA, ISAIAS	AIRPORT	UL	San Angelo Airport	\$2.6430	11.300	\$29.87
	Feb 18, 2025 1:36:55 PM	23057	SMITH, TIMOTHY	AIRPORT	DL	San Angelo Airport	\$2.6340	29.100	\$76.65
	Feb 18, 2025 4:46:01 PM	22414	ESPINOZA, RICHARD	POLICE	UL	San Angelo Airport	\$2.3640	23.100	\$54.61
	Feb 19, 2025 7:59:43 AM	22050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.3640	22.100	\$52.24
	Feb 21, 2025 8:58:21 AM	23338	SMITH, TIMOTHY	AIRPORT	UL	San Angelo Airport	\$2.3510	19.400	\$45.61
	Feb 27, 2025 9:41:48 AM	23270	SMITH, TIMOTHY	AIRPORT	UL	San Angelo Airport	\$2.3520	33.000	\$77.62
	Feb 28, 2025 11:01:45 PM	22413	OWEN, GARY	AIRPORT	UL	San Angelo Airport	\$2.3520	5.800	\$13.64
<b>AIRPORT Totals</b>				<b>14</b>			<b>\$33.0660</b>	<b>248.800</b>	<b>\$588.03</b>
<b>ANIMAL SERVICES</b>									
	Feb 27, 2025 11:49:27 AM	23353	WELLS, JONATHON	ANIMAL SERVICES	UL	City Facility	\$2.3520	28.700	\$67.50
	Feb 28, 2025 10:48:41 AM	23278	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.3520	27.000	\$63.50
	Feb 25, 2025 8:35:36 AM	23355	NEWTON, LINDSEY	ANIMAL SERVICES	UL	City Facility	\$2.3450	30.000	\$70.35
	Feb 19, 2025 8:34:40 AM	23278	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.3640	28.800	\$68.08
	Feb 18, 2025 12:00:47 PM	23355	NEWTON, LINDSEY	ANIMAL SERVICES	UL	City Facility	\$2.3640	31.100	\$73.52
	Feb 19, 2025 10:12:01 AM	22932	MOLOTSKY, AVERY	ANIMAL SERVICES	UL	City Facility	\$2.3640	28.800	\$68.08
	Feb 24, 2025 9:50:01 AM	22932	MOLOTSKY, AVERY	ANIMAL SERVICES	UL	City Facility	\$2.3510	29.700	\$69.82
	Feb 24, 2025 10:18:02 AM	23278	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.3510	27.100	\$63.71
	Feb 24, 2025 2:20:07 PM	23353	WELLS, JONATHON	ANIMAL SERVICES	UL	City Facility	\$2.3450	30.900	\$72.46
	Feb 11, 2025 11:42:07 AM	23355	NEWTON, LINDSEY	ANIMAL SERVICES	UL	City Facility	\$2.2780	20.500	\$46.70
	Feb 11, 2025 1:44:57 PM	23278	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.2780	29.100	\$66.29
	Feb 14, 2025 10:21:04 AM	23353	WELLS, JONATHON	ANIMAL SERVICES	UL	City Facility	\$2.6430	30.000	\$79.29

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 2:37:20 PM	22723	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.2770	26.300	\$59.89
	Feb 7, 2025 3:52:45 PM	22932	MOLOTSKY, AVERY	ANIMAL SERVICES	UL	City Facility	\$2.2770	27.300	\$62.16
	Feb 10, 2025 11:08:54 AM	23353	WELLS, JONATHON	ANIMAL SERVICES	UL	City Facility	\$2.2770	29.600	\$67.40
	Feb 13, 2025 9:09:41 AM	22932	NEWTON, LINDSEY	ANIMAL SERVICES	UL	City Facility	\$2.2780	30.100	\$68.57
	Feb 6, 2025 2:04:24 PM	23278	QUINNEY, NICHOLAS	ANIMAL SERVICES	UL	City Facility	\$2.2770	27.900	\$63.53
	Feb 4, 2025 3:45:11 PM	23353	WELLS, JONATHON	ANIMAL SERVICES	UL	City Facility	\$2.2260	29.500	\$65.67
	Feb 4, 2025 11:21:05 AM	22932	MOLOTSKY, AVERY	ANIMAL SERVICES	UL	City Facility	\$2.2260	23.300	\$51.87
<b>ANIMAL SERVICES Totals</b>				<b>19</b>			<b>\$44.2250</b>	<b>535.700</b>	<b>\$1,248.39</b>
<b>CIVIC EVENTS</b>									
	Feb 11, 2025 1:25:33 PM	11839	FRANKE, WILLIAM	CIVIC EVENTS	UL	City Facility	\$2.2780	17.800	\$40.55
<b>CIVIC EVENTS Totals</b>				<b>1</b>			<b>\$2.2780</b>	<b>17.800</b>	<b>\$40.55</b>
<b>CODE COMPLIANCE</b>									
	Feb 24, 2025 8:57:47 AM	22804	GUERRERO, CRUZ	CODE COMPLIANCE	DL	City Facility	\$2.6340	17.000	\$44.78
	Feb 24, 2025 8:27:37 AM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.3510	11.600	\$27.27
	Feb 11, 2025 1:41:29 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.2770	7.100	\$16.17
	Feb 11, 2025 9:31:40 AM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.2770	17.200	\$39.16
	Feb 10, 2025 10:46:46 AM	22797	CORTEZ, EMILY	CODE COMPLIANCE	UL	City Facility	\$2.2770	13.200	\$30.06
	Feb 24, 2025 1:18:26 PM	23236	FISHER, DANIEL	CODE COMPLIANCE	UL	City Facility	\$2.3450	19.000	\$44.56
	Feb 24, 2025 1:52:51 PM	22730	GONZALES, GILBERT	CODE COMPLIANCE	UL	City Facility	\$2.3450	17.800	\$41.74
	Feb 19, 2025 1:25:18 PM	23303	IBARRA, RODOLFO	CODE COMPLIANCE	UL	City Facility	\$2.1640	15.900	\$34.41
	Feb 19, 2025 1:43:28 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.3640	5.600	\$13.24
	Feb 4, 2025 11:43:01 AM	23236	FISHER, DANIEL	CODE COMPLIANCE	UL	City Facility	\$2.2260	0.200	\$0.45
	Feb 4, 2025 11:45:19 AM	23236	FISHER, DANIEL	CODE COMPLIANCE	UL	City Facility	\$2.2260	17.600	\$39.18
	Feb 4, 2025 1:32:34 PM	22730	GONZALES, GILBERT	CODE COMPLIANCE	UL	City Facility	\$2.2260	19.800	\$44.07
	Feb 4, 2025 2:48:33 PM	22804	GUERRERO, CRUZ	CODE COMPLIANCE	DL	City Facility	\$2.5420	15.200	\$38.64
	Feb 5, 2025 1:54:39 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.2260	5.500	\$12.24
	Feb 3, 2025 10:16:28 AM	23157	REYES, RAUL	CODE COMPLIANCE	UL	City Facility	\$2.2260	21.000	\$46.75
	Feb 4, 2025 8:32:35 AM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.2260	25.300	\$56.32
	Feb 13, 2025 1:43:29 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.2780	5.000	\$11.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 1:35:04 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.2260	6.800	\$15.14
	Feb 12, 2025 11:10:13 AM	23157	REYES, RAUL	CODE COMPLIANCE	UL	City Facility	\$2.2780	16.000	\$36.45
	Feb 5, 2025 3:22:34 PM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.2220	15.000	\$33.33
	Feb 6, 2025 7:30:09 AM	22327	GONZALES, GILBERT	CODE COMPLIANCE	UL	City Facility	\$2.2220	33.900	\$75.33
	Feb 13, 2025 3:35:28 PM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.2780	24.300	\$55.36
	Feb 25, 2025 9:55:09 AM	22878	ONEAL, JOHN	CODE COMPLIANCE	UL	San Angelo Airport	\$2.3450	11.900	\$27.91
	Feb 25, 2025 11:15:28 AM	23157	REYES, RAUL	CODE COMPLIANCE	UL	City Facility	\$2.3450	20.400	\$47.84
	Feb 26, 2025 8:39:03 AM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.3520	19.300	\$45.39
	Feb 21, 2025 8:23:35 AM	22726	SEGURA, MIGUEL	CODE COMPLIANCE	UL	City Facility	\$2.3510	23.700	\$55.72
<b>CODE COMPLIANCE Totals</b>				<b>26</b>			<b>\$59.8290</b>	<b>405.300</b>	<b>\$932.90</b>
<b>CONCHO VALLEY TRANSIT DIS</b>									
	Feb 20, 2025 7:28:48 PM	1705	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	27.000	\$66.18
	Feb 20, 2025 7:37:12 PM	1709	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	32.800	\$80.39
	Feb 20, 2025 7:40:25 PM	1871	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	32.500	\$79.66
	Feb 20, 2025 7:41:58 PM	2404	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.8340	26.300	\$74.53
	Feb 21, 2025 10:28:41 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	11.200	\$27.45
	Feb 21, 2025 11:05:49 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	12.800	\$31.37
	Feb 21, 2025 12:56:52 PM	1314	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	18.000	\$44.12
	Feb 21, 2025 12:59:41 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	24.600	\$60.29
	Feb 21, 2025 1:23:11 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	11.000	\$26.96
	Feb 20, 2025 1:45:35 PM	1707	VILLARREAL, FRANCISCO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	18.100	\$44.60
	Feb 20, 2025 2:34:06 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	16.800	\$41.40
	Feb 20, 2025 3:19:45 PM	2302	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3510	26.800	\$63.01
	Feb 20, 2025 4:44:28 PM	1314	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.4510	23.900	\$58.58
	Feb 20, 2025 4:48:22 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	6.900	\$16.91
	Feb 20, 2025 4:52:09 PM	1301	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	9.000	\$22.06
	Feb 20, 2025 5:33:06 PM	2308	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	12.000	\$29.41
	Feb 20, 2025 5:50:28 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	14.300	\$35.05

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 5:53:19 PM	1870	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	20.100	\$49.27
	Feb 20, 2025 6:07:41 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	15.800	\$38.73
	Feb 20, 2025 6:58:40 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	14.700	\$36.03
	Feb 20, 2025 7:22:43 PM	1868	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	16.200	\$39.71
	Feb 21, 2025 1:45:20 PM	1308	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	33.000	\$80.88
	Feb 21, 2025 5:10:25 PM	1517	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.4510	17.500	\$42.89
	Feb 21, 2025 5:21:20 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	10.500	\$25.74
	Feb 21, 2025 5:52:04 PM	1870	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	17.500	\$42.89
	Feb 21, 2025 6:09:10 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	12.400	\$30.39
	Feb 21, 2025 6:24:06 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	14.200	\$34.80
	Feb 21, 2025 6:37:48 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	20.400	\$50.00
	Feb 21, 2025 7:23:23 PM	1871	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	31.600	\$77.45
	Feb 21, 2025 7:25:26 PM	1709	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	30.300	\$74.27
	Feb 21, 2025 7:38:33 PM	2404	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8340	32.800	\$92.96
	Feb 21, 2025 7:40:23 PM	1868	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	27.000	\$66.18
	Feb 21, 2025 7:47:43 PM	2307	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.9340	31.400	\$92.13
	Feb 21, 2025 7:00:57 PM	1512	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	7.300	\$17.89
	Feb 21, 2025 11:09:14 PM	1501	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	15.000	\$36.76
	Feb 22, 2025 11:29:56 AM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	5.500	\$13.48
	Feb 22, 2025 11:40:13 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	8.600	\$21.08
	Feb 22, 2025 5:28:27 PM	1512	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	11.400	\$27.94
	Feb 22, 2025 6:12:13 PM	1501	SPAHN, PHILLIP	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	21.300	\$52.21
	Feb 22, 2025 6:25:35 PM	1705	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	10.500	\$25.74
	Feb 22, 2025 6:29:00 PM	2404	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8340	26.000	\$73.68
	Feb 22, 2025 6:29:26 PM	1868	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	26.400	\$64.71
	Feb 22, 2025 6:28:23 PM	1709	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	28.400	\$69.61
	Feb 22, 2025 6:36:41 PM	2310	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	9.600	\$23.53
	Feb 22, 2025 6:35:46 PM	1871	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	27.000	\$66.18
	Feb 22, 2025 3:32:49 PM	1301	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	14.600	\$35.78

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 23, 2025 1:02:49 AM	1867	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	30.700	\$75.25
	Feb 24, 2025 5:39:39 PM	1517	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	19.000	\$46.46
	Feb 24, 2025 5:41:38 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	12.600	\$30.81
	Feb 24, 2025 5:56:05 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	12.000	\$29.34
	Feb 24, 2025 5:55:35 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	10.400	\$25.43
	Feb 24, 2025 6:18:40 PM	1870	SEVIER, BRENDA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	21.000	\$51.34
	Feb 22, 2025 11:15:06 PM	1870	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	25.200	\$61.77
	Feb 24, 2025 7:09:56 PM	1305	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	35.500	\$86.80
	Feb 24, 2025 7:30:50 PM	1867	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	30.200	\$73.84
	Feb 24, 2025 7:33:54 PM	1871	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	33.200	\$81.17
	Feb 24, 2025 7:36:59 PM	1868	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	35.500	\$86.80
	Feb 24, 2025 7:52:28 PM	1709	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	34.500	\$84.35
	Feb 24, 2025 7:59:41 PM	1707	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4450	27.500	\$67.24
	Feb 26, 2025 11:10:15 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	10.100	\$24.77
	Feb 26, 2025 11:30:06 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	12.500	\$30.65
	Feb 26, 2025 11:45:25 AM	1703	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	6.600	\$16.18
	Feb 26, 2025 12:17:50 PM	1703	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	16.800	\$41.19
	Feb 26, 2025 1:17:23 PM	1517	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	14.700	\$36.04
	Feb 26, 2025 1:47:42 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	10.000	\$24.52
	Feb 26, 2025 1:55:21 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	23.900	\$58.60
	Feb 26, 2025 4:17:42 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	13.900	\$34.08
	Feb 25, 2025 11:29:53 AM	1303	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	13.000	\$31.78
	Feb 25, 2025 11:46:26 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	10.200	\$24.94
	Feb 25, 2025 1:07:41 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	12.500	\$30.56
	Feb 25, 2025 10:30:54 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	9.000	\$22.00
	Feb 24, 2025 7:21:56 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	19.100	\$46.70
	Feb 25, 2025 4:55:22 PM	1314	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	22.500	\$55.01
	Feb 25, 2025 4:57:17 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	15.400	\$37.65
	Feb 25, 2025 5:47:07 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	13.800	\$33.74

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 25, 2025 5:56:42 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	13.400	\$32.76
	Feb 25, 2025 5:55:59 PM	1870	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	23.400	\$57.21
	Feb 25, 2025 6:07:52 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	13.800	\$33.74
	Feb 25, 2025 6:15:58 PM	1517	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	21.000	\$51.34
	Feb 25, 2025 6:21:06 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	12.000	\$29.34
	Feb 25, 2025 7:28:46 PM	1867	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	30.700	\$75.06
	Feb 25, 2025 7:31:09 PM	1709	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	34.200	\$83.62
	Feb 25, 2025 7:30:41 PM	1705	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	27.100	\$66.26
	Feb 25, 2025 7:44:28 PM	1868	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	34.900	\$85.33
	Feb 25, 2025 7:46:23 PM	1871	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	35.900	\$87.78
	Feb 25, 2025 8:44:00 PM	1710	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	36.200	\$88.51
	Feb 25, 2025 6:04:40 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	18.700	\$45.72
	Feb 25, 2025 7:03:27 PM	1305	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	16.400	\$40.10
	Feb 28, 2025 10:53:10 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	10.300	\$25.26
	Feb 28, 2025 11:11:46 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	9.900	\$24.27
	Feb 28, 2025 12:00:55 PM	1703	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	14.400	\$35.31
	Feb 28, 2025 1:31:33 PM	1517	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	16.700	\$40.95
	Feb 28, 2025 2:26:00 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	13.500	\$33.10
	Feb 28, 2025 3:19:28 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	13.500	\$33.10
	Feb 28, 2025 3:55:08 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	12.000	\$29.42
	Feb 27, 2025 5:55:34 PM	1870	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	19.500	\$47.81
	Feb 27, 2025 5:56:21 PM	1301	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	25.400	\$62.28
	Feb 27, 2025 6:02:08 PM	2308	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	11.600	\$28.44
	Feb 27, 2025 6:07:53 PM	1305	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	14.800	\$36.29
	Feb 27, 2025 6:28:52 PM	1308	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	15.900	\$38.99
	Feb 27, 2025 7:26:52 PM	1705	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	22.500	\$55.17
	Feb 27, 2025 7:32:12 PM	1867	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4520	28.100	\$68.90
	Feb 27, 2025 7:35:04 PM	1868	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	34.100	\$83.61
	Feb 27, 2025 7:44:06 PM	1709	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	34.300	\$84.10

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 27, 2025 7:47:53 PM	1871	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	32.700	\$80.18
	Feb 27, 2025 12:05:56 PM	1703	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	15.900	\$38.99
	Feb 27, 2025 12:48:59 PM	1517	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	15.000	\$36.78
	Feb 27, 2025 12:58:45 PM	2310	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	11.600	\$28.44
	Feb 27, 2025 1:12:22 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	9.000	\$22.07
	Feb 27, 2025 1:15:29 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	13.800	\$33.84
	Feb 27, 2025 5:42:06 PM	1507	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	6.400	\$15.69
	Feb 27, 2025 5:41:12 PM	1303	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	26.900	\$65.96
	Feb 27, 2025 5:50:23 PM	1505	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	15.100	\$37.03
	Feb 26, 2025 5:08:57 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	40.000	\$98.08
	Feb 26, 2025 5:47:54 PM	2310	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	14.700	\$36.04
	Feb 26, 2025 6:03:22 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	14.800	\$36.29
	Feb 26, 2025 6:10:35 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	8.600	\$21.09
	Feb 26, 2025 6:43:40 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	16.600	\$40.70
	Feb 26, 2025 6:45:36 PM	1870	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	25.200	\$61.79
	Feb 26, 2025 6:51:40 PM	2308	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	11.100	\$27.22
	Feb 26, 2025 7:33:43 PM	1867	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	28.400	\$69.64
	Feb 26, 2025 7:35:19 PM	1710	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	36.600	\$89.74
	Feb 26, 2025 7:37:16 PM	1868	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4520	34.900	\$85.57
	Feb 26, 2025 7:38:35 PM	1705	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	27.700	\$67.92
	Feb 26, 2025 7:41:07 PM	1871	SEVIER, BRENDA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	34.100	\$83.61
	Feb 26, 2025 7:06:06 PM	1305	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	20.400	\$50.02
	Feb 28, 2025 7:29:05 PM	1705	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	26.000	\$63.75
	Feb 28, 2025 11:20:32 PM	1708	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	16.400	\$40.21
	Feb 28, 2025 5:16:04 PM	1517	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	8.000	\$19.62
	Feb 28, 2025 5:24:02 PM	2308	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	8.300	\$20.35
	Feb 28, 2025 5:40:03 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	11.800	\$28.93
	Feb 28, 2025 5:41:13 PM	1303	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	21.000	\$51.49
	Feb 28, 2025 6:13:18 PM	1870	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4520	18.000	\$44.14

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 28, 2025 6:14:19 PM	1305	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	15.200	\$37.27
	Feb 28, 2025 6:37:05 PM	1308	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	16.600	\$40.70
	Feb 28, 2025 7:40:20 PM	1867	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	30.900	\$75.77
	Feb 28, 2025 7:40:05 PM	1709	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	35.500	\$87.05
	Feb 28, 2025 7:45:56 PM	1871	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	33.000	\$80.92
	Feb 28, 2025 7:58:58 PM	1868	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4520	34.700	\$85.08
	Feb 13, 2025 3:31:11 PM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	13.300	\$31.63
	Feb 13, 2025 4:26:18 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	11.500	\$27.35
	Feb 13, 2025 6:06:01 PM	1303	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	29.300	\$69.68
	Feb 13, 2025 6:10:34 PM	1870	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	19.000	\$45.18
	Feb 13, 2025 6:21:23 PM	1514	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	17.000	\$40.43
	Feb 13, 2025 7:27:18 PM	1871	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3780	25.700	\$61.11
	Feb 13, 2025 7:29:36 PM	1707	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	29.000	\$68.96
	Feb 13, 2025 7:37:03 PM	1709	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	30.800	\$73.24
	Feb 13, 2025 7:52:14 PM	1867	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	34.800	\$82.75
	Feb 13, 2025 8:01:23 PM	2307	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8560	39.000	\$111.38
	Feb 13, 2025 6:30:32 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	19.500	\$46.37
	Feb 13, 2025 6:54:00 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	13.900	\$33.05
	Feb 7, 2025 11:10:42 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	12.100	\$28.76
	Feb 7, 2025 11:17:53 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	10.600	\$25.20
	Feb 7, 2025 11:28:45 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	9.300	\$22.11
	Feb 7, 2025 12:35:23 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.600	\$51.34
	Feb 7, 2025 1:26:20 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	27.000	\$64.18
	Feb 7, 2025 1:32:52 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	10.000	\$23.77
	Feb 7, 2025 1:49:12 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	13.000	\$30.90
	Feb 15, 2025 5:10:19 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	10.600	\$29.08
	Feb 15, 2025 5:53:30 PM	1867	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	26.800	\$73.51
	Feb 15, 2025 6:26:08 PM	1707	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	22.000	\$60.35
	Feb 15, 2025 6:30:53 PM	2309	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	10.800	\$29.62

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 15, 2025 6:30:28 PM	2307	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8560	24.600	\$70.26
	Feb 15, 2025 6:39:02 PM	1705	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	26.000	\$71.32
	Feb 15, 2025 6:42:50 PM	2404	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7560	35.600	\$98.11
	Feb 14, 2025 7:44:41 PM	1709	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	32.300	\$88.60
	Feb 14, 2025 11:37:06 PM	1501	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	16.000	\$43.89
	Feb 15, 2025 1:00:00 AM	1507	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	16.100	\$44.16
	Feb 15, 2025 7:16:50 PM	1870	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	24.500	\$67.20
	Feb 15, 2025 11:27:09 PM	1501	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	29.400	\$80.64
	Feb 16, 2025 12:49:22 AM	1507	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	10.300	\$28.25
	Feb 6, 2025 3:29:40 PM	2305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2770	8.500	\$19.35
	Feb 6, 2025 5:15:18 PM	1301	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.3770	13.000	\$30.90
	Feb 6, 2025 5:28:27 PM	1303	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.300	\$50.63
	Feb 6, 2025 5:31:26 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	7.200	\$17.11
	Feb 6, 2025 7:48:43 PM	1707	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	33.100	\$78.68
	Feb 6, 2025 8:01:01 PM	1709	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	28.500	\$67.74
	Feb 6, 2025 8:03:02 PM	2404	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7420	29.700	\$81.44
	Feb 6, 2025 8:15:44 PM	1706	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	22.700	\$53.96
	Feb 6, 2025 8:20:29 PM	2405	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	38.300	\$105.02
	Feb 6, 2025 4:55:42 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	11.900	\$28.29
	Feb 6, 2025 5:48:54 PM	1708	LUCAS, JOZEF	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	25.600	\$60.85
	Feb 6, 2025 6:18:01 PM	1870	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.700	\$51.58
	Feb 6, 2025 6:35:32 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	16.900	\$40.17
	Feb 14, 2025 5:36:53 PM	1303	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	18.800	\$51.57
	Feb 14, 2025 5:55:09 PM	1870	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	21.100	\$57.88
	Feb 14, 2025 5:58:13 PM	1301	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	25.300	\$69.40
	Feb 14, 2025 6:08:56 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	15.100	\$41.42
	Feb 14, 2025 6:50:31 PM	2310	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	10.400	\$28.53
	Feb 14, 2025 7:27:14 PM	1705	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	27.000	\$74.06
	Feb 14, 2025 7:32:52 PM	1708	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.7430	27.200	\$74.61

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 7:33:14 PM	1867	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	31.400	\$86.13
	Feb 14, 2025 7:38:17 PM	1707	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	30.100	\$82.56
	Feb 5, 2025 9:02:31 PM	1705	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	19.100	\$44.35
	Feb 5, 2025 5:43:30 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	12.700	\$29.49
	Feb 5, 2025 5:54:28 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	9.300	\$21.59
	Feb 5, 2025 6:10:09 PM	1303	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	13.100	\$30.42
	Feb 5, 2025 6:17:43 PM	1870	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	25.300	\$58.75
	Feb 5, 2025 7:27:34 PM	1709	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	29.300	\$68.03
	Feb 5, 2025 7:34:13 PM	2404	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	30.800	\$84.45
	Feb 5, 2025 7:39:26 PM	1707	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	33.000	\$76.63
	Feb 5, 2025 7:41:44 PM	1710	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	32.200	\$74.77
	Feb 5, 2025 3:13:15 PM	1505	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	12.300	\$28.56
	Feb 5, 2025 4:49:46 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	17.000	\$39.47
	Feb 5, 2025 5:05:05 PM	1301	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	15.000	\$34.83
	Feb 6, 2025 2:13:29 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	31.100	\$73.92
	Feb 6, 2025 11:09:44 AM	1301	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	16.000	\$38.03
	Feb 6, 2025 1:00:07 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	22.000	\$52.29
	Feb 13, 2025 8:16:27 AM	1303	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	12.200	\$29.01
	Feb 13, 2025 6:55:43 AM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	12.700	\$30.20
	Feb 13, 2025 10:49:42 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	15.200	\$36.15
	Feb 13, 2025 1:14:25 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	18.500	\$43.99
	Feb 13, 2025 1:16:07 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	19.600	\$46.61
	Feb 13, 2025 1:11:36 PM	1505	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	16.000	\$38.05
	Feb 13, 2025 2:00:03 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	14.400	\$34.24
	Feb 5, 2025 10:06:33 AM	1301	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	15.100	\$35.06
	Feb 5, 2025 11:06:08 AM	1303	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	11.700	\$27.17
	Feb 5, 2025 11:29:46 AM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	9.000	\$20.90
	Feb 5, 2025 11:39:41 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	10.900	\$25.31
	Feb 5, 2025 1:20:19 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	11.000	\$25.54

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 5, 2025 2:17:13 PM	2405	VILLARREAL, FRANCISCO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	12.900	\$35.37
	Feb 5, 2025 2:21:03 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3220	13.700	\$31.81
	Feb 12, 2025 11:13:26 AM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	28.000	\$66.58
	Feb 1, 2025 12:18:51 AM	1868	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	14.700	\$34.19
	Feb 1, 2025 1:06:46 AM	1705	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	41.300	\$96.06
	Feb 1, 2025 11:24:22 AM	1511	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	10.400	\$24.19
	Feb 1, 2025 12:23:25 PM	1509	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	16.800	\$39.08
	Feb 1, 2025 1:21:41 PM	1301	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	18.700	\$43.50
	Feb 1, 2025 1:36:17 PM	1308	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	14.000	\$32.56
	Feb 1, 2025 6:57:54 PM	1709	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	24.700	\$57.45
	Feb 1, 2025 7:01:26 PM	2404	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7290	26.200	\$71.50
	Feb 1, 2025 7:01:19 PM	1871	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	33.500	\$77.92
	Feb 1, 2025 7:03:49 PM	1707	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	25.500	\$59.31
	Feb 1, 2025 7:08:09 PM	2403	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7290	22.700	\$61.95
	Feb 1, 2025 7:32:55 PM	1505	LUCAS, JOZEF	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	10.700	\$24.89
	Feb 1, 2025 6:18:04 PM	1303	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	11.400	\$26.52
	Feb 1, 2025 6:05:37 PM	1867	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	20.700	\$48.15
	Feb 12, 2025 9:21:38 AM	1871	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	25.100	\$59.69
	Feb 12, 2025 10:30:56 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.3780	16.800	\$39.95
	Feb 12, 2025 10:58:38 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	17.000	\$40.43
	Feb 11, 2025 7:40:44 PM	1705	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	31.600	\$75.14
	Feb 11, 2025 7:57:17 PM	1707	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3780	27.400	\$65.16
	Feb 11, 2025 7:59:34 PM	1867	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	30.500	\$72.53
	Feb 11, 2025 8:36:38 PM	1709	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	11.000	\$26.16
	Feb 11, 2025 8:51:05 PM	2402	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	6.400	\$15.22
	Feb 11, 2025 7:30:20 PM	2405	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7560	27.600	\$76.07
	Feb 11, 2025 7:31:19 PM	1870	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	8.000	\$19.02
	Feb 12, 2025 6:47:41 PM	2308	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	9.300	\$22.12
	Feb 12, 2025 6:57:45 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	21.500	\$51.13

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 12, 2025 7:37:41 PM	1709	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	25.900	\$61.59
	Feb 12, 2025 7:38:14 PM	2405	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7560	28.000	\$77.17
	Feb 12, 2025 7:48:15 PM	1707	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3780	29.800	\$70.86
	Feb 12, 2025 7:56:11 PM	1870	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	33.300	\$79.19
	Feb 12, 2025 8:03:04 PM	1867	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	31.700	\$75.38
	Feb 12, 2025 1:45:02 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	10.000	\$23.78
	Feb 2, 2025 12:34:36 AM	1501	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3260	28.600	\$66.52
	Feb 2, 2025 12:57:12 AM	1705	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	30.700	\$71.41
	Feb 12, 2025 4:45:54 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	15.900	\$37.81
	Feb 12, 2025 5:18:21 PM	1514	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.3780	18.000	\$42.80
	Feb 12, 2025 6:02:28 PM	1308	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	26.000	\$61.83
	Feb 12, 2025 6:15:21 PM	1871	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	22.100	\$52.55
	Feb 3, 2025 6:31:57 PM	1867	SEVIER, BRENDA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	22.100	\$51.40
	Feb 3, 2025 5:35:03 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	8.200	\$19.07
	Feb 3, 2025 5:40:54 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	12.000	\$27.91
	Feb 3, 2025 6:09:35 PM	2308	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	12.000	\$27.91
	Feb 3, 2025 7:53:20 PM	2404	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7290	28.700	\$78.32
	Feb 3, 2025 7:54:55 PM	1871	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	34.800	\$80.94
	Feb 3, 2025 7:55:51 PM	2403	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7290	38.100	\$103.97
	Feb 3, 2025 8:07:13 PM	1707	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	33.000	\$76.76
	Feb 3, 2025 8:30:22 PM	1709	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	30.300	\$70.48
	Feb 3, 2025 10:53:53 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	9.500	\$22.10
	Feb 3, 2025 11:50:16 AM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	13.200	\$30.70
	Feb 3, 2025 12:33:38 PM	1309	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	32.900	\$76.53
	Feb 3, 2025 1:11:40 PM	1308	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	15.000	\$34.89
	Feb 3, 2025 1:17:26 PM	1304	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	14.000	\$32.56
	Feb 3, 2025 2:03:45 PM	1514	ARRENDONDO, CRISTAL	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	20.100	\$46.75
	Feb 3, 2025 2:16:09 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.3260	20.400	\$47.45
	Feb 4, 2025 5:29:06 PM	1301	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.3260	10.900	\$25.35

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 5:36:16 PM	1509	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	10.200	\$23.73
	Feb 4, 2025 5:44:05 PM	1303	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	17.400	\$40.47
	Feb 4, 2025 4:58:16 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	24.600	\$57.22
	Feb 4, 2025 4:59:42 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	16.000	\$37.22
	Feb 4, 2025 6:07:06 PM	1870	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	20.000	\$46.52
	Feb 4, 2025 6:22:29 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	13.600	\$31.63
	Feb 4, 2025 6:27:21 PM	1708	LUCAS, JOZEF	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	30.100	\$70.01
	Feb 4, 2025 7:48:50 PM	2404	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7420	29.400	\$80.61
	Feb 4, 2025 7:53:19 PM	1707	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	27.200	\$63.27
	Feb 4, 2025 7:58:16 PM	1709	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	27.500	\$63.96
	Feb 4, 2025 8:21:30 PM	1710	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	39.200	\$91.18
	Feb 4, 2025 9:01:13 PM	1501	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	12.300	\$28.61
	Feb 4, 2025 7:29:24 PM	1867	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	28.000	\$65.13
	Feb 4, 2025 3:21:36 PM	1505	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	14.000	\$32.56
	Feb 4, 2025 1:45:32 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	21.000	\$48.85
	Feb 4, 2025 2:03:46 PM	1514	ARRENDONDO, CRISTAL	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	15.100	\$35.12
	Feb 4, 2025 12:16:21 PM	1509	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	8.300	\$19.31
	Feb 4, 2025 11:16:36 AM	1301	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3260	19.600	\$45.59
	Feb 18, 2025 4:55:55 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	9.100	\$22.42
	Feb 18, 2025 5:05:39 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	24.300	\$59.88
	Feb 18, 2025 5:09:07 PM	2309	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	San Angelo Airport	\$2.4640	12.400	\$30.55
	Feb 18, 2025 5:15:50 PM	1301	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	12.700	\$31.29
	Feb 18, 2025 5:48:11 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	17.000	\$41.89
	Feb 18, 2025 5:53:56 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	10.900	\$26.86
	Feb 18, 2025 5:57:47 PM	1870	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	23.000	\$56.67
	Feb 18, 2025 7:27:33 PM	1871	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	26.000	\$64.06
	Feb 18, 2025 7:28:17 PM	2404	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8340	34.500	\$97.77
	Feb 18, 2025 7:28:36 PM	1705	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	26.400	\$65.05
	Feb 18, 2025 7:31:58 PM	1709	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	30.200	\$74.41

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 18, 2025 7:40:51 PM	1707	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	32.500	\$80.08
	Feb 18, 2025 8:49:15 PM	1868	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	16.200	\$39.92
	Feb 18, 2025 6:30:00 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	15.300	\$37.70
	Feb 18, 2025 6:33:11 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	9.000	\$22.18
	Feb 18, 2025 1:15:49 PM	1303	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	16.600	\$40.90
	Feb 18, 2025 11:04:06 AM	2310	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4710	11.100	\$27.43
	Feb 18, 2025 11:07:32 AM	1511	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4710	10.600	\$26.19
	Feb 18, 2025 11:20:32 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	19.800	\$48.79
	Feb 18, 2025 1:41:22 PM	1514	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	13.100	\$32.28
	Feb 18, 2025 3:29:03 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	19.200	\$47.31
	Feb 17, 2025 10:45:58 AM	2310	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	6.800	\$18.65
	Feb 17, 2025 11:19:09 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	13.500	\$37.03
	Feb 17, 2025 12:28:07 PM	1514	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	14.000	\$38.40
	Feb 17, 2025 12:51:26 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	15.900	\$43.61
	Feb 17, 2025 12:59:56 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	28.800	\$79.00
	Feb 17, 2025 1:24:09 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	24.300	\$66.65
	Feb 17, 2025 2:28:01 PM	1513	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	14.100	\$38.68
	Feb 17, 2025 4:56:40 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	29.900	\$82.02
	Feb 17, 2025 5:06:09 PM	2310	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	10.800	\$29.62
	Feb 17, 2025 6:16:31 PM	1870	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.7430	18.500	\$50.75
	Feb 17, 2025 6:30:37 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	11.300	\$31.00
	Feb 17, 2025 7:13:44 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	16.400	\$44.99
	Feb 17, 2025 7:29:44 PM	1867	DOBBINS, GREG	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	24.700	\$67.75
	Feb 17, 2025 7:31:08 PM	1707	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	31.700	\$86.95
	Feb 17, 2025 7:31:34 PM	2404	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7560	35.000	\$96.46
	Feb 17, 2025 7:37:34 PM	1705	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	30.100	\$82.56
	Feb 17, 2025 8:22:30 PM	1709	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	34.500	\$94.63
	Feb 17, 2025 6:07:24 PM	1708	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	12.700	\$34.84
	Feb 18, 2025 10:16:59 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4710	7.500	\$18.53

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 12:19:23 PM	1517	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	19.300	\$47.56
	Feb 19, 2025 12:37:52 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	22.000	\$54.21
	Feb 19, 2025 11:05:29 AM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	12.700	\$31.29
	Feb 19, 2025 11:20:21 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	13.800	\$34.00
	Feb 24, 2025 10:34:53 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	10.800	\$26.47
	Feb 19, 2025 4:38:02 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	15.900	\$39.18
	Feb 19, 2025 3:34:45 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	20.000	\$49.28
	Feb 19, 2025 5:26:49 PM	2308	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	14.900	\$36.71
	Feb 19, 2025 5:29:05 PM	1517	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	3.200	\$7.88
	Feb 19, 2025 5:35:47 PM	1517	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	23.800	\$58.64
	Feb 19, 2025 5:45:02 PM	2302	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3640	22.300	\$52.72
	Feb 19, 2025 5:57:30 PM	1870	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	20.200	\$49.77
	Feb 19, 2025 6:25:19 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	12.000	\$29.57
	Feb 19, 2025 6:37:08 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	17.100	\$42.13
	Feb 19, 2025 6:34:30 PM	1314	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	20.000	\$49.28
	Feb 19, 2025 7:25:26 PM	1705	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	26.300	\$64.80
	Feb 19, 2025 7:28:57 PM	2404	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8340	29.000	\$82.19
	Feb 19, 2025 7:42:56 PM	1707	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.4640	32.000	\$78.85
	Feb 19, 2025 7:46:05 PM	1709	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	32.800	\$80.82
	Feb 19, 2025 7:49:26 PM	1871	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	31.600	\$77.86
	Feb 24, 2025 2:15:34 PM	1507	SANCHEZ, ELISEO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	15.000	\$36.68
	Feb 24, 2025 1:32:51 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	15.000	\$36.68
	Feb 24, 2025 1:12:08 PM	1314	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	14.000	\$34.23
	Feb 24, 2025 10:53:38 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	10.000	\$24.51
	Feb 24, 2025 11:01:37 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4510	11.900	\$29.17
	Feb 24, 2025 4:33:32 PM	1303	CHAVARIA, CHRIS	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4450	34.800	\$85.09
	Feb 20, 2025 7:57:05 AM	1303	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	22.900	\$56.43
	Feb 20, 2025 10:13:47 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	9.000	\$22.18
	Feb 20, 2025 10:49:00 AM	1301	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	11.600	\$28.58

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 12:50:06 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.4640	10.500	\$25.87
	Feb 10, 2025 10:49:40 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	10.600	\$25.20
	Feb 10, 2025 1:14:30 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.100	\$50.15
	Feb 10, 2025 9:46:26 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	11.000	\$26.15
	Feb 10, 2025 1:33:50 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	9.500	\$22.58
	Feb 10, 2025 1:29:13 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	16.000	\$38.03
	Feb 10, 2025 6:10:58 PM	1514	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.600	\$51.34
	Feb 10, 2025 6:19:57 PM	1870	SEVIER, BRENDA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	20.000	\$47.54
	Feb 10, 2025 7:27:33 PM	2405	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	43.000	\$117.91
	Feb 10, 2025 7:27:54 PM	1871	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3770	25.500	\$60.61
	Feb 10, 2025 7:32:47 PM	1867	HERRERA, ELIJAH	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	28.400	\$67.51
	Feb 10, 2025 7:38:10 PM	1707	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	30.100	\$71.55
	Feb 10, 2025 7:43:29 PM	1705	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	33.100	\$78.68
	Feb 10, 2025 7:00:04 PM	2308	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	9.800	\$23.29
	Feb 10, 2025 7:01:48 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	20.700	\$49.20
	Feb 10, 2025 7:05:18 PM	1303	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	25.600	\$60.85
	Feb 7, 2025 5:43:15 PM	1514	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	13.000	\$30.90
	Feb 7, 2025 5:56:34 PM	1870	MORALES, JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	22.100	\$52.53
	Feb 7, 2025 6:09:11 PM	1301	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	15.700	\$37.32
	Feb 7, 2025 6:09:33 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	13.000	\$30.90
	Feb 7, 2025 5:33:21 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	12.500	\$29.71
	Feb 7, 2025 6:53:55 PM	1708	LUCAS, JOZEF	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	15.600	\$37.08
	Feb 7, 2025 7:29:30 PM	1701	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	32.100	\$76.30
	Feb 7, 2025 7:32:15 PM	1871	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	34.800	\$82.72
	Feb 7, 2025 7:33:35 PM	1868	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	19.200	\$45.64
	Feb 7, 2025 7:37:59 PM	2404	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	33.100	\$90.76
	Feb 7, 2025 7:48:45 PM	1709	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	28.800	\$68.46
	Feb 8, 2025 12:58:36 AM	1867	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	32.500	\$77.25
	Feb 8, 2025 11:25:24 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	10.100	\$24.01

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 11:59:19 PM	1501	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3770	12.200	\$29.00
	Feb 8, 2025 12:52:12 PM	2307	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.8420	17.500	\$49.74
	Feb 8, 2025 4:05:47 PM	2309	GUEVARA, BRAY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	11.000	\$26.15
	Feb 8, 2025 3:04:49 PM	1308	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	16.300	\$38.75
	Feb 8, 2025 5:54:43 PM	1870	BOONE, JERONIMO	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	21.600	\$51.34
	Feb 8, 2025 6:18:23 PM	2310	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	10.100	\$24.01
	Feb 8, 2025 6:27:22 PM	1709	WEBSTER, WADE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	25.000	\$59.42
	Feb 8, 2025 6:43:53 PM	1707	RAMIREZ, RUDY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	30.300	\$72.02
	Feb 8, 2025 6:54:36 PM	1871	KITTRIDGE, RICHARD	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	33.500	\$79.63
	Feb 8, 2025 6:33:05 PM	2404	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	DL	City Facility	\$2.7420	32.300	\$88.57
	Feb 8, 2025 11:38:33 PM	1501	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3770	28.400	\$67.51
	Feb 9, 2025 12:47:28 AM	1867	FLORES, ROY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	18.100	\$43.02
	Feb 11, 2025 9:52:06 AM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	20.800	\$49.44
	Feb 11, 2025 10:27:24 AM	1505	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	12.900	\$30.66
	Feb 11, 2025 10:35:14 AM	2308	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	6.900	\$16.40
	Feb 11, 2025 6:47:41 AM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3770	13.400	\$31.85
	Feb 14, 2025 11:07:25 AM	2310	PILON, MARK	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	16.600	\$45.53
	Feb 14, 2025 12:54:02 PM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	15.000	\$41.14
	Feb 14, 2025 12:57:40 PM	1308	MACIEL, JOSE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	23.900	\$65.56
	Feb 14, 2025 2:35:18 PM	1309	ROGERS, CODY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	14.900	\$40.87
	Feb 14, 2025 5:09:42 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	14.000	\$38.40
	Feb 14, 2025 5:29:22 PM	1514	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.7430	11.700	\$32.09
	Feb 11, 2025 1:51:48 PM	2309	GALVAN, MARINA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	12.000	\$28.54
	Feb 11, 2025 11:51:27 AM	1512	HERNANDEZ, WALLY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	20.300	\$48.27
	Feb 11, 2025 3:00:03 PM	1870	HUFFMAN, MATTIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	12.200	\$29.01
	Feb 11, 2025 3:28:12 PM	1505	CRAVENS, KEVIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	13.500	\$32.10
	Feb 11, 2025 6:43:04 PM	1308	BECKENBACH, ALEXANDRIA	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	17.900	\$42.57
	Feb 11, 2025 6:50:36 PM	1511	LAWRENCE, BURNEY	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	12.300	\$29.25
	Feb 11, 2025 5:03:10 PM	1514	MORALES JR., JORGE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	18.000	\$42.80

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 5:21:18 PM	2310	ROAM, JUSTIN	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	8.000	\$19.02
	Feb 11, 2025 5:44:19 PM	1303	GARZA, JASMINE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.3780	30.400	\$72.29
<b>CONCHO VALLEY TRANSIT DIS Totals</b>				<b>425</b>			<b>\$1,046.6780</b>	<b>8,513.200</b>	<b>\$21,057.82</b>
<b>ENGINEERING SERVICES</b>									
	Feb 11, 2025 2:23:55 PM	22445	RUBEN, SALGADO	ENGINEERING SERVICES	UL	City Facility	\$2.2780	23.300	\$53.08
	Feb 10, 2025 2:11:14 PM	22698	HEREDIA, ROBERTO	ENGINEERING SERVICES	UL	City Facility	\$2.2770	14.300	\$32.56
	Feb 10, 2025 11:17:08 AM	22941	HOLGUIN, MARISSA	ENGINEERING SERVICES	UL	City Facility	\$2.2770	16.900	\$38.48
	Feb 24, 2025 2:21:07 PM	22445	RUBEN, SALGADO	ENGINEERING SERVICES	UL	City Facility	\$2.3450	23.500	\$55.11
	Feb 18, 2025 11:03:10 AM	23240	BALLI, ROBERT	ENGINEERING SERVICES	UL	San Angelo Airport	\$2.3710	12.100	\$28.69
	Feb 3, 2025 7:45:45 AM	22445	RUBEN, SALGADO	ENGINEERING SERVICES	UL	City Facility	\$2.2260	23.000	\$51.20
	Feb 7, 2025 9:58:58 AM	23240	BALLI, ROBERT	ENGINEERING SERVICES	UL	San Angelo Airport	\$2.2770	15.300	\$34.84
	Feb 26, 2025 9:58:09 AM	22941	HOLGUIN, MARISSA	ENGINEERING SERVICES	UL	City Facility	\$2.3520	20.100	\$47.28
	Feb 21, 2025 10:21:22 AM	22698	HEREDIA, ROBERTO	ENGINEERING SERVICES	UL	City Facility	\$2.3510	14.300	\$33.62
	Feb 20, 2025 2:37:51 PM	22689	COSENTINO, NICHOLAS	ENGINEERING SERVICES	UL	San Angelo Airport	\$2.3640	14.700	\$34.75
<b>ENGINEERING SERVICES Totals</b>				<b>10</b>			<b>\$23.1180</b>	<b>177.500</b>	<b>\$409.61</b>
<b>FACILITY MAINTENANCE</b>									
	Feb 20, 2025 2:26:51 PM	23292	LONG, JOHN	FACILITY MAINTENANCE	UL	City Facility	\$2.3640	16.100	\$38.06
	Feb 21, 2025 9:56:25 AM	22669	STANLEY, TIBBY	FACILITY MAINTENANCE	UL	City Facility	\$2.3510	10.200	\$23.98
	Feb 22, 2025 11:59:45 AM	7	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3510	10.400	\$24.45
	Feb 26, 2025 1:08:15 PM	23292	LONG, JOHN	FACILITY MAINTENANCE	UL	City Facility	\$2.3520	12.900	\$30.34
	Feb 27, 2025 4:42:24 PM	7	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3520	13.100	\$30.81
	Feb 13, 2025 7:43:44 AM	22669	STANLEY, TIBBY	FACILITY MAINTENANCE	UL	City Facility	\$2.2780	9.400	\$21.41
	Feb 6, 2025 11:31:17 AM	22669	STANLEY, TIBBY	FACILITY MAINTENANCE	UL	City Facility	\$2.2770	9.800	\$22.31
	Feb 6, 2025 2:10:20 PM	23292	LONG, JOHN	FACILITY MAINTENANCE	UL	City Facility	\$2.2770	16.800	\$38.25
	Feb 12, 2025 11:30:46 AM	23292	LONG, JOHN	FACILITY MAINTENANCE	UL	City Facility	\$2.2780	13.000	\$29.61
	Feb 19, 2025 3:14:43 PM	22729	MENDEZ, FERNANDO	FACILITY MAINTENANCE	UL	City Facility	\$2.3640	13.200	\$31.20
	Feb 10, 2025 3:00:35 PM	22729	MENDEZ, FERNANDO	FACILITY MAINTENANCE	UL	City Facility	\$2.2770	12.500	\$28.46
<b>FACILITY MAINTENANCE Totals</b>				<b>11</b>			<b>\$25.5210</b>	<b>137.400</b>	<b>\$318.88</b>

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
<b>FAIRMOUNT CEMETERY</b>									
	Feb 11, 2025 11:11:41 AM	29	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	DL	City Facility	\$2.7420	50.000	\$137.10
	Feb 11, 2025 11:19:16 AM	29	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	DL	City Facility	\$2.7420	11.100	\$30.44
	Feb 14, 2025 9:43:40 AM	22593	SANCHEZ, ADAM	FAIRMOUNT CEMETERY	UL	City Facility	\$2.6430	12.400	\$32.77
	Feb 11, 2025 11:07:32 AM	23200	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	UL	City Facility	\$2.2770	19.400	\$44.17
	Feb 14, 2025 8:47:49 AM	22939	MONSIVAIS, JORGE	FAIRMOUNT CEMETERY	UL	City Facility	\$2.6430	13.300	\$35.15
	Feb 20, 2025 10:23:41 AM	23200	CAMPBELL, JAMES	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3640	22.700	\$53.66
	Feb 4, 2025 11:04:57 AM	23200	CAMPBELL, JAMES	FAIRMOUNT CEMETERY	UL	City Facility	\$2.2260	18.300	\$40.74
	Feb 5, 2025 1:35:21 PM	22593	SANCHEZ, ADAM	FAIRMOUNT CEMETERY	UL	City Facility	\$2.2220	11.500	\$25.55
	Feb 5, 2025 2:49:24 PM	22939	CAMPBELL, JAMES	FAIRMOUNT CEMETERY	UL	City Facility	\$2.2220	12.900	\$28.66
	Feb 26, 2025 1:41:36 PM	22593	SANCHEZ, ADAM	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3520	9.700	\$22.81
	Feb 25, 2025 10:37:49 AM	23200	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3450	14.100	\$33.06
	Feb 21, 2025 2:30:04 PM	22593	SANCHEZ, ADAM	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3510	9.300	\$21.86
	Feb 21, 2025 11:06:05 AM	29	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3510	4.900	\$11.52
	Feb 21, 2025 10:40:35 AM	22939	RAMIREZ, MARVIN	FAIRMOUNT CEMETERY	UL	City Facility	\$2.3510	9.700	\$22.80
<b>FAIRMOUNT CEMETERY Totals</b>				<b>14</b>			<b>\$33.8310</b>	<b>219.300</b>	<b>\$540.29</b>
<b>FIRE</b>									
	Feb 20, 2025 2:44:18 PM	22460	MILLSAP, MICHAEL	FIRE	UL	San Angelo Airport	\$2.3640	13.800	\$32.62
	Feb 21, 2025 4:02:57 PM	23389	ANDREWS, SEAN	FIRE	DL	San Angelo Airport	\$2.8340	15.700	\$44.49
	Feb 25, 2025 8:51:05 AM	23389	HARRIS, CODY	FIRE	DL	San Angelo Airport	\$2.8340	12.100	\$34.29
	Feb 27, 2025 8:05:50 AM	22460	MILLSAP, MICHAEL	FIRE	UL	City Facility	\$2.3520	15.700	\$36.93
	Feb 27, 2025 8:15:29 AM	23437	FISHER, JOHNNY	FIRE	UL	City Facility	\$2.3520	28.700	\$67.50
	Feb 28, 2025 10:18:24 AM	22802	SANDERS, CORY	FIRE	UL	City Facility	\$2.3520	17.300	\$40.69
	Feb 5, 2025 10:11:40 AM	22898	FOSTER, MICHAEL	FIRE	DL	San Angelo Airport	\$2.7420	32.900	\$90.21
	Feb 13, 2025 10:18:47 AM	23419	STEVENS, WALTER	FIRE	UL	City Facility	\$2.2780	32.300	\$73.58
	Feb 6, 2025 11:49:47 AM	23308	WILKES, JOHN	FIRE	DL	City Facility	\$2.7420	15.000	\$41.13
	Feb 5, 2025 3:25:31 PM	22650	BUCHANAN, SCOTT	FIRE	UL	City Facility	\$2.2220	17.600	\$39.11
	Feb 14, 2025 9:22:08 PM	11987	BRADEN, CODY	FIRE	UL	San Angelo Airport	\$2.6430	11.200	\$29.60
	Feb 4, 2025 11:00:18 AM	22802	STEVENS, WALTER	FIRE	UL	City Facility	\$2.2260	25.300	\$56.32

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 3:09:36 PM	22460	MILLSAP, MICHAEL	FIRE	UL	San Angelo Airport	\$2.2260	22.100	\$49.19
	Feb 12, 2025 11:04:08 AM	23286	BRODY, PATRICK	FIRE	UL	City Facility	\$2.2780	27.100	\$61.73
	Feb 12, 2025 11:28:34 AM	11841	GARZA, MANUEL	FIRE	DL	City Facility	\$2.7560	46.300	\$127.60
	Feb 1, 2025 1:35:18 PM	23389	RUSSELL-JR, LARRY	FIRE	DL	San Angelo Airport	\$2.7290	20.700	\$56.49
	Feb 12, 2025 9:14:50 AM	23389	WALKER, JAMES	FIRE	DL	San Angelo Airport	\$2.7560	16.600	\$45.75
	Feb 12, 2025 8:28:00 AM	22802	STEVENS, WALTER	FIRE	UL	City Facility	\$2.2780	21.600	\$49.20
	Feb 3, 2025 8:32:36 AM	23308	LEE, KOLBY	FIRE	DL	City Facility	\$2.7290	26.800	\$73.14
	Feb 20, 2025 8:50:12 AM	11963	STEVENS, WALTER	FIRE	DL	City Facility	\$2.8340	31.600	\$89.55
	Feb 19, 2025 2:42:07 PM	23419	STEVENS, WALTER	FIRE	UL	City Facility	\$2.3640	27.400	\$64.77
	Feb 19, 2025 11:25:30 AM	22650	BUCHANAN, SCOTT	FIRE	UL	City Facility	\$2.3640	19.800	\$46.81
	Feb 14, 2025 10:47:25 AM	22460	MILLSAP, MICHAEL	FIRE	UL	City Facility	\$2.6430	14.700	\$38.85
	Feb 11, 2025 2:32:16 PM	23437	FISHER, JOHNNY	FIRE	UL	San Angelo Airport	\$2.2780	29.100	\$66.29
	Feb 24, 2025 9:22:25 AM	22108	GARZA, MANUEL	FIRE	UL	City Facility	\$2.3510	7.000	\$16.46
	Feb 24, 2025 9:26:07 AM	22773	STEVENS, WALTER	FIRE	DL	City Facility	\$2.8340	7.900	\$22.39
	Feb 10, 2025 10:46:11 AM	23308	SCAGGS, JESSE	FIRE	DL	City Facility	\$2.7420	14.800	\$40.58
	Feb 10, 2025 9:36:51 AM	22460	MILLSAP, MICHAEL	FIRE	UL	City Facility	\$2.2770	13.700	\$31.19
	Feb 7, 2025 2:55:20 PM	23308	MATTHEWS, BRADLEY	FIRE	DL	City Facility	\$2.7420	11.200	\$30.71
<b>FIRE Totals</b>				<b>29</b>			<b>\$73.1220</b>	<b>596.000</b>	<b>\$1,497.17</b>
<b>FIRE MARSHAL/PREVENTION</b>									
	Feb 10, 2025 7:33:55 AM	23347	CLEMONS, BILLY	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.2770	15.900	\$36.20
	Feb 10, 2025 4:24:49 PM	22383	SZYPLINSKI, MELISSA	ANIMAL SERVICES	UL	City Facility	\$2.2770	12.800	\$29.15
	Feb 19, 2025 10:15:51 AM	22795	PRICE, JOSEPH	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.3640	7.300	\$17.26
	Feb 18, 2025 1:05:34 PM	23178	MARTINSON, ERIC	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.3640	33.200	\$78.48
	Feb 18, 2025 7:35:06 AM	23347	CLEMONS, BILLY	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.6430	10.000	\$26.43
	Feb 12, 2025 11:48:10 AM	22795	PRICE, JOSEPH	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.2780	12.700	\$28.93

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 2:12:39 PM	22874	KENT, LESTER	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.2260	8.300	\$18.48
	Feb 3, 2025 3:10:33 PM	22383	SZYPLINSKI, MELISSA	ANIMAL SERVICES	UL	City Facility	\$2.2260	11.000	\$24.49
	Feb 7, 2025 9:28:26 AM	22790	TURNER, DESHA	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.2770	17.100	\$38.94
	Feb 14, 2025 7:37:00 AM	23347	CLEMONS, BILLY	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 28, 2025 10:48:16 AM	22795	PRICE, JOSEPH	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.3520	9.700	\$22.81
	Feb 28, 2025 8:02:01 AM	23178	MARTINSON, ERIC	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.3520	27.200	\$63.97
	Feb 27, 2025 1:03:08 PM	22383	SZYPLINSKI, MELISSA	ANIMAL SERVICES	UL	City Facility	\$2.3520	11.300	\$26.58
	Feb 26, 2025 7:35:53 AM	23347	CLEMONS, BILLY	FIRE MARSHAL/PREVENTION	UL	City Facility	\$2.3450	11.400	\$26.73
	Feb 20, 2025 3:04:08 PM	22383	SZYPLINSKI, MELISSA	ANIMAL SERVICES	UL	City Facility	\$2.3510	13.600	\$31.97
<b>FIRE MARSHAL/PREVENTION Totals</b>				<b>15</b>			<b>\$35.3270</b>	<b>209.000</b>	<b>\$490.24</b>
<b>FLEET SERVICES</b>									
	Feb 21, 2025 11:00:49 AM	23033	HERRERA, ROY	FLEET SERVICES	UL	City Facility	\$2.3510	27.300	\$64.18
	Feb 26, 2025 1:31:19 PM	23015	GULLEY, RON	FLEET SERVICES	UL	City Facility	\$2.3520	19.200	\$45.16
	Feb 26, 2025 12:52:37 PM	22754	CONLEY, KENNETH	FLEET SERVICES	UL	City Facility	\$2.3520	20.300	\$47.75
	Feb 25, 2025 11:05:41 AM	11930	ALLEY, JAMES	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3450	13.100	\$30.72
	Feb 7, 2025 9:09:40 AM	23015	GULLEY, RON	FLEET SERVICES	UL	City Facility	\$2.2770	19.800	\$45.08
	Feb 6, 2025 3:09:08 PM	22770	SEGURA, MIGUEL	CODE COMPLIANCE	DL	City Facility	\$2.5420	1.900	\$4.83
	Feb 5, 2025 4:09:46 PM	11751	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.7420	10.400	\$28.52
	Feb 3, 2025 4:03:53 PM	11751	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.7290	20.500	\$55.94
	Feb 4, 2025 4:35:01 PM	23343	KRAMER, RYAN	FLEET SERVICES	UL	City Facility	\$2.2260	12.100	\$26.93
	Feb 4, 2025 9:08:35 PM	23402	MONTGOMERY, STEPHEN	FIRE	UL	City Facility	\$2.2260	5.700	\$12.69
	Feb 5, 2025 7:21:21 AM	38	PEREZ, ERIC	FLEET SERVICES	DL	City Facility	\$2.7420	4.200	\$11.52
	Feb 5, 2025 7:40:14 AM	11751	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.7420	15.800	\$43.32
	Feb 5, 2025 7:58:58 AM	22770	LAMBERT, STEVEN	TRAFFIC OPERATIONS	DL	City Facility	\$2.5420	3.900	\$9.91
	Feb 20, 2025 9:44:03 AM	23272	PEREZ, ERIC	FLEET SERVICES	UL	City Facility	\$2.3640	15.100	\$35.70

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 2:54:56 PM	22754	WALDRON, ANDREW	FLEET SERVICES	UL	City Facility	\$2.3450	0.100	\$0.23
	Feb 10, 2025 11:50:16 AM	11930	VILLARREAL, ABEL	GIS	UL	City Facility	\$2.2770	11.400	\$25.96
	Feb 14, 2025 10:32:16 AM	23015	GULLEY, RON	FLEET SERVICES	UL	City Facility	\$2.6430	19.000	\$50.22
<b>FLEET SERVICES Totals</b>				<b>17</b>			<b>\$41.7970</b>	<b>219.800</b>	<b>\$538.66</b>
<b>FLEET SERVICES POOL</b>									
	Feb 11, 2025 1:50:25 PM	23434	PEREZ, ERIC	FLEET SERVICES	DL	San Angelo Airport	\$2.7560	50.000	\$137.80
	Feb 10, 2025 3:01:05 PM	11905	DICKSON, CHRIS	WATER BILLING	DL	City Facility	\$2.7420	8.600	\$23.58
	Feb 8, 2025 1:42:29 PM	22927	COVEY, AUSTIN	POLICE	UL	City Facility	\$2.2770	14.200	\$32.33
	Feb 20, 2025 11:03:10 AM	22307	SANCHEZ, JOSE	RIO CONCHO SPORTS COMPLEX	DL	City Facility	\$2.6340	6.200	\$16.33
	Feb 19, 2025 8:33:43 AM	22541	SMITH, CALEB	PARKS	DL	City Facility	\$2.8340	13.900	\$39.39
	Feb 26, 2025 1:38:00 PM	23434	SEWELL, JOHN	FLEET SERVICES	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 26, 2025 8:12:35 AM	23037	CAMPBELL, JASON	PARKS	UL	City Facility	\$2.3520	17.500	\$41.16
	Feb 21, 2025 2:25:01 PM	22307	SANCHEZ, JOSE	RIO CONCHO SPORTS COMPLEX	DL	City Facility	\$2.6340	5.800	\$15.28
	Feb 27, 2025 8:20:42 AM	22770	SEGURA, MIGUEL	CODE COMPLIANCE	DL	City Facility	\$2.6690	2.700	\$7.21
<b>FLEET SERVICES POOL Totals</b>				<b>9</b>			<b>\$23.7320</b>	<b>178.900</b>	<b>\$483.12</b>
<b>FORT CONCHO - MUSEUM</b>									
	Feb 25, 2025 8:29:14 AM	22724	SMITH, BAILY	FORT CONCHO - MUSEUM	UL	City Facility	\$2.3450	27.200	\$63.78
	Feb 25, 2025 8:32:47 AM	8	SMITH, BAILY	FORT CONCHO - MUSEUM	UL	City Facility	\$2.3450	15.400	\$36.11
	Feb 11, 2025 9:46:54 AM	8	SMITH, BAILY	FORT CONCHO - MUSEUM	UL	City Facility	\$2.2770	16.700	\$38.03
	Feb 5, 2025 2:42:38 PM	22724	SMITH, BAILY	FORT CONCHO - MUSEUM	UL	City Facility	\$2.2220	26.800	\$59.55
<b>FORT CONCHO - MUSEUM Totals</b>				<b>4</b>			<b>\$9.1890</b>	<b>86.100</b>	<b>\$197.47</b>
<b>GIS</b>									
	Feb 10, 2025 12:17:57 PM	11996	VILLARREAL, ABEL	GIS	UL	City Facility	\$2.2770	11.800	\$26.87
	Feb 19, 2025 9:10:56 AM	11996	VILLARREAL, ABEL	GIS	UL	City Facility	\$2.3640	11.700	\$27.66
	Feb 28, 2025 1:03:29 PM	11996	VILLARREAL, ABEL	GIS	UL	City Facility	\$2.3520	19.000	\$44.69
<b>GIS Totals</b>				<b>3</b>			<b>\$6.9930</b>	<b>42.500</b>	<b>\$99.22</b>
<b>LAKE &amp; PARK PATROL</b>									
	Feb 28, 2025 8:06:11 AM	23426	BOULIGNY, JOHN	POLICE	UL	City Facility	\$2.3520	14.200	\$33.40
	Feb 26, 2025 9:37:06 PM	22588	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.3520	25.500	\$59.98

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 28, 2025 8:53:02 PM	22511	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.3520	21.900	\$51.51
	Feb 22, 2025 10:20:09 PM	23426	BOULIGNY, JOHN	POLICE	UL	City Facility	\$2.3510	15.000	\$35.26
	Feb 25, 2025 4:12:55 PM	22511	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.3450	16.000	\$37.52
	Feb 25, 2025 2:05:47 PM	22857	HERNANDEZ, JASON	POLICE	UL	City Facility	\$2.3450	14.400	\$33.77
	Feb 26, 2025 2:22:24 PM	23239	BEAL, STERLING	POLICE	UL	San Angelo Airport	\$2.3520	18.100	\$42.57
	Feb 22, 2025 12:28:34 PM	23400	BERRIE, DAVID	POLICE	UL	City Facility	\$2.3510	21.000	\$49.37
	Feb 20, 2025 3:57:45 PM	22588	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.3510	26.100	\$61.36
	Feb 18, 2025 11:04:41 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.3640	10.600	\$25.06
	Feb 17, 2025 10:17:21 PM	23239	BEAL, STERLING	POLICE	UL	San Angelo Airport	\$2.6430	21.300	\$56.30
	Feb 17, 2025 10:49:46 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.6430	9.500	\$25.11
	Feb 16, 2025 10:40:25 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.6430	10.400	\$27.49
	Feb 10, 2025 3:29:32 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2770	15.500	\$35.29
	Feb 10, 2025 3:38:38 PM	23426	BOULIGNY, JOHN	POLICE	UL	City Facility	\$2.2770	18.300	\$41.67
	Feb 8, 2025 11:43:23 AM	23400	BERRIE, DAVID	POLICE	UL	City Facility	\$2.2770	18.800	\$42.81
	Feb 11, 2025 7:01:58 PM	23239	BEAL, STERLING	POLICE	UL	San Angelo Airport	\$2.2780	21.400	\$48.75
	Feb 23, 2025 8:26:17 PM	22857	HERNANDEZ, JASON	POLICE	UL	City Facility	\$2.3510	15.400	\$36.21
	Feb 23, 2025 11:27:26 PM	23239	BEAL, STERLING	POLICE	UL	City Facility	\$2.3510	20.100	\$47.26
	Feb 5, 2025 2:29:07 PM	23239	BEAL, STERLING	POLICE	UL	San Angelo Airport	\$2.2220	21.900	\$48.66
	Feb 13, 2025 12:36:43 PM	23400	BERRIE, DAVID	POLICE	UL	City Facility	\$2.2780	19.400	\$44.19
	Feb 5, 2025 3:23:04 PM	22511	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.2220	11.900	\$26.44
	Feb 5, 2025 7:18:56 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2220	8.800	\$19.55
	Feb 14, 2025 11:23:53 PM	22588	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.6430	22.600	\$59.73
	Feb 15, 2025 9:08:18 PM	23400	BERRIE, DAVID	POLICE	UL	San Angelo Airport	\$2.6430	21.300	\$56.30
	Feb 14, 2025 8:14:08 AM	23426	BOULIGNY, JOHN	POLICE	UL	San Angelo Airport	\$2.6430	14.700	\$38.85
	Feb 4, 2025 8:01:40 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2260	12.200	\$27.16
	Feb 3, 2025 8:20:46 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2260	12.400	\$27.60
	Feb 1, 2025 4:35:50 PM	22511	HAMILTON, GARRY	POLICE	UL	San Angelo Airport	\$2.2260	5.500	\$12.24
	Feb 11, 2025 9:25:04 PM	22588	HAMILTON, GARRY	POLICE	UL	City Facility	\$2.2780	25.800	\$58.77
	Feb 11, 2025 8:26:08 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2780	12.400	\$28.25

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 2, 2025 4:13:51 PM	22857	HERNANDEZ, JASON	POLICE	UL	San Angelo Airport	\$2.2260	14.600	\$32.50
	Feb 2, 2025 4:43:40 PM	23239	BEAL, STERLING	POLICE	UL	San Angelo Airport	\$2.2260	21.200	\$47.19
<b>LAKE &amp; PARK PATROL Totals</b>				<b>33</b>			<b>\$77.8140</b>	<b>558.200</b>	<b>\$1,318.12</b>
<b>LANDFILL</b>									
	Feb 7, 2025 10:48:50 AM	23296	MASCORRO, ADOLPH	LANDFILL	UL	San Angelo Airport	\$2.2770	29.300	\$66.72
	Feb 11, 2025 3:07:50 PM	22942	MENDEZ, CYNRIC	STREET & BRIDGE	UL	City Facility	\$2.2780	15.700	\$35.76
	Feb 18, 2025 2:12:02 PM	23296	MASCORRO, ADOLPH	LANDFILL	UL	City Facility	\$2.3640	27.100	\$64.06
	Feb 26, 2025 9:02:10 AM	23296	MASCORRO, ADOLPH	LANDFILL	UL	City Facility	\$2.3520	25.900	\$60.92
	Feb 27, 2025 3:22:23 PM	22942	MENDEZ, CYNRIC	STREET & BRIDGE	UL	City Facility	\$2.3520	16.000	\$37.63
<b>LANDFILL Totals</b>				<b>5</b>			<b>\$11.6230</b>	<b>114.000</b>	<b>\$265.09</b>
<b>MUNICIPAL COURT</b>									
	Feb 27, 2025 3:38:14 PM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	City Facility	\$2.3520	13.100	\$30.81
	Feb 27, 2025 10:28:53 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.3520	10.200	\$23.99
	Feb 28, 2025 8:32:55 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.3520	14.600	\$34.34
	Feb 28, 2025 12:53:04 PM	22893	GONZALES, JOHN	MUNICIPAL COURT	UL	City Facility	\$2.3520	9.700	\$22.81
	Feb 26, 2025 1:49:27 PM	22518	RICH, RAY	MUNICIPAL COURT	UL	City Facility	\$2.3520	22.900	\$53.86
	Feb 26, 2025 12:16:55 PM	1	HOGAN, SLADE	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3520	16.000	\$37.63
	Feb 25, 2025 9:18:39 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.3450	8.200	\$19.23
	Feb 25, 2025 10:50:03 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.3450	11.400	\$26.73
	Feb 21, 2025 10:03:02 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	San Angelo Airport	\$2.3510	13.000	\$30.56
	Feb 21, 2025 8:20:28 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.3510	14.100	\$33.15
	Feb 18, 2025 12:06:40 PM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.3640	12.500	\$29.55
	Feb 17, 2025 1:17:05 PM	1	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.6430	3.300	\$8.72
	Feb 24, 2025 10:15:30 AM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	City Facility	\$2.3510	18.100	\$42.55
	Feb 19, 2025 10:54:14 AM	22893	GONZALES, JOHN	MUNICIPAL COURT	UL	City Facility	\$2.3640	15.600	\$36.88
	Feb 19, 2025 2:59:14 PM	22653	RICH, RAY	MUNICIPAL COURT	UL	City Facility	\$2.3640	22.500	\$53.19
	Feb 24, 2025 8:18:50 AM	22653	RICH, RAY	MUNICIPAL COURT	UL	City Facility	\$2.3510	19.400	\$45.61
	Feb 14, 2025 8:25:12 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.6430	13.000	\$34.36
	Feb 14, 2025 8:48:07 AM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	San Angelo Airport	\$2.6430	11.000	\$29.07

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 8:37:48 AM	22653	RICH, RAY	MUNICIPAL COURT	UL	City Facility	\$2.2770	21.500	\$48.96
	Feb 14, 2025 10:44:29 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.6430	8.200	\$21.67
	Feb 11, 2025 11:12:47 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.2770	15.500	\$35.29
	Feb 11, 2025 5:31:41 AM	1	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.2770	7.300	\$16.62
	Feb 10, 2025 10:47:54 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.2770	7.200	\$16.39
	Feb 7, 2025 9:46:15 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2770	13.600	\$30.97
	Feb 7, 2025 7:38:02 AM	22893	GONZALES, JOHN	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2770	13.700	\$31.19
	Feb 7, 2025 8:19:43 AM	1	MORENO, ADOLFO	SAISD - GROUNDS	UL	City Facility	\$2.2770	25.300	\$57.61
	Feb 6, 2025 2:14:22 PM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2770	15.000	\$34.16
	Feb 13, 2025 11:21:30 AM	22653	RICH, RAY	MUNICIPAL COURT	UL	City Facility	\$2.2780	20.200	\$46.02
	Feb 5, 2025 11:56:30 AM	22653	RICH, RAY	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2220	18.200	\$40.44
	Feb 12, 2025 3:01:26 PM	1	CARD19, FUEL	SAISD - REGION XV	UL	City Facility	\$2.2780	2.900	\$6.61
	Feb 12, 2025 8:34:45 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 12, 2025 9:13:43 AM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2780	17.900	\$40.78
	Feb 3, 2025 9:21:38 AM	23381	MIEARS, BRYAN	MUNICIPAL COURT	UL	San Angelo Airport	\$2.2260	15.000	\$33.39
	Feb 4, 2025 2:34:38 PM	1	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.2260	10.000	\$22.26
	Feb 4, 2025 10:48:09 AM	22552	SCITERN, CLINTON	MUNICIPAL COURT	UL	City Facility	\$2.2260	9.100	\$20.26
	Feb 4, 2025 11:54:45 AM	22787	POLANCO, RAUL	MUNICIPAL COURT	UL	City Facility	\$2.2260	12.600	\$28.05
<b>MUNICIPAL COURT Totals</b>				<b>36</b>			<b>\$84.3240</b>	<b>493.100</b>	<b>\$1,149.45</b>
<b>NUTRITION</b>									
	Feb 21, 2025 8:11:36 AM	22068	MUNIZ, ABEL	NUTRITION	UL	City Facility	\$2.3510	24.400	\$57.36
<b>NUTRITION Totals</b>				<b>1</b>			<b>\$2.3510</b>	<b>24.400</b>	<b>\$57.36</b>
<b>OPERATIONS</b>									
	Feb 27, 2025 4:26:56 PM	23241	MILLER, JEREMY	LANDFILL	UL	San Angelo Airport	\$2.3520	31.400	\$73.85
	Feb 19, 2025 10:20:50 AM	23414	KELTON, SHANE	OPERATIONS	UL	City Facility	\$2.3640	17.300	\$40.90
<b>OPERATIONS Totals</b>				<b>2</b>			<b>\$4.7160</b>	<b>48.700</b>	<b>\$114.75</b>
<b>PARKS</b>									
	Feb 19, 2025 10:59:50 AM	22725	MARTINEZ, MIKE	PARKS	UL	City Facility	\$2.3640	20.000	\$47.28
	Feb 19, 2025 11:54:43 AM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.6340	17.600	\$46.36

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 2:40:42 PM	22737	DAVID, CHRISTINE	PARKS	UL	City Facility	\$2.3640	17.700	\$41.84
	Feb 19, 2025 2:25:36 PM	22550	CENTENO, ETHAN	PARKS	UL	City Facility	\$2.3640	12.800	\$30.26
	Feb 24, 2025 1:02:32 PM	22794	ZUNIGA, CARLOS	PARKS	UL	City Facility	\$2.3450	11.700	\$27.44
	Feb 24, 2025 3:06:37 PM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.6340	19.700	\$51.89
	Feb 20, 2025 9:50:56 AM	23341	HINOJASA, MARCUS	PARKS	UL	City Facility	\$2.3640	15.900	\$37.59
	Feb 20, 2025 12:23:20 PM	22733	AGUILAR, DANIEL	PARKS	UL	City Facility	\$2.3640	17.000	\$40.19
	Feb 20, 2025 9:24:54 AM	23042	HOWLAND, MICHAEL	PARKS	UL	City Facility	\$2.3640	25.800	\$60.99
	Feb 20, 2025 7:59:15 AM	22722	HALE, WILLIAM	PARKS	UL	City Facility	\$2.3640	16.300	\$38.53
	Feb 18, 2025 10:19:06 AM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.3710	5.700	\$13.51
	Feb 18, 2025 8:07:54 AM	23358	MARTINEZ, MIKE	PARKS	UL	City Facility	\$2.4430	8.800	\$21.50
	Feb 18, 2025 8:11:32 AM	23142	HOWLAND, MICHAEL	PARKS	DL	City Facility	\$2.5560	9.700	\$24.79
	Feb 19, 2025 8:34:14 AM	22933	SMITH, CALEB	PARKS	UL	City Facility	\$2.3640	22.400	\$52.95
	Feb 19, 2025 9:31:52 AM	22682	CALDER, BRENT	PARKS	UL	City Facility	\$2.3640	25.300	\$59.81
	Feb 19, 2025 7:45:37 AM	22396	HERNANDEZ, DANIEL	PARKS	UL	City Facility	\$2.3640	16.300	\$38.53
	Feb 10, 2025 7:53:14 AM	22725	GUEVARA, VICTOR	PARKS	UL	City Facility	\$2.2770	20.200	\$46.00
	Feb 10, 2025 8:04:28 AM	22706	JUARBE, ORLANDO	PARKS	UL	City Facility	\$2.2770	18.900	\$43.04
	Feb 10, 2025 8:53:10 AM	22395	SMART, MARCUS	PARKS	UL	City Facility	\$2.2770	17.200	\$39.16
	Feb 10, 2025 9:31:03 AM	23403	ALBARADO, STEPHEN	PARKS	UL	City Facility	\$2.2770	30.800	\$70.13
	Feb 10, 2025 3:20:59 PM	23158	CAMPBELL, JASON	PARKS	UL	City Facility	\$2.2770	21.300	\$48.50
	Feb 10, 2025 3:07:55 PM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.5420	16.000	\$40.67
	Feb 7, 2025 1:23:49 PM	22794	ZUNIGA, CARLOS	PARKS	UL	City Facility	\$2.2770	24.000	\$54.65
	Feb 14, 2025 2:43:54 PM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.5560	19.400	\$49.59
	Feb 14, 2025 11:35:35 AM	22881	PICON, LARRY	PARKS	UL	City Facility	\$2.6430	30.000	\$79.29
	Feb 11, 2025 9:01:33 AM	22310	ZUNIGA, CARLOS	PARKS	UL	City Facility	\$2.2770	22.100	\$50.32
	Feb 11, 2025 9:17:37 AM	23051	PEDROZA, MARTIN	PARKS	UL	City Facility	\$2.2770	29.500	\$67.17
	Feb 14, 2025 9:23:14 AM	22651	HOWLAND, MICHAEL	PARKS	DL	City Facility	\$2.5560	6.200	\$15.85
	Feb 14, 2025 9:25:00 AM	22913	HALE, WILLIAM	PARKS	UL	City Facility	\$2.4430	6.300	\$15.39
	Feb 11, 2025 10:16:47 AM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.2770	10.100	\$23.00
	Feb 24, 2025 8:06:04 AM	23301	MEDRANO, DIEGO	PARKS	UL	City Facility	\$2.3510	22.600	\$53.13

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 8:16:35 AM	23142	HOWLAND, MICHAEL	PARKS	DL	City Facility	\$2.6340	15.700	\$41.35
	Feb 24, 2025 8:17:50 AM	22395	SMART, MARCUS	PARKS	UL	City Facility	\$2.3510	19.000	\$44.67
	Feb 23, 2025 10:31:07 AM	22550	HALFMANN, JUSTIN	PARKS	UL	City Facility	\$2.3510	12.500	\$29.39
	Feb 4, 2025 12:48:27 PM	22682	CALDER, BRENT	PARKS	UL	City Facility	\$2.2260	27.700	\$61.66
	Feb 4, 2025 1:15:17 PM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.2260	11.100	\$24.71
	Feb 4, 2025 1:28:41 PM	23340	GONZALEZ, ELISANDRO	PARKS	UL	City Facility	\$2.2260	19.400	\$43.18
	Feb 5, 2025 7:09:20 AM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.5420	21.000	\$53.38
	Feb 3, 2025 10:04:34 AM	23279	SAMANIGEO, ANTHONY	PARKS	UL	City Facility	\$2.2260	33.400	\$74.35
	Feb 4, 2025 8:27:44 AM	22706	JUARBE, ORLANDO	PARKS	UL	City Facility	\$2.2260	19.900	\$44.30
	Feb 4, 2025 7:29:22 AM	22550	CENTENO, ETHAN	PARKS	UL	City Facility	\$2.2260	17.100	\$38.06
	Feb 4, 2025 8:29:58 AM	22791	BLAYLOCK, MICHAEL	PARKS	UL	City Facility	\$2.2260	22.400	\$49.86
	Feb 4, 2025 8:48:20 AM	23046	HARRIS, TONY	PARKS	UL	City Facility	\$2.2260	28.700	\$63.89
	Feb 4, 2025 10:14:53 AM	23051	PEDROZA, MARTIN	PARKS	UL	San Angelo Airport	\$2.2260	6.500	\$14.47
	Feb 12, 2025 8:23:04 AM	22682	CALDER, BRENT	PARKS	UL	City Facility	\$2.2780	26.100	\$59.46
	Feb 12, 2025 9:02:34 AM	23235	ALBARADO, STEPHEN	PARKS	UL	City Facility	\$2.2780	17.400	\$39.64
	Feb 12, 2025 8:12:48 AM	23301	CANTU, ANDREW	PARKS	UL	City Facility	\$2.2780	24.900	\$56.72
	Feb 1, 2025 9:55:03 AM	22551	SMITH, CALEB	PARKS	UL	City Facility	\$2.2260	19.800	\$44.07
	Feb 3, 2025 8:43:41 AM	23142	MARTINEZ, MIKE	PARKS	DL	City Facility	\$2.5290	11.100	\$28.07
	Feb 5, 2025 1:22:57 PM	22733	AGUILAR, DANIEL	PARKS	UL	City Facility	\$2.2220	16.900	\$37.55
	Feb 5, 2025 10:03:56 AM	23021	HALE, WILLIAM	PARKS	DL	City Facility	\$2.5420	11.200	\$28.47
	Feb 13, 2025 1:45:24 PM	22551	CENTENO, ETHAN	PARKS	UL	City Facility	\$2.2780	16.400	\$37.36
	Feb 13, 2025 10:45:43 AM	22396	HERNANDEZ, DANIEL	PARKS	UL	City Facility	\$2.2780	15.100	\$34.40
	Feb 13, 2025 8:12:20 AM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.5560	16.100	\$41.15
	Feb 13, 2025 7:51:59 AM	22791	BLAYLOCK, MICHAEL	PARKS	UL	City Facility	\$2.2780	24.200	\$55.13
	Feb 13, 2025 8:22:11 AM	22722	HALFMANN, JUSTIN	PARKS	UL	City Facility	\$2.2780	17.500	\$39.86
	Feb 13, 2025 8:21:42 AM	22309	PUENTES, ROBERT	PARKS	UL	City Facility	\$2.2780	33.700	\$76.77
	Feb 13, 2025 8:22:42 AM	22744	GUEVARA, VICTOR	PARKS	DL	City Facility	\$2.7560	19.300	\$53.19
	Feb 13, 2025 8:06:06 AM	23279	SAMANIGEO, ANTHONY	PARKS	UL	City Facility	\$2.2780	30.700	\$69.93
	Feb 6, 2025 8:06:35 AM	22933	SMITH, CALEB	PARKS	UL	City Facility	\$2.2770	18.300	\$41.67

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 9:29:54 AM	22737	DAVID, CHRISTINE	PARKS	UL	City Facility	\$2.2770	17.600	\$40.08
	Feb 7, 2025 7:29:30 AM	23150	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.5420	20.100	\$51.09
	Feb 7, 2025 9:19:34 AM	22396	HERNANDEZ, DANIEL	PARKS	UL	City Facility	\$2.2770	17.600	\$40.08
	Feb 7, 2025 8:27:39 AM	22722	HALE, WILLIAM	PARKS	UL	City Facility	\$2.2770	20.800	\$47.36
	Feb 7, 2025 10:19:14 AM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.2770	7.200	\$16.39
	Feb 14, 2025 8:14:59 AM	22706	JUARBE, ORLANDO	PARKS	UL	City Facility	\$2.6430	12.200	\$32.24
	Feb 14, 2025 8:20:56 AM	23348	ALVARADO, JESUS	PARKS	UL	City Facility	\$2.6430	16.900	\$44.67
	Feb 7, 2025 7:25:48 AM	23150	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.5420	0.200	\$0.51
	Feb 27, 2025 1:42:49 PM	23358	FRANCO, ELIDIO	PARKS	UL	City Facility	\$2.1520	13.300	\$28.62
	Feb 27, 2025 7:16:51 AM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.3520	9.400	\$22.11
	Feb 27, 2025 8:00:16 AM	23320	MARTINEZ, MIKE	PARKS	DL	City Facility	\$2.6690	4.300	\$11.48
	Feb 27, 2025 7:51:53 AM	23051	SCOTT, RICHARD	PARKS	UL	City Facility	\$2.3520	28.700	\$67.50
	Feb 28, 2025 1:19:48 PM	22396	HERNANDEZ, DANIEL	PARKS	UL	City Facility	\$2.3520	13.600	\$31.99
	Feb 28, 2025 1:36:25 PM	23279	SAMANIGEO, ANTHONY	PARKS	UL	City Facility	\$2.3520	27.700	\$65.15
	Feb 28, 2025 11:39:14 AM	23158	CAMPBELL, JASON	PARKS	UL	City Facility	\$2.3520	19.800	\$46.57
	Feb 28, 2025 2:23:27 PM	22733	AGUILAR, DANIEL	PARKS	UL	City Facility	\$2.3520	17.300	\$40.69
	Feb 28, 2025 2:34:33 PM	22774	HALFMANN, JUSTIN	PARKS	DL	City Facility	\$2.8690	21.900	\$62.83
	Feb 28, 2025 7:43:01 AM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.6690	10.500	\$28.02
	Feb 21, 2025 9:13:29 AM	22774	HALFMANN, JUSTIN	PARKS	DL	City Facility	\$2.8340	31.600	\$89.55
	Feb 21, 2025 8:49:04 AM	22310	ZUNIGA, CARLOS	PARKS	UL	City Facility	\$2.3510	19.800	\$46.55
	Feb 21, 2025 8:17:46 AM	22682	CALDER, BRENT	PARKS	UL	City Facility	\$2.3510	11.600	\$27.27
	Feb 21, 2025 10:30:15 AM	22793	DOSTER, THOMAS	PARKS	UL	City Facility	\$2.3510	9.600	\$22.57
	Feb 21, 2025 1:05:49 PM	23340	GONZALEZ, ELISANDRO	PARKS	UL	City Facility	\$2.3510	18.000	\$42.32
	Feb 20, 2025 3:07:38 PM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.6340	12.700	\$33.45
	Feb 21, 2025 2:01:25 PM	22706	JUARBE, ORLANDO	PARKS	UL	City Facility	\$2.3510	23.200	\$54.54
	Feb 21, 2025 2:44:56 PM	23235	HARRIS, TONY	PARKS	UL	City Facility	\$2.3510	6.800	\$15.99
	Feb 25, 2025 9:28:42 AM	23031	ZUNIGA, CARLOS	PARKS	DL	City Facility	\$2.6340	10.200	\$26.87
	Feb 25, 2025 7:52:39 AM	22923	CALDER, BRENT	PARKS	UL	City Facility	\$2.1450	3.200	\$6.86
	Feb 25, 2025 7:47:15 AM	22396	HERNANDEZ, DANIEL	PARKS	UL	City Facility	\$2.3450	20.300	\$47.60

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 25, 2025 1:34:33 PM	22744	GUEVARA, VICTOR	PARKS	DL	City Facility	\$2.8340	16.600	\$47.04
	Feb 26, 2025 1:18:20 PM	22940	HARRIS, TONY	PARKS	UL	City Facility	\$2.3520	17.900	\$42.10
	Feb 26, 2025 2:33:40 PM	22934	HOWLAND, MICHAEL	PARKS	UL	City Facility	\$2.3520	25.000	\$58.80
	Feb 26, 2025 2:20:54 PM	23235	CAMPBELL, JASON	PARKS	UL	City Facility	\$2.3520	16.900	\$39.75
	Feb 26, 2025 3:05:18 PM	23150	DILLON, REGAN	STREET & BRIDGE	DL	City Facility	\$2.6690	20.100	\$53.65
<b>PARKS Totals</b>				<b>94</b>			<b>\$224.9350</b>	<b>1,673.000</b>	<b>\$3,988.35</b>
<b>PERMITS/INSPECTIONS</b>									
	Feb 26, 2025 4:06:29 PM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.3520	11.400	\$26.81
	Feb 21, 2025 4:04:41 PM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.3510	10.200	\$23.98
	Feb 21, 2025 2:53:11 PM	23432	FLORES, PABLO	PERMITS/INSPECTIONS	UL	San Angelo Airport	\$2.3510	17.100	\$40.20
	Feb 21, 2025 10:34:12 AM	22731	BATTIN, HAIDEN	ENGINEERING SERVICES	UL	City Facility	\$2.3510	18.500	\$43.49
	Feb 28, 2025 10:22:51 AM	23112	PINKSTAFF, JASON	PERMITS/INSPECTIONS	UL	City Facility	\$2.3520	11.100	\$26.11
	Feb 28, 2025 9:45:55 AM	22731	BATTIN, HAIDEN	ENGINEERING SERVICES	UL	City Facility	\$2.3520	20.300	\$47.75
	Feb 27, 2025 3:37:02 PM	23251	NAVA, LARRY	PERMITS/INSPECTIONS	UL	City Facility	\$2.3520	10.100	\$23.76
	Feb 27, 2025 10:49:37 AM	23432	FLORES, PABLO	PERMITS/INSPECTIONS	UL	City Facility	\$2.3520	14.900	\$35.04
	Feb 6, 2025 2:04:47 PM	22796	STOVALL, MATTHEW	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	19.900	\$45.31
	Feb 13, 2025 11:54:17 AM	23112	PINKSTAFF, JASON	PERMITS/INSPECTIONS	UL	City Facility	\$2.2780	10.600	\$24.15
	Feb 5, 2025 10:23:56 AM	22731	BATTIN, HAIDEN	ENGINEERING SERVICES	UL	San Angelo Airport	\$2.2220	11.100	\$24.66
	Feb 5, 2025 10:22:13 AM	23432	FLORES, PABLO	PERMITS/INSPECTIONS	UL	City Facility	\$2.2220	15.300	\$34.00
	Feb 12, 2025 4:48:02 PM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.2780	12.000	\$27.34
	Feb 4, 2025 10:40:25 AM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.2260	10.800	\$24.04
	Feb 4, 2025 4:49:07 PM	23251	NAVA, LARRY	PERMITS/INSPECTIONS	UL	City Facility	\$2.2260	15.700	\$34.95
	Feb 4, 2025 2:16:53 PM	23112	PINKSTAFF, JASON	PERMITS/INSPECTIONS	UL	City Facility	\$2.2260	9.200	\$20.48
	Feb 14, 2025 4:36:40 PM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.6430	8.400	\$22.20
	Feb 7, 2025 2:57:08 PM	23372	PERRY, EDWIN	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	12.500	\$28.46
	Feb 7, 2025 2:14:35 PM	23251	NAVA, LARRY	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	11.000	\$25.05
	Feb 7, 2025 3:29:44 PM	23112	PINKSTAFF, JASON	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	12.200	\$27.78
	Feb 10, 2025 3:31:03 PM	23432	FLORES, PABLO	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	15.500	\$35.29
	Feb 10, 2025 11:11:27 AM	22731	BATTIN, HAIDEN	ENGINEERING SERVICES	UL	San Angelo Airport	\$2.2770	13.400	\$30.51

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 9:23:32 AM	23112	PINKSTAFF, JASON	PERMITS/INSPECTI ONS	UL	City Facility	\$2.3640	9.900	\$23.40
	Feb 18, 2025 9:48:09 AM	23251	NAVA, LARRY	PERMITS/INSPECTI ONS	UL	City Facility	\$2.3710	16.000	\$37.94
	Feb 18, 2025 9:53:16 AM	23432	FLORES, PABLO	PERMITS/INSPECTI ONS	UL	San Angelo Airport	\$2.3710	16.000	\$37.94
	Feb 24, 2025 3:41:21 PM	23112	PINKSTAFF, JASON	PERMITS/INSPECTI ONS	UL	City Facility	\$2.3450	10.900	\$25.56
	Feb 24, 2025 4:16:58 PM	23251	NAVA, LARRY	PERMITS/INSPECTI ONS	UL	City Facility	\$2.3450	13.600	\$31.89
	Feb 19, 2025 10:33:19 AM	23372	PERRY, EDWIN	PERMITS/INSPECTI ONS	UL	City Facility	\$2.3640	7.800	\$18.44
<b>PERMITS/INSPECTI ONS Totals</b>				<b>28</b>			<b>\$64.9560</b>	<b>365.400</b>	<b>\$846.53</b>
<b>POLICE</b>									
	Feb 19, 2025 11:33:12 AM	23134	JACOB, ANDERSON,	POLICE	UL	San Angelo Airport	\$2.3640	13.500	\$31.91
	Feb 19, 2025 12:25:42 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3640	10.000	\$23.64
	Feb 19, 2025 1:00:45 PM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.3640	8.900	\$21.04
	Feb 19, 2025 2:21:06 PM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.3640	21.800	\$51.54
	Feb 19, 2025 2:23:39 PM	23250	GARCIA, JONATHAN	POLICE	UL	City Facility	\$2.3640	15.400	\$36.41
	Feb 19, 2025 2:05:23 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3640	12.900	\$30.50
	Feb 19, 2025 2:39:58 PM	22963	DIAZ, STEVEN	POLICE	UL	San Angelo Airport	\$2.3640	13.200	\$31.20
	Feb 19, 2025 3:32:03 PM	23366	MATA, JOE	POLICE	UL	City Facility	\$2.3640	16.300	\$38.53
	Feb 19, 2025 3:24:40 PM	22711	HALBERT, GLENN	POLICE	UL	San Angelo Airport	\$2.3640	15.500	\$36.64
	Feb 19, 2025 4:03:35 PM	22519	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.3640	11.800	\$27.90
	Feb 19, 2025 4:20:21 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3640	13.000	\$30.73
	Feb 19, 2025 4:30:07 PM	22863	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3640	8.200	\$19.38
	Feb 19, 2025 4:29:23 PM	22889	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.3640	18.600	\$43.97
	Feb 19, 2025 7:06:34 PM	23097	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.3640	10.500	\$24.82
	Feb 19, 2025 6:13:15 PM	22989	GESCH, BRIAN	POLICE	UL	City Facility	\$2.3640	11.900	\$28.13
	Feb 19, 2025 6:21:49 PM	22971	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3640	7.400	\$17.49
	Feb 19, 2025 5:23:33 PM	22965	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3640	6.700	\$15.84
	Feb 19, 2025 4:50:38 PM	23083	CLAYTON, BRANDON	POLICE	UL	San Angelo Airport	\$2.3640	13.500	\$31.91
	Feb 19, 2025 5:02:09 PM	22862	SCERO, JARETT	POLICE	UL	City Facility	\$2.3640	8.500	\$20.09
	Feb 19, 2025 5:08:23 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.3640	15.000	\$35.46
	Feb 19, 2025 9:35:09 PM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.3640	12.300	\$29.08

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 9:57:38 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.3640	10.000	\$23.64
	Feb 20, 2025 2:34:19 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.3640	10.100	\$23.88
	Feb 20, 2025 2:36:40 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.3640	14.700	\$34.75
	Feb 20, 2025 3:44:02 AM	23230	LANE, KIETH	POLICE	UL	City Facility	\$2.3640	13.100	\$30.97
	Feb 20, 2025 5:19:29 AM	22554	JUAREZ, CAMERON	POLICE	UL	City Facility	\$2.3640	14.100	\$33.33
	Feb 20, 2025 5:38:42 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.3640	8.000	\$18.91
	Feb 20, 2025 6:15:39 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3640	8.000	\$18.91
	Feb 20, 2025 6:19:54 AM	23384	HARRELL, SHELDON	POLICE	UL	San Angelo Airport	\$2.3640	8.500	\$20.09
	Feb 20, 2025 7:25:02 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3640	11.900	\$28.13
	Feb 24, 2025 3:13:45 PM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.3450	6.700	\$15.71
	Feb 24, 2025 3:23:12 PM	23074	CASTRO, ADRIAN	POLICE	UL	City Facility	\$2.3450	10.200	\$23.92
	Feb 24, 2025 4:04:38 PM	22956	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.3450	13.400	\$31.42
	Feb 24, 2025 4:13:09 PM	22862	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.3450	7.000	\$16.42
	Feb 24, 2025 4:13:52 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.3450	8.300	\$19.46
	Feb 24, 2025 4:16:05 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.3450	7.900	\$18.53
	Feb 24, 2025 4:17:48 PM	22971	RADER, KYLE	POLICE	UL	City Facility	\$2.3450	10.400	\$24.39
	Feb 24, 2025 3:44:37 PM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.3450	9.400	\$22.04
	Feb 24, 2025 2:32:28 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.3450	20.600	\$48.31
	Feb 24, 2025 2:37:59 PM	23385	CANNADY, JEREMY	POLICE	UL	City Facility	\$2.3450	9.600	\$22.51
	Feb 24, 2025 2:47:49 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.3450	9.200	\$21.57
	Feb 24, 2025 12:57:32 PM	22502	DYE, KENNETH	POLICE	UL	City Facility	\$2.3450	21.500	\$50.42
	Feb 24, 2025 12:29:34 PM	22960	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.3450	8.800	\$20.64
	Feb 24, 2025 11:16:04 AM	23108	BIRD, LESLIE	POLICE	UL	City Facility	\$2.3510	9.700	\$22.80
	Feb 24, 2025 11:26:03 AM	23014	TABONE, ERIC	POLICE	UL	City Facility	\$2.3510	13.300	\$31.27
	Feb 24, 2025 11:26:26 AM	23085	VAUGHN, MATTHEW	POLICE	UL	City Facility	\$2.3510	13.200	\$31.03
	Feb 20, 2025 8:36:55 AM	23371	WILLIAMS, DANIEL	POLICE	UL	City Facility	\$2.3640	13.200	\$31.20
	Feb 24, 2025 4:34:20 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.3450	9.400	\$22.04
	Feb 20, 2025 8:11:20 AM	23069	HERNANDEZ, KELSEY	POLICE	UL	City Facility	\$2.3640	1.300	\$3.07
	Feb 20, 2025 12:32:14 PM	22331	RAMIREZ, RAMIRO	POLICE	UL	City Facility	\$2.3640	25.700	\$60.75

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 12:42:07 PM	23433	MEDLEY, MARK	POLICE	UL	City Facility	\$2.3640	11.100	\$26.24
	Feb 20, 2025 12:44:16 PM	22467	HERRERA, NAOMY	POLICE	UL	City Facility	\$2.3640	10.700	\$25.29
	Feb 20, 2025 12:47:12 PM	22784	MCANDREWS, EMORY	POLICE	UL	City Facility	\$2.3640	13.000	\$30.73
	Feb 20, 2025 9:57:00 AM	23099	REYES, MANUEL	POLICE	UL	City Facility	\$2.3640	8.400	\$19.86
	Feb 20, 2025 10:07:54 AM	23069	HERNANDEZ, KELSEY	POLICE	UL	San Angelo Airport	\$2.3640	12.600	\$29.79
	Feb 20, 2025 10:38:43 AM	23354	JACKSON, FRANK	POLICE	UL	San Angelo Airport	\$2.3640	14.700	\$34.75
	Feb 20, 2025 11:34:27 AM	23336	PUCCI, TIMOTHY	POLICE	UL	San Angelo Airport	\$2.3640	11.500	\$27.19
	Feb 20, 2025 11:58:28 AM	23014	TABONE, ERIC	POLICE	UL	City Facility	\$2.3640	13.800	\$32.62
	Feb 20, 2025 12:05:50 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3640	9.700	\$22.93
	Feb 18, 2025 8:17:16 AM	22350	GRIFFITH, TRAVIS	POLICE	UL	City Facility	\$2.6430	18.100	\$47.84
	Feb 18, 2025 8:16:53 AM	23373	CALVERT, MARK	POLICE	UL	City Facility	\$2.6430	15.300	\$40.44
	Feb 18, 2025 5:39:25 AM	22972	WEBBER, MICHAEL	POLICE	UL	San Angelo Airport	\$2.6430	9.800	\$25.90
	Feb 18, 2025 5:51:49 AM	22955	GONZALES, CHE	POLICE	UL	San Angelo Airport	\$2.6430	7.300	\$19.29
	Feb 18, 2025 5:51:03 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.6430	7.700	\$20.35
	Feb 18, 2025 5:53:08 AM	22956	Lemley, Robert	POLICE	UL	City Facility	\$2.6430	8.500	\$22.47
	Feb 18, 2025 5:57:48 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.6430	8.800	\$23.26
	Feb 17, 2025 6:39:34 PM	22748	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.6430	14.500	\$38.32
	Feb 17, 2025 7:00:14 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.6430	12.600	\$33.30
	Feb 17, 2025 7:04:36 PM	22861	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.6430	7.000	\$18.50
	Feb 18, 2025 7:40:28 AM	23382	MARTIN, DAKOTA	POLICE	UL	San Angelo Airport	\$2.6430	14.000	\$37.00
	Feb 17, 2025 6:12:46 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.6430	8.600	\$22.73
	Feb 17, 2025 6:15:52 PM	22750	FLORES, FRANCISCO	POLICE	UL	City Facility	\$2.6430	4.600	\$12.16
	Feb 18, 2025 6:28:37 AM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.6430	11.000	\$29.07
	Feb 18, 2025 7:21:42 AM	23133	HAWTHORNE, MATTHEW	POLICE	UL	San Angelo Airport	\$2.6430	12.800	\$33.83
	Feb 17, 2025 9:11:12 PM	23074	CASTRO, ADRIAN	POLICE	UL	City Facility	\$2.6430	13.900	\$36.74
	Feb 17, 2025 4:55:48 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.6430	10.000	\$26.43
	Feb 17, 2025 5:24:51 PM	22926	BARKER, CHARLES	POLICE	UL	City Facility	\$2.6430	7.400	\$19.56
	Feb 17, 2025 6:19:05 PM	22963	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.6430	8.100	\$21.41
	Feb 17, 2025 6:26:38 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.6430	13.400	\$35.42

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 17, 2025 6:29:03 PM	22867	LINDSEY, MYA	POLICE	UL	City Facility	\$2.6430	4.400	\$11.63
	Feb 17, 2025 2:01:21 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.6430	8.600	\$22.73
	Feb 17, 2025 2:05:21 PM	23385	CANNADY, JEREMY	POLICE	UL	City Facility	\$2.6430	11.300	\$29.87
	Feb 17, 2025 3:34:00 PM	22969	CAMPBELL, STEPHANIE	POLICE	UL	San Angelo Airport	\$2.6430	9.800	\$25.90
	Feb 17, 2025 3:57:12 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.6430	6.200	\$16.39
	Feb 17, 2025 4:21:45 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.6430	7.000	\$18.50
	Feb 17, 2025 4:29:26 PM	22786	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 17, 2025 4:29:45 PM	23131	TERRY, LANDON	POLICE	UL	City Facility	\$2.6430	6.900	\$18.24
	Feb 17, 2025 4:30:12 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 17, 2025 1:33:20 PM	23387	WARRICK, ERIC	POLICE	UL	City Facility	\$2.6430	13.800	\$36.47
	Feb 17, 2025 10:23:44 AM	22867	DIAZ, STEVEN	POLICE	UL	San Angelo Airport	\$2.6430	11.600	\$30.66
	Feb 17, 2025 1:13:12 PM	22502	DYE, KENNETH	POLICE	UL	San Angelo Airport	\$2.6430	22.800	\$60.26
	Feb 17, 2025 12:49:11 PM	22971	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.6430	7.900	\$20.88
	Feb 16, 2025 11:01:57 PM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.6430	10.400	\$27.49
	Feb 17, 2025 9:42:50 AM	23073	MARTINEZ, STEVEN	POLICE	UL	City Facility	\$2.6430	15.300	\$40.44
	Feb 17, 2025 6:01:10 AM	22955	GONZALES, CHE	POLICE	UL	City Facility	\$2.6430	7.300	\$19.29
	Feb 17, 2025 6:02:03 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 17, 2025 6:09:34 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.6430	8.400	\$22.20
	Feb 17, 2025 6:16:01 AM	22956	Lemley, Robert	POLICE	UL	City Facility	\$2.6430	8.900	\$23.52
	Feb 17, 2025 6:35:30 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.6430	7.000	\$18.50
	Feb 16, 2025 3:57:35 PM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.6430	8.800	\$23.26
	Feb 16, 2025 4:16:50 PM	23218	MONTANA, JONATHAN	POLICE	UL	San Angelo Airport	\$2.6430	10.600	\$28.02
	Feb 16, 2025 4:18:43 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.6430	9.700	\$25.64
	Feb 16, 2025 4:19:15 PM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.6430	8.400	\$22.20
	Feb 16, 2025 4:29:10 PM	23131	TERRY, LANDON	POLICE	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 16, 2025 4:29:50 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.6430	8.300	\$21.94
	Feb 16, 2025 4:31:54 PM	22867	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.6430	13.500	\$35.68
	Feb 16, 2025 5:30:35 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.6430	9.300	\$24.58
	Feb 16, 2025 5:52:34 PM	22786	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.6430	8.200	\$21.67

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 16, 2025 5:53:22 PM	22750	FLORES, FRANCISCO	POLICE	UL	City Facility	\$2.6430	13.100	\$34.62
	Feb 16, 2025 6:03:48 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	San Angelo Airport	\$2.6430	10.200	\$26.96
	Feb 16, 2025 6:05:30 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.6430	7.900	\$20.88
	Feb 16, 2025 6:08:13 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.6430	7.200	\$19.03
	Feb 16, 2025 6:15:13 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.6430	0.100	\$0.26
	Feb 16, 2025 6:17:23 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.6430	13.500	\$35.68
	Feb 16, 2025 6:32:56 PM	23225	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.6430	6.400	\$16.92
	Feb 16, 2025 6:33:17 PM	22963	LINDSEY, MYA	POLICE	UL	City Facility	\$2.6430	7.400	\$19.56
	Feb 19, 2025 7:52:20 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.3640	9.800	\$23.17
	Feb 19, 2025 6:54:17 AM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.3640	8.400	\$19.86
	Feb 18, 2025 6:26:05 PM	22970	LINDSEY, MYA	POLICE	UL	City Facility	\$2.3640	9.600	\$22.69
	Feb 18, 2025 6:26:47 PM	23324	FINCHER, JOEL	POLICE	UL	City Facility	\$2.3640	12.400	\$29.31
	Feb 18, 2025 6:26:53 PM	22861	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.3640	7.800	\$18.44
	Feb 19, 2025 5:41:34 AM	22970	LINDSEY, MYA	POLICE	UL	City Facility	\$2.3640	6.500	\$15.37
	Feb 19, 2025 5:57:40 AM	23101	CERCONE, RICHARD	POLICE	UL	City Facility	\$2.3640	6.600	\$15.60
	Feb 19, 2025 5:58:28 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.3640	7.600	\$17.97
	Feb 19, 2025 6:01:42 AM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.3640	11.900	\$28.13
	Feb 19, 2025 6:04:43 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.3640	6.200	\$14.66
	Feb 18, 2025 6:37:01 PM	22965	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.3640	3.800	\$8.98
	Feb 18, 2025 6:37:34 PM	22862	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.3640	13.100	\$30.97
	Feb 18, 2025 6:46:39 PM	23225	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.3640	8.400	\$19.86
	Feb 18, 2025 10:01:00 PM	23192	HARTNETT, MARCUS	POLICE	UL	City Facility	\$2.3640	11.200	\$26.48
	Feb 18, 2025 10:03:42 PM	22988	SPEARMAN, ROGER	POLICE	UL	City Facility	\$2.3640	12.200	\$28.84
	Feb 18, 2025 10:27:56 PM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.3640	12.300	\$29.08
	Feb 18, 2025 6:07:12 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	San Angelo Airport	\$2.3640	8.900	\$21.04
	Feb 18, 2025 5:58:31 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.3640	9.200	\$21.75
	Feb 18, 2025 5:08:44 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.3640	9.300	\$21.99
	Feb 18, 2025 5:13:37 PM	23218	MONTANA, JONATHAN	POLICE	UL	San Angelo Airport	\$2.3640	15.400	\$36.41
	Feb 18, 2025 4:56:50 PM	23099	RADER, KYLE	POLICE	UL	City Facility	\$2.3640	13.900	\$32.86

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 18, 2025 12:07:08 PM	22971	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.3640	7.900	\$18.68
	Feb 18, 2025 12:45:04 PM	23020	YOUNTS, JOSHUA	POLICE	UL	City Facility	\$2.3640	13.200	\$31.20
	Feb 18, 2025 11:33:16 AM	22676	LOSKI, KRYSTLE	POLICE	UL	City Facility	\$2.3640	14.100	\$33.33
	Feb 18, 2025 1:00:39 PM	23108	BIRD, LESLIE	POLICE	UL	City Facility	\$2.3640	6.900	\$16.31
	Feb 18, 2025 11:22:20 AM	23105	STUART, AMANDA	POLICE	UL	City Facility	\$2.3640	9.200	\$21.75
	Feb 18, 2025 10:24:13 AM	23438	BALDWIN, MATTHEW	POLICE	UL	City Facility	\$2.3710	5.600	\$13.28
	Feb 18, 2025 1:34:01 PM	23109	MCGEE, TRAVIS	POLICE	UL	City Facility	\$2.3640	15.500	\$36.64
	Feb 18, 2025 4:36:01 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.3640	8.900	\$21.04
	Feb 18, 2025 4:40:11 PM	22841	CORTINAS, LOUIS	POLICE	UL	City Facility	\$2.3640	14.100	\$33.33
	Feb 18, 2025 4:42:45 PM	22963	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.3640	12.600	\$29.79
	Feb 18, 2025 4:44:13 PM	22960	RADER, KYLE	POLICE	UL	City Facility	\$2.3640	7.200	\$17.02
	Feb 18, 2025 4:45:46 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.3640	8.300	\$19.62
	Feb 10, 2025 10:51:40 AM	22989	GESCH, BRIAN	POLICE	UL	City Facility	\$2.2770	16.200	\$36.89
	Feb 10, 2025 10:23:23 AM	23109	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.2770	16.700	\$38.03
	Feb 10, 2025 12:35:36 PM	22956	ROEBUCK, CLINTON	POLICE	UL	City Facility	\$2.2770	12.900	\$29.37
	Feb 10, 2025 12:38:24 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2770	9.800	\$22.31
	Feb 10, 2025 12:43:35 PM	22862	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.2770	8.200	\$18.67
	Feb 10, 2025 12:56:08 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.2770	7.400	\$16.85
	Feb 10, 2025 1:28:12 PM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.2770	13.500	\$30.74
	Feb 10, 2025 11:23:40 AM	23366	MATA, JOE	POLICE	UL	City Facility	\$2.2770	14.100	\$32.11
	Feb 10, 2025 10:04:12 AM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.2770	10.400	\$23.68
	Feb 10, 2025 8:18:46 AM	23373	CALVERT, MARK	POLICE	UL	City Facility	\$2.2770	16.000	\$36.43
	Feb 10, 2025 6:10:36 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2770	8.500	\$19.35
	Feb 10, 2025 6:13:58 AM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2770	11.200	\$25.50
	Feb 9, 2025 2:58:34 PM	23074	CASTRO, ADRIAN	POLICE	UL	City Facility	\$2.2770	10.100	\$23.00
	Feb 9, 2025 3:09:21 PM	22988	SPEARMAN, ROGER	POLICE	UL	San Angelo Airport	\$2.2770	19.300	\$43.95
	Feb 8, 2025 10:06:26 PM	23325	TUMLINSON, TANNER	POLICE	UL	San Angelo Airport	\$2.2770	16.700	\$38.03
	Feb 10, 2025 4:01:45 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.2770	14.700	\$33.47
	Feb 10, 2025 4:02:31 PM	23083	Lemley, Robert	POLICE	UL	City Facility	\$2.2770	9.400	\$21.40

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 10, 2025 4:07:30 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2770	7.200	\$16.39
	Feb 10, 2025 4:20:24 PM	23294	TABONE, ERIC	POLICE	UL	City Facility	\$2.2770	13.000	\$29.60
	Feb 10, 2025 3:12:15 PM	23385	CANNADY, JEREMY	POLICE	UL	City Facility	\$2.2770	10.700	\$24.36
	Feb 10, 2025 2:26:50 PM	22843	THOMAS, LUCIEN	POLICE	UL	City Facility	\$2.2770	15.500	\$35.29
	Feb 11, 2025 6:06:48 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2770	6.800	\$15.48
	Feb 10, 2025 7:29:52 PM	22867	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.2770	6.800	\$15.48
	Feb 10, 2025 8:22:40 PM	22748	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2770	7.000	\$15.94
	Feb 10, 2025 8:33:43 PM	23151	CHEGWIDDEN, JASON	POLICE	UL	San Angelo Airport	\$2.2770	10.300	\$23.45
	Feb 10, 2025 9:54:08 PM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.2770	13.300	\$30.28
	Feb 10, 2025 10:18:46 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2770	9.400	\$21.40
	Feb 10, 2025 4:25:25 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.2770	9.100	\$20.72
	Feb 10, 2025 4:34:16 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2770	7.400	\$16.85
	Feb 10, 2025 3:38:14 PM	23371	BOULIGNY, JOHN	POLICE	UL	City Facility	\$2.2770	15.300	\$34.84
	Feb 10, 2025 6:43:49 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2770	6.300	\$14.35
	Feb 10, 2025 6:50:01 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2770	7.100	\$16.17
	Feb 10, 2025 6:52:34 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2770	6.300	\$14.35
	Feb 10, 2025 6:51:32 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.2770	16.100	\$36.66
	Feb 10, 2025 6:56:13 PM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.2770	14.000	\$31.88
	Feb 10, 2025 6:59:39 PM	22561	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.2770	10.800	\$24.59
	Feb 7, 2025 4:18:17 PM	22970	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.2770	11.300	\$25.73
	Feb 7, 2025 4:19:04 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2770	5.000	\$11.38
	Feb 7, 2025 4:17:39 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.2770	18.700	\$42.58
	Feb 7, 2025 4:23:16 PM	23388	DIAZ, STEVEN	POLICE	UL	San Angelo Airport	\$2.2770	15.700	\$35.75
	Feb 7, 2025 3:41:24 PM	23097	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.2770	11.800	\$26.87
	Feb 7, 2025 4:56:06 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2770	2.500	\$5.69
	Feb 7, 2025 5:14:29 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.2770	14.000	\$31.88
	Feb 7, 2025 5:16:01 PM	22862	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2770	12.200	\$27.78
	Feb 7, 2025 5:16:33 PM	22965	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.2770	8.700	\$19.81
	Feb 7, 2025 2:28:23 PM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.2770	15.100	\$34.38

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 2:41:13 PM	23367	GONZALES, TRAVIS	POLICE	UL	San Angelo Airport	\$2.2770	9.600	\$21.86
	Feb 7, 2025 2:55:08 PM	22711	HALBERT, GLENN	POLICE	UL	San Angelo Airport	\$2.2770	15.700	\$35.75
	Feb 7, 2025 2:32:55 PM	22926	BARKER, CHARLES	POLICE	UL	City Facility	\$2.2770	10.300	\$23.45
	Feb 8, 2025 3:28:01 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.2770	3.200	\$7.29
	Feb 8, 2025 4:44:08 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2770	11.100	\$25.27
	Feb 8, 2025 5:42:34 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.2770	8.300	\$18.90
	Feb 8, 2025 5:45:39 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.2770	8.600	\$19.58
	Feb 8, 2025 5:56:50 AM	23384	HARRELL, SHELDON	POLICE	UL	San Angelo Airport	\$2.2770	9.300	\$21.18
	Feb 8, 2025 6:18:01 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2770	5.300	\$12.07
	Feb 8, 2025 6:40:11 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	San Angelo Airport	\$2.2770	6.100	\$13.89
	Feb 8, 2025 6:43:47 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.2770	11.500	\$26.19
	Feb 7, 2025 10:15:11 PM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.2770	21.500	\$48.96
	Feb 7, 2025 10:20:45 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2770	10.600	\$24.14
	Feb 7, 2025 10:22:07 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2770	8.400	\$19.13
	Feb 8, 2025 12:41:26 AM	22963	SOLIS, JOSH	POLICE	UL	City Facility	\$2.2770	12.800	\$29.15
	Feb 7, 2025 10:03:29 PM	22971	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2770	12.300	\$28.01
	Feb 7, 2025 6:57:25 PM	22748	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.2770	10.900	\$24.82
	Feb 7, 2025 6:25:14 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.2770	5.100	\$11.61
	Feb 8, 2025 12:04:26 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.2770	10.300	\$23.45
	Feb 8, 2025 12:07:32 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2770	10.500	\$23.91
	Feb 8, 2025 1:15:12 PM	22502	DYE, KENNETH	POLICE	UL	San Angelo Airport	\$2.2770	20.200	\$46.00
	Feb 8, 2025 12:14:54 AM	22863	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2770	13.000	\$29.60
	Feb 8, 2025 4:13:47 PM	22970	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.2770	9.300	\$21.18
	Feb 8, 2025 4:15:06 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2770	12.200	\$27.78
	Feb 8, 2025 4:18:19 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2770	4.800	\$10.93
	Feb 8, 2025 4:18:53 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.2770	10.400	\$23.68
	Feb 8, 2025 4:22:31 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.2770	9.000	\$20.49
	Feb 8, 2025 4:45:45 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2770	9.200	\$20.95
	Feb 8, 2025 4:54:34 PM	23230	LANE, KIETH	POLICE	UL	City Facility	\$2.2770	12.700	\$28.92

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 8, 2025 5:18:40 PM	22971	AROS, AGUSTINE	POLICE	UL	City Facility	\$2.2770	5.700	\$12.98
	Feb 8, 2025 5:21:38 PM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.2770	16.000	\$36.43
	Feb 8, 2025 5:26:27 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.2770	12.800	\$29.15
	Feb 8, 2025 5:29:07 PM	22862	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2770	9.900	\$22.54
	Feb 8, 2025 5:33:02 PM	22863	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2770	5.200	\$11.84
	Feb 8, 2025 5:39:34 PM	22965	SOLIS, JOSH	POLICE	UL	City Facility	\$2.2770	9.400	\$21.40
	Feb 8, 2025 2:14:44 PM	23099	REYES, MANUEL	POLICE	UL	San Angelo Airport	\$2.2770	15.200	\$34.61
	Feb 8, 2025 6:30:56 PM	22748	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.2770	7.100	\$16.17
	Feb 8, 2025 6:29:12 PM	22561	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.2770	14.000	\$31.88
	Feb 8, 2025 6:32:12 PM	22963	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2770	4.100	\$9.34
	Feb 8, 2025 11:51:21 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.2770	8.200	\$18.67
	Feb 8, 2025 6:34:45 PM	2	GOMEZ, EDDIE	CONCHO VALLEY TRANSIT DIS	UL	City Facility	\$2.2770	30.800	\$70.13
	Feb 8, 2025 8:02:02 PM	23388	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.2770	12.800	\$29.15
	Feb 9, 2025 1:41:45 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2770	7.700	\$17.53
	Feb 9, 2025 3:14:45 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.2770	7.900	\$17.99
	Feb 9, 2025 5:33:18 AM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2770	15.500	\$35.29
	Feb 9, 2025 5:53:36 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2770	12.800	\$29.15
	Feb 9, 2025 5:57:19 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2770	11.700	\$26.64
	Feb 9, 2025 6:00:46 AM	22955	GONZALES, CHE	POLICE	UL	San Angelo Airport	\$2.2770	9.200	\$20.95
	Feb 9, 2025 6:06:07 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.2770	6.500	\$14.80
	Feb 9, 2025 8:06:27 AM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.2770	13.900	\$31.65
	Feb 9, 2025 9:50:11 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.2770	13.000	\$29.60
	Feb 9, 2025 11:28:46 AM	22953	GAETA, MICHAEL	POLICE	UL	City Facility	\$2.2770	7.200	\$16.39
	Feb 9, 2025 12:23:52 PM	22786	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.2770	9.100	\$20.72
	Feb 10, 2025 6:18:38 AM	22955	GONZALES, CHE	POLICE	UL	City Facility	\$2.2770	7.000	\$15.94
	Feb 10, 2025 6:25:20 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2770	10.200	\$23.23
	Feb 10, 2025 6:27:23 AM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.2770	9.200	\$20.95
	Feb 10, 2025 6:31:28 AM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2770	8.800	\$20.04
	Feb 10, 2025 6:44:05 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.2770	6.700	\$15.26

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 10, 2025 6:54:24 AM	22841	CORTINAS, LOUIS	POLICE	UL	City Facility	\$2.2770	2.800	\$6.38
	Feb 10, 2025 6:58:48 AM	22841	CORTINAS, LOUIS	POLICE	UL	City Facility	\$2.2770	13.900	\$31.65
	Feb 9, 2025 4:18:04 PM	22969	CAMPBELL, STEPHANIE	POLICE	UL	San Angelo Airport	\$2.2770	11.300	\$25.73
	Feb 9, 2025 4:21:52 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2770	11.400	\$25.96
	Feb 9, 2025 4:25:58 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.2770	7.800	\$17.76
	Feb 9, 2025 4:29:53 PM	23131	TERRY, LANDON	POLICE	UL	City Facility	\$2.2770	10.000	\$22.77
	Feb 9, 2025 4:45:51 PM	23083	Lemley, Robert	POLICE	UL	City Facility	\$2.2770	16.600	\$37.80
	Feb 9, 2025 4:57:22 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2770	11.400	\$25.96
	Feb 9, 2025 5:28:04 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2770	10.000	\$22.77
	Feb 9, 2025 6:00:40 PM	22862	FEDDERSEN, ERIN	POLICE	UL	City Facility	\$2.2770	9.800	\$22.31
	Feb 9, 2025 6:04:59 PM	22970	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.2770	8.900	\$20.27
	Feb 9, 2025 6:15:48 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2770	5.900	\$13.43
	Feb 9, 2025 6:21:56 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2770	4.800	\$10.93
	Feb 9, 2025 6:24:25 PM	22971	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.2770	8.000	\$18.22
	Feb 9, 2025 6:32:05 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2770	7.600	\$17.31
	Feb 9, 2025 6:35:51 PM	22963	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.2770	10.500	\$23.91
	Feb 9, 2025 6:37:00 PM	22867	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.2770	12.600	\$28.69
	Feb 9, 2025 6:44:25 PM	22958	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2770	9.200	\$20.95
	Feb 9, 2025 6:49:53 PM	23133	HAWTHORNE, MATTHEW	POLICE	UL	City Facility	\$2.2770	13.800	\$31.42
	Feb 9, 2025 9:50:17 PM	23324	FINCHER, JOEL	POLICE	UL	City Facility	\$2.2770	18.600	\$42.35
	Feb 10, 2025 5:23:03 AM	22971	THOMPSON, BOWDY	POLICE	UL	San Angelo Airport	\$2.2770	6.700	\$15.26
	Feb 14, 2025 4:45:00 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.6430	9.600	\$25.37
	Feb 14, 2025 5:20:49 PM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.6430	11.600	\$30.66
	Feb 11, 2025 11:22:16 AM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2780	11.200	\$25.51
	Feb 14, 2025 3:03:42 PM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.6430	6.800	\$17.97
	Feb 14, 2025 3:27:56 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.6430	7.800	\$20.62
	Feb 14, 2025 3:32:23 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.6430	0.500	\$1.32
	Feb 14, 2025 2:45:43 PM	22554	BRADSHAW, COBY	POLICE	UL	City Facility	\$2.6430	21.900	\$57.88
	Feb 14, 2025 4:24:46 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.6430	8.800	\$23.26

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 4:24:25 PM	22561	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.6430	16.500	\$43.61
	Feb 14, 2025 4:25:14 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.6430	7.200	\$19.03
	Feb 14, 2025 4:28:14 PM	22971	BRADY, JALEN	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 14, 2025 4:31:03 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.6430	8.100	\$21.41
	Feb 14, 2025 9:58:53 AM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.6430	13.400	\$35.42
	Feb 14, 2025 12:08:33 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.6430	9.100	\$24.05
	Feb 14, 2025 1:47:56 PM	23108	BIRD, LESLIE	POLICE	UL	City Facility	\$2.6430	10.700	\$28.28
	Feb 14, 2025 11:41:16 AM	23106	GARZA, DANNY`L	POLICE	UL	City Facility	\$2.6430	11.200	\$29.60
	Feb 14, 2025 11:43:08 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.6430	9.700	\$25.64
	Feb 14, 2025 12:20:18 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 14, 2025 12:20:45 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.6430	9.700	\$25.64
	Feb 11, 2025 8:07:10 AM	23345	KIMBLE, KEN	POLICE	UL	City Facility	\$2.2770	12.200	\$27.78
	Feb 11, 2025 8:10:34 AM	22467	HERRERA, NAOMY	POLICE	UL	City Facility	\$2.2770	11.300	\$25.73
	Feb 11, 2025 8:19:05 AM	22602	SCOTT, ADAM	POLICE	UL	City Facility	\$2.2770	16.600	\$37.80
	Feb 11, 2025 8:27:33 AM	22969	CAMPBELL, STEPHANIE	POLICE	UL	City Facility	\$2.2770	11.600	\$26.41
	Feb 11, 2025 6:49:36 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2770	9.000	\$20.49
	Feb 11, 2025 7:28:18 AM	22963	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2770	10.300	\$23.45
	Feb 11, 2025 7:35:54 AM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2770	9.600	\$21.86
	Feb 11, 2025 4:06:08 AM	23077	FOLMAR, TRAVIS	POLICE	UL	San Angelo Airport	\$2.2770	13.900	\$31.65
	Feb 10, 2025 5:25:19 PM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.2770	12.200	\$27.78
	Feb 11, 2025 5:31:37 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2780	6.800	\$15.49
	Feb 11, 2025 5:06:54 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2780	7.700	\$17.54
	Feb 11, 2025 7:06:30 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.2780	7.500	\$17.08
	Feb 11, 2025 7:10:43 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2780	6.700	\$15.26
	Feb 23, 2025 6:33:24 AM	22969	CAMPBELL, STEPHANIE	POLICE	UL	City Facility	\$2.3510	12.400	\$29.15
	Feb 23, 2025 6:37:12 AM	23232	MOORE, CORY	POLICE	UL	City Facility	\$2.3510	12.500	\$29.39
	Feb 23, 2025 7:04:14 AM	23246	CHAVARRIA-JR, EDUARDO	POLICE	UL	City Facility	\$2.3510	12.100	\$28.45
	Feb 23, 2025 8:54:38 AM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.3510	10.600	\$24.92
	Feb 11, 2025 3:33:43 PM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.2780	9.900	\$22.55

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 3:37:25 PM	22519	BOWHAY, WILLIAM	POLICE	UL	City Facility	\$2.2780	14.600	\$33.26
	Feb 11, 2025 3:37:50 PM	23192	HARTNETT, MARCUS	POLICE	UL	City Facility	\$2.2780	13.900	\$31.66
	Feb 11, 2025 4:34:26 PM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2780	7.400	\$16.86
	Feb 11, 2025 4:37:46 PM	22863	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.2780	10.200	\$23.24
	Feb 11, 2025 4:41:30 PM	22745	HILL, CHASE	POLICE	UL	City Facility	\$2.2780	14.500	\$33.03
	Feb 11, 2025 4:47:02 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.2780	9.500	\$21.64
	Feb 11, 2025 3:12:59 PM	22926	BARKER, CHARLES	POLICE	UL	City Facility	\$2.2780	5.700	\$12.98
	Feb 14, 2025 5:08:54 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.6430	6.800	\$17.97
	Feb 11, 2025 12:12:28 PM	22955	GONZALES, CHE	POLICE	UL	City Facility	\$2.2780	11.500	\$26.20
	Feb 11, 2025 12:40:19 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.2780	6.200	\$14.12
	Feb 11, 2025 11:30:18 AM	23346	HOOPER, ROBIN	POLICE	UL	City Facility	\$2.2780	12.000	\$27.34
	Feb 11, 2025 11:32:42 AM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.2780	11.800	\$26.88
	Feb 11, 2025 12:51:56 PM	22971	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.2780	10.500	\$23.92
	Feb 16, 2025 12:06:30 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.6430	6.100	\$16.12
	Feb 16, 2025 12:08:20 PM	22971	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.6430	10.000	\$26.43
	Feb 16, 2025 12:27:25 PM	23191	SCHULTZ, JOSHUA	POLICE	UL	City Facility	\$2.6430	14.300	\$37.79
	Feb 16, 2025 1:16:34 PM	23382	MARTIN, DAKOTA	POLICE	UL	San Angelo Airport	\$2.6430	13.000	\$34.36
	Feb 16, 2025 1:21:03 PM	22969	CAMPBELL, STEPHANIE	POLICE	UL	San Angelo Airport	\$2.6430	13.000	\$34.36
	Feb 16, 2025 2:25:44 PM	22953	GAETA, MICHAEL	POLICE	UL	San Angelo Airport	\$2.6430	8.000	\$21.14
	Feb 24, 2025 8:51:05 AM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.3510	10.300	\$24.22
	Feb 24, 2025 5:27:43 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 23, 2025 9:02:53 PM	23133	HAWTHORNE, MATTHEW	POLICE	UL	City Facility	\$2.3510	6.500	\$15.28
	Feb 23, 2025 9:29:39 PM	23368	SOLSBERY, KEN	POLICE	UL	City Facility	\$2.3510	15.600	\$36.68
	Feb 23, 2025 10:28:04 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.3510	12.300	\$28.92
	Feb 24, 2025 6:16:57 AM	22969	CAMPBELL, STEPHANIE	POLICE	UL	City Facility	\$2.3510	11.100	\$26.10
	Feb 24, 2025 6:19:26 AM	23232	MOORE, CORY	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 24, 2025 6:28:47 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.3510	9.900	\$23.27
	Feb 24, 2025 6:32:24 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.3510	12.100	\$28.45
	Feb 11, 2025 6:19:53 PM	23083	Lemley, Robert	POLICE	UL	City Facility	\$2.2780	10.900	\$24.83

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 7:39:34 AM	22745	HILL, CHASE	POLICE	UL	City Facility	\$2.3510	13.200	\$31.03
	Feb 23, 2025 11:23:35 AM	22956	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.3510	13.000	\$30.56
	Feb 23, 2025 12:08:11 PM	23231	CASTRO, ANDRES	POLICE	UL	City Facility	\$2.3510	13.800	\$32.44
	Feb 23, 2025 12:31:32 PM	23074	CASTRO, ADRIAN	POLICE	UL	City Facility	\$2.3510	12.300	\$28.92
	Feb 23, 2025 12:32:39 PM	23258	FLORES, ABRAHAM	POLICE	UL	City Facility	\$2.3510	18.400	\$43.26
	Feb 23, 2025 12:39:09 PM	22960	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.3510	9.500	\$22.33
	Feb 23, 2025 12:54:30 PM	23020	YOUNTS, JOSHUA	POLICE	UL	City Facility	\$2.3510	7.700	\$18.10
	Feb 23, 2025 1:25:53 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.3510	8.400	\$19.75
	Feb 23, 2025 1:43:50 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.3510	9.600	\$22.57
	Feb 23, 2025 1:50:29 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.3510	10.300	\$24.22
	Feb 23, 2025 2:06:31 PM	23387	WARRICK, ERIC	POLICE	UL	City Facility	\$2.3510	16.900	\$39.73
	Feb 23, 2025 4:17:42 PM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.3510	12.000	\$28.21
	Feb 23, 2025 4:17:15 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.3510	15.900	\$37.38
	Feb 23, 2025 4:22:03 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.3510	6.400	\$15.05
	Feb 23, 2025 4:22:29 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.3510	7.900	\$18.57
	Feb 23, 2025 4:30:26 PM	22971	RADER, KYLE	POLICE	UL	City Facility	\$2.3510	10.800	\$25.39
	Feb 23, 2025 4:38:07 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.3510	16.100	\$37.85
	Feb 23, 2025 4:59:09 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.3510	13.200	\$31.03
	Feb 23, 2025 6:05:15 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 23, 2025 6:11:14 PM	23218	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.3510	10.000	\$23.51
	Feb 23, 2025 6:12:40 PM	22750	FLORES, FRANCISCO	POLICE	UL	City Facility	\$2.3510	10.500	\$24.69
	Feb 23, 2025 6:17:34 PM	22862	FEDDERSEN, ERIN	POLICE	UL	City Facility	\$2.3510	8.200	\$19.28
	Feb 23, 2025 6:18:03 PM	22889	LINDSEY, MYA	POLICE	UL	City Facility	\$2.3510	9.000	\$21.16
	Feb 23, 2025 6:28:45 PM	22959	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.3510	9.400	\$22.10
	Feb 23, 2025 6:41:02 PM	23077	FOLMAR, TRAVIS	POLICE	UL	City Facility	\$2.3510	16.900	\$39.73
	Feb 4, 2025 4:20:46 PM	23020	YOUNTS, JOSHUA	POLICE	UL	San Angelo Airport	\$2.2260	13.000	\$28.94
	Feb 4, 2025 4:19:34 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.2260	9.300	\$20.70
	Feb 4, 2025 4:21:25 PM	23224	Lemley, Robert	POLICE	UL	City Facility	\$2.2260	8.000	\$17.81
	Feb 4, 2025 3:41:43 PM	22956	ROEBUCK, CLINTON	POLICE	UL	City Facility	\$2.2260	14.000	\$31.16

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 3:45:40 PM	22972	WEBBER, MICHAEL	POLICE	UL	San Angelo Airport	\$2.2260	9.900	\$22.04
	Feb 4, 2025 3:59:35 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2260	6.900	\$15.36
	Feb 4, 2025 1:22:53 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.2260	5.300	\$11.80
	Feb 4, 2025 12:39:37 PM	23439	LOPEZ, TONY	POLICE	UL	City Facility	\$2.2260	22.200	\$49.42
	Feb 4, 2025 10:12:13 AM	23102	GARNETT, KYLE	POLICE	UL	City Facility	\$2.2260	12.900	\$28.72
	Feb 4, 2025 11:10:32 AM	23225	DANIEL, ZANE	POLICE	UL	City Facility	\$2.2260	7.700	\$17.14
	Feb 4, 2025 4:51:27 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2260	8.300	\$18.48
	Feb 4, 2025 5:48:34 PM	23077	FOLMAR, TRAVIS	POLICE	UL	City Facility	\$2.2260	14.800	\$32.94
	Feb 4, 2025 5:51:05 PM	22959	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.2260	8.400	\$18.70
	Feb 4, 2025 6:33:29 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2260	7.400	\$16.47
	Feb 4, 2025 6:37:22 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2260	6.700	\$14.91
	Feb 4, 2025 6:44:38 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2260	7.900	\$17.59
	Feb 4, 2025 6:51:30 PM	22958	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2260	21.200	\$47.19
	Feb 4, 2025 6:59:18 PM	22889	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.2260	7.200	\$16.03
	Feb 4, 2025 6:09:03 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.2260	7.600	\$16.92
	Feb 4, 2025 6:14:42 PM	22862	LINDSEY, MYA	POLICE	UL	City Facility	\$2.2260	8.600	\$19.14
	Feb 4, 2025 8:03:37 PM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.2260	15.400	\$34.28
	Feb 4, 2025 7:43:42 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.2260	12.200	\$27.16
	Feb 4, 2025 10:23:43 PM	23387	WARRICK, ERIC	POLICE	UL	City Facility	\$2.2260	10.500	\$23.37
	Feb 5, 2025 7:17:56 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2260	7.600	\$16.92
	Feb 5, 2025 6:10:20 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.2260	14.600	\$32.50
	Feb 5, 2025 6:13:58 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.2260	9.300	\$20.70
	Feb 5, 2025 6:14:42 AM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.2260	12.400	\$27.60
	Feb 5, 2025 2:13:52 AM	23191	MORENO, CODY	POLICE	UL	City Facility	\$2.2260	13.900	\$30.94
	Feb 5, 2025 6:01:08 AM	23099	REYES, MANUEL	POLICE	UL	City Facility	\$2.2260	8.400	\$18.70
	Feb 5, 2025 6:01:49 AM	23101	CERCONE, RICHARD	POLICE	UL	City Facility	\$2.2260	9.700	\$21.59
	Feb 5, 2025 6:04:09 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2260	9.200	\$20.48
	Feb 5, 2025 6:05:27 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.2260	13.000	\$28.94
	Feb 5, 2025 6:08:43 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.2260	9.600	\$21.37

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 5, 2025 7:31:01 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.2220	9.000	\$20.00
	Feb 4, 2025 9:20:24 AM	23323	THOMASON, CRAIG	POLICE	UL	City Facility	\$2.2260	12.700	\$28.27
	Feb 3, 2025 8:26:14 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2260	10.500	\$23.37
	Feb 3, 2025 6:26:34 PM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.2260	11.500	\$25.60
	Feb 3, 2025 6:37:11 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2260	4.500	\$10.02
	Feb 3, 2025 6:39:05 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2260	7.400	\$16.47
	Feb 3, 2025 6:40:52 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2260	7.900	\$17.59
	Feb 3, 2025 6:43:53 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.2260	8.200	\$18.25
	Feb 3, 2025 6:45:35 PM	22519	FINCHER, JOEL	POLICE	UL	City Facility	\$2.2260	18.500	\$41.18
	Feb 3, 2025 6:48:38 PM	22958	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2260	7.600	\$16.92
	Feb 3, 2025 6:53:02 PM	23326	MITCHELL, RODNEY	POLICE	UL	San Angelo Airport	\$2.2260	13.400	\$29.83
	Feb 3, 2025 6:53:48 PM	22889	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.2260	8.000	\$17.81
	Feb 3, 2025 7:06:08 PM	22862	LINDSEY, MYA	POLICE	UL	City Facility	\$2.2260	6.400	\$14.25
	Feb 3, 2025 7:17:41 PM	22959	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.2260	9.000	\$20.03
	Feb 3, 2025 9:21:34 PM	23368	SOLSBERY, KEN	POLICE	UL	City Facility	\$2.2260	16.100	\$35.84
	Feb 3, 2025 10:39:57 PM	23231	CASTRO, ANDRES	POLICE	UL	San Angelo Airport	\$2.2260	14.600	\$32.50
	Feb 4, 2025 12:08:19 AM	22960	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.2260	12.900	\$28.72
	Feb 4, 2025 12:16:55 AM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.2260	12.200	\$27.16
	Feb 4, 2025 5:32:46 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.2260	14.500	\$32.28
	Feb 4, 2025 5:48:51 AM	22955	GONZALES, CHE	POLICE	UL	City Facility	\$2.2260	9.900	\$22.04
	Feb 4, 2025 5:51:50 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2260	8.300	\$18.48
	Feb 4, 2025 6:00:56 AM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.2260	15.600	\$34.73
	Feb 3, 2025 4:41:36 PM	22970	RADER, KYLE	POLICE	UL	San Angelo Airport	\$2.2260	9.200	\$20.48
	Feb 3, 2025 5:23:49 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2260	6.000	\$13.36
	Feb 4, 2025 6:13:28 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2260	9.900	\$22.04
	Feb 3, 2025 8:54:20 AM	23366	MATA, JOE	POLICE	UL	City Facility	\$2.2260	16.600	\$36.95
	Feb 3, 2025 9:07:15 AM	23373	CALVERT, MARK	POLICE	UL	City Facility	\$2.2260	16.500	\$36.73
	Feb 3, 2025 12:42:40 PM	23438	BALDWIN, MATTHEW	POLICE	UL	San Angelo Airport	\$2.2260	5.100	\$11.35
	Feb 3, 2025 11:35:28 AM	22841	CORTINAS, LOUIS	POLICE	UL	City Facility	\$2.2260	14.800	\$32.94

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 11:45:36 AM	23088	LAJOIE, KELLY	POLICE	UL	City Facility	\$2.2260	10.400	\$23.15
	Feb 3, 2025 12:13:32 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2260	7.700	\$17.14
	Feb 3, 2025 9:16:23 AM	23151	CHEGWIDDEN, JASON	POLICE	UL	City Facility	\$2.2260	16.000	\$35.62
	Feb 3, 2025 11:18:23 AM	23225	DANIEL, ZANE	POLICE	UL	City Facility	\$2.2260	7.000	\$15.58
	Feb 3, 2025 11:23:41 AM	22554	KVITTEM, L	POLICE	UL	City Facility	\$2.2260	23.000	\$51.20
	Feb 3, 2025 4:10:55 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2260	6.300	\$14.02
	Feb 3, 2025 4:11:31 PM	22960	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.2260	4.900	\$10.91
	Feb 3, 2025 4:24:20 PM	23224	Lemley, Robert	POLICE	UL	City Facility	\$2.2260	9.300	\$20.70
	Feb 3, 2025 4:55:45 PM	23387	WARRICK, ERIC	POLICE	UL	City Facility	\$2.2260	16.200	\$36.06
	Feb 3, 2025 4:59:07 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2260	7.600	\$16.92
	Feb 3, 2025 5:19:11 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2260	1.800	\$4.01
	Feb 3, 2025 12:27:05 PM	23074	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.2260	6.400	\$14.25
	Feb 3, 2025 2:40:01 PM	22969	CAMPBELL, STEPHANIE	POLICE	UL	San Angelo Airport	\$2.2260	11.900	\$26.49
	Feb 12, 2025 3:07:18 PM	11885	JACKSON, FRANK	POLICE	UL	City Facility	\$2.2780	13.800	\$31.44
	Feb 12, 2025 3:42:18 PM	23069	HERNANDEZ, KELSEY	POLICE	UL	San Angelo Airport	\$2.2780	8.300	\$18.91
	Feb 12, 2025 3:43:27 PM	23151	CHEGWIDDEN, JASON	POLICE	UL	City Facility	\$2.2780	13.800	\$31.44
	Feb 12, 2025 5:34:41 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.2780	15.000	\$34.17
	Feb 12, 2025 6:36:08 PM	23014	MORENO, CODY	POLICE	UL	City Facility	\$2.2780	10.900	\$24.83
	Feb 12, 2025 5:24:12 PM	22971	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2780	9.800	\$22.32
	Feb 12, 2025 4:21:00 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2780	6.100	\$13.90
	Feb 12, 2025 4:21:26 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2780	5.200	\$11.85
	Feb 12, 2025 4:54:57 PM	23284	MCGEE, TRAVIS	POLICE	UL	City Facility	\$2.2780	19.800	\$45.10
	Feb 12, 2025 4:59:20 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.2780	7.100	\$16.17
	Feb 12, 2025 5:14:17 PM	22970	AROS, AGUSTINE	POLICE	UL	City Facility	\$2.2780	8.400	\$19.14
	Feb 12, 2025 5:16:27 PM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.2780	13.500	\$30.75
	Feb 12, 2025 2:10:14 PM	23088	LAJOIE, KELLY	POLICE	UL	City Facility	\$2.2780	12.000	\$27.34
	Feb 12, 2025 1:05:49 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.2780	14.700	\$33.49
	Feb 12, 2025 12:46:08 PM	22989	GESCH, BRIAN	POLICE	UL	City Facility	\$2.2780	5.100	\$11.62
	Feb 12, 2025 12:55:28 PM	23438	BALDWIN, MATTHEW	POLICE	UL	City Facility	\$2.2780	10.600	\$24.15

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 2, 2025 5:25:41 AM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.2260	12.800	\$28.49
	Feb 2, 2025 5:30:42 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.2260	7.700	\$17.14
	Feb 2, 2025 5:57:23 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2260	9.000	\$20.03
	Feb 2, 2025 6:06:18 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.2260	5.500	\$12.24
	Feb 2, 2025 11:01:07 AM	23225	DANIEL, ZANE	POLICE	UL	City Facility	\$2.2260	7.100	\$15.80
	Feb 2, 2025 11:28:21 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.2260	8.900	\$19.81
	Feb 2, 2025 1:08:43 PM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.2260	11.700	\$26.04
	Feb 12, 2025 12:36:00 PM	23250	GARCIA, JONATHAN	POLICE	UL	City Facility	\$2.2780	13.600	\$30.98
	Feb 3, 2025 5:59:00 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.2260	6.600	\$14.69
	Feb 3, 2025 6:00:43 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2260	7.800	\$17.36
	Feb 3, 2025 6:17:15 AM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2260	9.600	\$21.37
	Feb 2, 2025 4:26:08 PM	22960	Lemley, Robert	POLICE	UL	City Facility	\$2.2260	10.800	\$24.04
	Feb 2, 2025 4:29:17 PM	23385	CANNADY, JEREMY	POLICE	UL	City Facility	\$2.2260	9.000	\$20.03
	Feb 2, 2025 4:36:11 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.2260	9.200	\$20.48
	Feb 3, 2025 5:49:13 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2260	9.000	\$20.03
	Feb 12, 2025 6:56:10 PM	22960	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 13, 2025 6:25:44 AM	23384	HARRELL, SHELDON	POLICE	UL	San Angelo Airport	\$2.2780	14.100	\$32.12
	Feb 2, 2025 1:22:01 PM	22601	HOWARTH, BRAD	POLICE	UL	City Facility	\$2.2260	14.900	\$33.17
	Feb 2, 2025 2:00:10 PM	22956	ROEBUCK, CLINTON	POLICE	UL	City Facility	\$2.2260	13.600	\$30.27
	Feb 2, 2025 2:23:52 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2260	10.200	\$22.71
	Feb 2, 2025 3:05:39 PM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.2260	15.100	\$33.61
	Feb 2, 2025 3:14:19 PM	22955	GONZALES, CHE	POLICE	UL	San Angelo Airport	\$2.2260	10.600	\$23.60
	Feb 2, 2025 3:34:29 PM	23020	YOUNTS, JOSHUA	POLICE	UL	San Angelo Airport	\$2.2260	12.800	\$28.49
	Feb 2, 2025 4:45:02 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2260	10.000	\$22.26
	Feb 2, 2025 5:09:18 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.2260	9.800	\$21.81
	Feb 2, 2025 5:35:22 PM	23074	CASTRO, ADRIAN	POLICE	UL	City Facility	\$2.2260	9.900	\$22.04
	Feb 2, 2025 5:39:49 PM	23192	HARTNETT, MARCUS	POLICE	UL	City Facility	\$2.2260	11.600	\$25.82
	Feb 2, 2025 5:54:53 PM	22959	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.2260	8.000	\$17.81
	Feb 2, 2025 6:05:52 PM	22862	FEDDERSEN, ERIN	POLICE	UL	City Facility	\$2.2260	7.800	\$17.36

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 2, 2025 6:06:18 PM	22889	LINDSEY, MYA	POLICE	UL	City Facility	\$2.2260	9.400	\$20.92
	Feb 2, 2025 6:12:22 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2260	6.600	\$14.69
	Feb 2, 2025 6:17:13 PM	22863	THOMPSON, BOWDY	POLICE	UL	City Facility	\$2.2260	6.300	\$14.02
	Feb 2, 2025 6:20:08 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2260	7.500	\$16.70
	Feb 2, 2025 6:34:25 PM	22958	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2260	8.800	\$19.59
	Feb 2, 2025 6:39:18 PM	22867	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.2260	8.100	\$18.03
	Feb 2, 2025 6:46:40 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2260	12.000	\$26.71
	Feb 2, 2025 7:22:14 PM	23077	FOLMAR, TRAVIS	POLICE	UL	City Facility	\$2.2260	17.600	\$39.18
	Feb 2, 2025 8:06:10 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2260	7.200	\$16.03
	Feb 2, 2025 9:40:54 PM	23096	ANDERSON, NOEL	POLICE	UL	San Angelo Airport	\$2.2260	9.600	\$21.37
	Feb 12, 2025 9:19:28 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2780	9.600	\$21.87
	Feb 12, 2025 9:51:00 PM	22746	DANIEL, ZANE	POLICE	UL	San Angelo Airport	\$2.2780	14.900	\$33.94
	Feb 12, 2025 9:48:30 PM	22331	RAMIREZ, RAMIRO	POLICE	UL	City Facility	\$2.2780	24.700	\$56.27
	Feb 12, 2025 10:07:29 PM	22863	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2780	11.900	\$27.11
	Feb 12, 2025 11:09:36 PM	23324	FINCHER, JOEL	POLICE	UL	City Facility	\$2.2780	16.000	\$36.45
	Feb 13, 2025 12:12:40 AM	23132	COVEY, AUSTIN	POLICE	UL	City Facility	\$2.2780	15.500	\$35.31
	Feb 13, 2025 1:30:00 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2780	9.100	\$20.73
	Feb 13, 2025 4:27:24 AM	22963	SOLIS, JOSH	POLICE	UL	City Facility	\$2.2780	11.800	\$26.88
	Feb 13, 2025 5:44:18 AM	22866	RAMIREZ, CARLOS	POLICE	UL	San Angelo Airport	\$2.2780	7.700	\$17.54
	Feb 13, 2025 5:47:12 AM	22867	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2780	11.900	\$27.11
	Feb 13, 2025 5:50:24 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2780	10.700	\$24.37
	Feb 13, 2025 5:51:47 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.2780	7.700	\$17.54
	Feb 13, 2025 6:04:31 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.2780	9.000	\$20.50
	Feb 1, 2025 3:20:54 PM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.2260	12.200	\$27.16
	Feb 1, 2025 4:18:46 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.2260	8.200	\$18.25
	Feb 1, 2025 4:19:38 PM	22960	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.2260	8.300	\$18.48
	Feb 1, 2025 4:38:58 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2260	8.600	\$19.14
	Feb 1, 2025 4:43:05 PM	22954	Lemley, Robert	POLICE	UL	City Facility	\$2.2260	8.800	\$19.59
	Feb 1, 2025 4:52:17 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.2260	8.200	\$18.25

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 1, 2025 5:29:51 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.2260	11.800	\$26.27
	Feb 1, 2025 10:58:19 AM	22926	BARKER, CHARLES	POLICE	UL	City Facility	\$2.2260	1.900	\$4.23
	Feb 1, 2025 5:59:46 PM	22959	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.2260	7.400	\$16.47
	Feb 1, 2025 6:09:23 PM	22862	FEDDERSEN, ERIN	POLICE	UL	City Facility	\$2.2260	10.000	\$22.26
	Feb 1, 2025 6:09:00 PM	22889	LINDSEY, MYA	POLICE	UL	City Facility	\$2.2260	5.700	\$12.69
	Feb 1, 2025 10:37:08 PM	23231	CASTRO, ANDRES	POLICE	UL	San Angelo Airport	\$2.2260	13.600	\$30.27
	Feb 1, 2025 11:53:30 PM	23325	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.2260	18.200	\$40.51
	Feb 1, 2025 6:19:30 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2260	7.300	\$16.25
	Feb 1, 2025 6:19:52 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.2260	9.300	\$20.70
	Feb 1, 2025 6:22:03 PM	22958	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2260	8.700	\$19.37
	Feb 1, 2025 6:29:17 PM	22867	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.2260	5.800	\$12.91
	Feb 1, 2025 6:34:32 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2260	8.300	\$18.48
	Feb 1, 2025 9:28:30 PM	22989	GESCH, BRIAN	POLICE	UL	City Facility	\$2.2260	11.900	\$26.49
	Feb 1, 2025 9:54:48 PM	22988	SPEARMAN, ROGER	POLICE	UL	City Facility	\$2.2260	9.100	\$20.26
	Feb 12, 2025 12:17:28 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 12, 2025 12:26:35 PM	23367	GONZALES, TRAVIS	POLICE	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 12, 2025 11:20:03 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.2780	11.200	\$25.51
	Feb 12, 2025 11:35:54 AM	22789	RUSSELL, JAMES	POLICE	UL	City Facility	\$2.2780	14.600	\$33.26
	Feb 1, 2025 12:53:06 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.2260	12.900	\$28.72
	Feb 1, 2025 1:08:37 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.2260	7.000	\$15.58
	Feb 1, 2025 7:05:36 AM	23382	MARTIN, DAKOTA	POLICE	UL	San Angelo Airport	\$2.2260	14.300	\$31.83
	Feb 1, 2025 9:28:04 AM	22953	GAETA, MICHAEL	POLICE	UL	San Angelo Airport	\$2.2260	6.500	\$14.47
	Feb 1, 2025 2:41:32 AM	22971	FAISON, DAVID	POLICE	UL	City Facility	\$2.2260	9.600	\$21.37
	Feb 1, 2025 3:14:43 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2260	10.000	\$22.26
	Feb 1, 2025 3:41:26 AM	22561	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.2260	18.100	\$40.29
	Feb 1, 2025 4:22:00 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.2260	9.800	\$21.81
	Feb 1, 2025 5:26:08 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.2260	9.900	\$22.04
	Feb 1, 2025 5:40:12 AM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.2260	14.800	\$32.94
	Feb 1, 2025 5:52:34 AM	22955	GONZALES, CHE	POLICE	UL	San Angelo Airport	\$2.2260	8.100	\$18.03

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 1, 2025 6:00:39 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.2260	8.500	\$18.92
	Feb 1, 2025 6:14:07 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.2260	6.800	\$15.14
	Feb 12, 2025 7:56:36 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.2780	10.300	\$23.46
	Feb 11, 2025 7:36:27 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.2780	6.500	\$14.81
	Feb 12, 2025 6:20:27 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2780	11.200	\$25.51
	Feb 12, 2025 6:22:26 AM	23134	JACOB, ANDERSON,	POLICE	UL	City Facility	\$2.2780	12.600	\$28.70
	Feb 12, 2025 6:33:19 AM	22866	RAMIREZ, CARLOS	POLICE	UL	San Angelo Airport	\$2.2780	14.000	\$31.89
	Feb 12, 2025 6:43:16 AM	23101	CERCONE, RICHARD	POLICE	UL	City Facility	\$2.2780	8.700	\$19.82
	Feb 12, 2025 6:47:01 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2780	9.500	\$21.64
	Feb 11, 2025 7:11:29 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.2780	12.900	\$29.39
	Feb 11, 2025 7:12:50 PM	23225	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.2780	6.300	\$14.35
	Feb 11, 2025 7:18:08 PM	22786	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.2780	13.100	\$29.84
	Feb 11, 2025 7:22:32 PM	22867	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.2780	6.100	\$13.90
	Feb 12, 2025 3:38:31 AM	22963	FEDDERSEN, ERIN	POLICE	UL	San Angelo Airport	\$2.2780	11.100	\$25.29
	Feb 12, 2025 9:44:07 AM	22504	WIKE, BARRY	LAKE & PARK PATROL	UL	City Facility	\$2.2780	22.300	\$50.80
	Feb 12, 2025 10:41:45 AM	23020	YOUNTS, JOSHUA	POLICE	UL	City Facility	\$2.2780	12.200	\$27.79
	Feb 5, 2025 12:03:05 PM	23336	PUCCI, TIMOTHY	POLICE	UL	San Angelo Airport	\$2.2220	12.900	\$28.66
	Feb 5, 2025 12:26:51 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.2220	15.100	\$33.55
	Feb 5, 2025 12:49:15 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2220	10.600	\$23.55
	Feb 5, 2025 10:32:08 AM	22788	BARKER, CHARLES	POLICE	UL	City Facility	\$2.2220	8.000	\$17.78
	Feb 5, 2025 9:35:31 AM	22676	LOSKI, KRYSTLE	POLICE	UL	City Facility	\$2.2220	12.600	\$28.00
	Feb 5, 2025 9:43:51 AM	23076	STEWART, BRUCE	POLICE	UL	San Angelo Airport	\$2.2220	11.800	\$26.22
	Feb 13, 2025 2:04:00 PM	23099	REYES, MANUEL	POLICE	UL	City Facility	\$2.2780	12.900	\$29.39
	Feb 13, 2025 11:55:57 AM	22964	RODRIGUEZ, PEDRO	POLICE	UL	San Angelo Airport	\$2.2780	11.900	\$27.11
	Feb 13, 2025 11:52:19 AM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2780	9.600	\$21.87
	Feb 13, 2025 11:14:51 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.2780	6.600	\$15.03
	Feb 13, 2025 7:39:00 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.2780	9.500	\$21.64
	Feb 6, 2025 2:08:48 PM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.2770	14.800	\$33.70
	Feb 6, 2025 2:12:44 PM	22331	RAMIREZ, RAMIRO	POLICE	UL	City Facility	\$2.2770	30.000	\$68.31

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 2:42:25 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.2770	12.100	\$27.55
	Feb 6, 2025 12:02:31 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2770	8.200	\$18.67
	Feb 6, 2025 12:40:25 PM	23095	CALLUM, ANTOINE	POLICE	UL	City Facility	\$2.2770	13.300	\$30.28
	Feb 6, 2025 1:11:53 PM	23105	STUART, AMANDA	POLICE	UL	City Facility	\$2.2770	14.000	\$31.88
	Feb 6, 2025 1:49:56 PM	23108	BIRD, LESLIE	POLICE	UL	City Facility	\$2.2770	10.000	\$22.77
	Feb 6, 2025 11:36:43 AM	22963	TABONE, ERIC	POLICE	UL	City Facility	\$2.2770	10.900	\$24.82
	Feb 6, 2025 10:57:06 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.2770	8.600	\$19.58
	Feb 6, 2025 10:58:07 AM	22781	TABONE, ERIC	POLICE	UL	City Facility	\$2.2770	10.800	\$24.59
	Feb 6, 2025 8:54:06 AM	22784	MCANDREWS, EMORY	POLICE	UL	City Facility	\$2.2770	8.300	\$18.90
	Feb 6, 2025 6:37:13 AM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.2220	10.000	\$22.22
	Feb 6, 2025 7:58:30 AM	23069	HERNANDEZ, KELSEY	POLICE	UL	San Angelo Airport	\$2.2770	11.200	\$25.50
	Feb 5, 2025 4:15:19 PM	22970	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.2220	8.300	\$18.44
	Feb 5, 2025 4:16:10 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.2220	6.500	\$14.44
	Feb 5, 2025 3:46:00 PM	23134	JACOB, ANDERSON,	POLICE	UL	San Angelo Airport	\$2.2220	12.200	\$27.11
	Feb 5, 2025 5:00:21 PM	23250	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.2220	35.000	\$77.77
	Feb 5, 2025 5:15:46 PM	22889	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.2220	6.000	\$13.33
	Feb 5, 2025 4:38:49 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.2220	6.100	\$13.55
	Feb 5, 2025 4:20:32 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2220	3.100	\$6.89
	Feb 5, 2025 8:49:12 PM	23367	GONZALES, TRAVIS	POLICE	UL	City Facility	\$2.2220	9.600	\$21.33
	Feb 5, 2025 5:38:50 PM	22965	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2220	14.900	\$33.11
	Feb 5, 2025 6:45:42 PM	22863	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2220	9.300	\$20.66
	Feb 5, 2025 6:06:35 PM	23211	BOWHAY, WILLIAM	POLICE	UL	San Angelo Airport	\$2.2220	16.100	\$35.77
	Feb 5, 2025 5:50:03 PM	22862	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2220	8.000	\$17.78
	Feb 5, 2025 5:51:17 PM	22963	SOLIS, JOSH	POLICE	UL	City Facility	\$2.2220	11.400	\$25.33
	Feb 5, 2025 10:05:14 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2220	11.300	\$25.11
	Feb 5, 2025 10:55:37 PM	23136	CIMINO, CHIRSTOPHER	POLICE	UL	San Angelo Airport	\$2.2220	12.900	\$28.66
	Feb 5, 2025 11:35:54 PM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.2220	12.400	\$27.55
	Feb 6, 2025 12:34:24 AM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.2220	13.500	\$30.00
	Feb 6, 2025 3:29:13 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2220	11.000	\$24.44

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 3:32:38 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.2220	10.300	\$22.89
	Feb 6, 2025 5:31:44 AM	22965	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2220	7.300	\$16.22
	Feb 6, 2025 5:42:38 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2220	7.700	\$17.11
	Feb 6, 2025 5:53:13 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.2220	7.300	\$16.22
	Feb 6, 2025 5:53:36 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2220	9.800	\$21.78
	Feb 6, 2025 5:56:38 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.2220	7.100	\$15.78
	Feb 13, 2025 7:07:42 PM	23096	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 14, 2025 7:07:35 AM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.2780	12.800	\$29.16
	Feb 13, 2025 6:33:07 PM	22556	SOLIS, JOSH	POLICE	UL	City Facility	\$2.2780	14.700	\$33.49
	Feb 13, 2025 6:36:52 PM	22748	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2780	10.000	\$22.78
	Feb 13, 2025 6:36:22 PM	23439	LOPEZ, TONY	POLICE	UL	City Facility	\$2.2780	20.400	\$46.47
	Feb 14, 2025 5:47:31 AM	22866	RAMIREZ, CARLOS	POLICE	UL	San Angelo Airport	\$2.2780	8.400	\$19.14
	Feb 14, 2025 5:51:11 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.2780	8.800	\$20.05
	Feb 14, 2025 6:08:59 AM	23384	HARRELL, SHELDON	POLICE	UL	San Angelo Airport	\$2.2780	12.500	\$28.48
	Feb 13, 2025 8:20:37 PM	22519	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.2780	13.500	\$30.75
	Feb 13, 2025 9:28:06 PM	22601	HOWARTH, BRAD	POLICE	UL	City Facility	\$2.2780	14.300	\$32.58
	Feb 13, 2025 9:51:51 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2780	7.600	\$17.31
	Feb 14, 2025 2:47:24 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2780	10.100	\$23.01
	Feb 13, 2025 6:31:44 PM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.2780	17.200	\$39.18
	Feb 13, 2025 6:21:47 PM	22959	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.2780	9.200	\$20.96
	Feb 13, 2025 5:08:06 PM	23211	BOWHAY, WILLIAM	POLICE	UL	City Facility	\$2.2780	18.300	\$41.69
	Feb 13, 2025 5:15:18 PM	22963	AROS, AGUSTINE	POLICE	UL	City Facility	\$2.2780	5.000	\$11.39
	Feb 13, 2025 5:26:07 PM	22863	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2780	4.600	\$10.48
	Feb 13, 2025 4:15:44 PM	22561	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.2780	16.900	\$38.50
	Feb 13, 2025 4:40:44 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.2780	9.000	\$20.50
	Feb 13, 2025 3:20:08 PM	23388	DIAZ, STEVEN	POLICE	UL	San Angelo Airport	\$2.2780	15.500	\$35.31
	Feb 13, 2025 3:23:22 PM	23371	WILLIAMS, DANIEL	POLICE	UL	City Facility	\$2.2780	14.600	\$33.26
	Feb 13, 2025 3:25:43 PM	23134	JACOB, ANDERSON,	POLICE	UL	San Angelo Airport	\$2.2780	12.000	\$27.34
	Feb 13, 2025 4:19:19 PM	22970	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.2780	9.500	\$21.64

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 4:19:55 PM	22971	BRADY, JALEN	POLICE	UL	City Facility	\$2.2780	10.500	\$23.92
	Feb 13, 2025 4:23:06 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2780	7.600	\$17.31
	Feb 13, 2025 4:23:24 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2780	9.000	\$20.50
	Feb 7, 2025 12:36:10 PM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.2770	24.700	\$56.24
	Feb 7, 2025 12:19:48 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.2770	9.600	\$21.86
	Feb 7, 2025 8:12:19 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.2770	11.500	\$26.19
	Feb 7, 2025 9:36:59 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.2770	5.400	\$12.30
	Feb 15, 2025 10:05:40 PM	22988	SPEARMAN, ROGER	POLICE	UL	City Facility	\$2.6430	9.700	\$25.64
	Feb 15, 2025 11:06:47 PM	23211	BOWHAY, WILLIAM	POLICE	UL	City Facility	\$2.6430	17.400	\$45.99
	Feb 15, 2025 11:15:27 PM	23102	GARNETT, KYLE	POLICE	UL	City Facility	\$2.6430	14.400	\$38.06
	Feb 15, 2025 7:18:30 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.6430	12.500	\$33.04
	Feb 15, 2025 7:24:25 PM	22748	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.6430	12.800	\$33.83
	Feb 16, 2025 5:48:10 AM	22955	GONZALES, CHE	POLICE	UL	San Angelo Airport	\$2.6430	10.100	\$26.69
	Feb 16, 2025 5:47:17 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 16, 2025 6:19:41 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.6430	8.100	\$21.41
	Feb 16, 2025 6:20:16 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.6430	7.400	\$19.56
	Feb 16, 2025 6:33:33 AM	22956	Lemley, Robert	POLICE	UL	City Facility	\$2.6430	9.300	\$24.58
	Feb 16, 2025 9:48:45 AM	23247	FLORES, ABRAHAM	POLICE	UL	San Angelo Airport	\$2.6430	12.200	\$32.24
	Feb 16, 2025 9:57:54 AM	23020	YOUNTS, JOSHUA	POLICE	UL	San Angelo Airport	\$2.6430	11.600	\$30.66
	Feb 15, 2025 12:18:14 AM	23388	OGAN, JENNIFER	POLICE	UL	San Angelo Airport	\$2.6430	13.100	\$34.62
	Feb 13, 2025 2:40:24 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.2780	13.000	\$29.61
	Feb 13, 2025 2:42:44 PM	2	GAMEZ, OSIEL	WATER RECLAMATION	UL	City Facility	\$2.2780	60.000	\$136.68
	Feb 13, 2025 2:49:49 PM	2	GAMEZ, OSIEL	WATER RECLAMATION	UL	City Facility	\$2.2780	41.300	\$94.08
	Feb 13, 2025 3:07:02 PM	23386	SPENCER, BENJAMIN	POLICE	UL	City Facility	\$2.2780	12.700	\$28.93
	Feb 14, 2025 8:12:50 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.6430	10.100	\$26.69
	Feb 15, 2025 3:05:06 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.6430	9.600	\$25.37
	Feb 15, 2025 5:39:36 AM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.6430	12.500	\$33.04
	Feb 15, 2025 5:50:47 AM	22956	ROEBUCK, CLINTON	POLICE	UL	City Facility	\$2.6430	12.300	\$32.51
	Feb 15, 2025 5:58:11 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.6430	14.300	\$37.79

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 15, 2025 6:11:32 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.6430	6.200	\$16.39
	Feb 15, 2025 6:16:19 AM	22968	DOMINGUEZ, RICARDO	POLICE	UL	San Angelo Airport	\$2.6430	8.200	\$21.67
	Feb 15, 2025 6:23:09 AM	22953	GAETA, MICHAEL	POLICE	UL	City Facility	\$2.6430	10.800	\$28.54
	Feb 15, 2025 7:13:13 AM	22969	CAMPBELL, STEPHANIE	POLICE	UL	San Angelo Airport	\$2.6430	10.600	\$28.02
	Feb 15, 2025 6:46:51 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.6430	5.700	\$15.07
	Feb 15, 2025 6:47:16 PM	22863	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.6430	8.500	\$22.47
	Feb 15, 2025 7:05:35 PM	23225	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.6430	7.000	\$18.50
	Feb 15, 2025 7:09:14 PM	22786	LINDSEY, MYA	POLICE	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 15, 2025 7:09:43 PM	22963	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.6430	7.800	\$20.62
	Feb 15, 2025 7:12:47 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.6430	7.200	\$19.03
	Feb 15, 2025 4:16:27 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.6430	7.200	\$19.03
	Feb 15, 2025 4:43:03 PM	22867	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.6430	8.200	\$21.67
	Feb 15, 2025 4:45:42 PM	23224	MAYBERRY, TREY	POLICE	UL	City Facility	\$2.6430	6.300	\$16.65
	Feb 15, 2025 4:46:06 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.6430	9.500	\$25.11
	Feb 15, 2025 4:47:35 PM	22970	RADER, KYLE	POLICE	UL	City Facility	\$2.6430	5.800	\$15.33
	Feb 15, 2025 4:49:41 PM	23083	Lemley, Robert	POLICE	UL	City Facility	\$2.6430	4.200	\$11.10
	Feb 15, 2025 7:42:00 AM	23382	MARTIN, DAKOTA	POLICE	UL	San Angelo Airport	\$2.6430	12.800	\$33.83
	Feb 15, 2025 8:00:58 AM	23073	MARTINEZ, STEVEN	POLICE	UL	City Facility	\$2.6430	14.400	\$38.06
	Feb 15, 2025 8:31:57 AM	22519	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.6430	13.100	\$34.62
	Feb 15, 2025 12:06:51 PM	22971	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.6430	9.800	\$25.90
	Feb 15, 2025 1:07:03 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 15, 2025 2:39:49 PM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.6430	8.100	\$21.41
	Feb 6, 2025 3:14:52 PM	23258	FLORES, ABRAHAM	POLICE	UL	City Facility	\$2.2770	17.900	\$40.76
	Feb 6, 2025 3:33:20 PM	23354	JACKSON, FRANK	POLICE	UL	City Facility	\$2.2770	10.100	\$23.00
	Feb 6, 2025 4:49:58 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.2770	13.700	\$31.19
	Feb 6, 2025 3:53:09 PM	23386	SPENCER, BENJAMIN	POLICE	UL	City Facility	\$2.2770	16.600	\$37.80
	Feb 6, 2025 4:23:41 PM	22677	CROWDER, DANIELLE	POLICE	UL	City Facility	\$2.2770	12.700	\$28.92
	Feb 6, 2025 4:28:11 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.2770	10.700	\$24.36
	Feb 6, 2025 4:28:47 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.2770	8.200	\$18.67

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 4:32:30 PM	22970	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.2770	9.000	\$20.49
	Feb 6, 2025 8:58:01 PM	23230	LANE, KIETH	POLICE	UL	City Facility	\$2.2770	13.600	\$30.97
	Feb 6, 2025 8:58:39 PM	22863	FOWLER, ERIK	POLICE	UL	City Facility	\$2.2770	11.600	\$26.41
	Feb 6, 2025 5:02:40 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.2770	9.100	\$20.72
	Feb 6, 2025 5:08:10 PM	22862	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.2770	12.300	\$28.01
	Feb 14, 2025 7:39:15 PM	23230	LANE, KIETH	POLICE	UL	City Facility	\$2.6430	14.400	\$38.06
	Feb 14, 2025 6:26:15 PM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.6430	16.300	\$43.08
	Feb 14, 2025 6:30:51 PM	22970	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.6430	7.300	\$19.29
	Feb 14, 2025 6:31:19 PM	22863	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.6430	7.500	\$19.82
	Feb 14, 2025 6:36:26 PM	23014	MORENO, CODY	POLICE	UL	City Facility	\$2.6430	9.400	\$24.84
	Feb 14, 2025 6:37:01 PM	22963	FOWLER, ERIK	POLICE	UL	City Facility	\$2.6430	9.200	\$24.32
	Feb 14, 2025 6:37:31 PM	22748	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.6430	10.400	\$27.49
	Feb 7, 2025 6:20:01 AM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.2770	13.000	\$29.60
	Feb 7, 2025 7:11:12 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.2770	9.300	\$21.18
	Feb 14, 2025 5:33:03 PM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.6430	9.000	\$23.79
	Feb 6, 2025 10:02:52 PM	23325	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.2770	21.200	\$48.27
	Feb 6, 2025 10:06:00 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.2770	8.100	\$18.44
	Feb 6, 2025 4:57:30 PM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.2770	12.400	\$28.23
	Feb 6, 2025 11:43:45 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.2770	12.500	\$28.46
	Feb 7, 2025 1:55:40 AM	22561	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.2770	17.900	\$40.76
	Feb 7, 2025 2:36:19 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.2770	9.000	\$20.49
	Feb 7, 2025 3:44:51 AM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.2770	15.200	\$34.61
	Feb 7, 2025 5:48:16 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.2770	8.500	\$19.35
	Feb 7, 2025 5:52:09 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.2770	10.200	\$23.23
	Feb 7, 2025 5:54:21 AM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.2770	11.400	\$25.96
	Feb 7, 2025 5:59:00 AM	23099	REYES, MANUEL	POLICE	UL	San Angelo Airport	\$2.2770	16.100	\$36.66
	Feb 27, 2025 9:12:28 AM	23346	HOOPER, ROBIN	POLICE	UL	City Facility	\$2.3520	11.000	\$25.87
	Feb 27, 2025 12:14:46 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3520	8.200	\$19.29
	Feb 27, 2025 12:45:00 PM	23097	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.3520	11.000	\$25.87

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 27, 2025 10:58:29 AM	22970	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.3520	8.000	\$18.82
	Feb 27, 2025 11:03:45 AM	22926	BARKER, CHARLES	POLICE	UL	City Facility	\$2.3520	12.400	\$29.16
	Feb 27, 2025 3:41:43 PM	22331	RAMIREZ, RAMIRO	POLICE	UL	City Facility	\$2.3520	24.500	\$57.62
	Feb 27, 2025 3:48:14 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3520	12.800	\$30.11
	Feb 27, 2025 1:46:20 PM	22553	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3520	12.300	\$28.93
	Feb 27, 2025 2:21:27 PM	23219	MARTINEZ, LUKE	POLICE	UL	San Angelo Airport	\$2.3520	15.400	\$36.22
	Feb 27, 2025 2:20:47 PM	2	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8690	35.500	\$101.85
	Feb 27, 2025 4:17:57 PM	22561	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3520	17.100	\$40.22
	Feb 27, 2025 4:18:41 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3520	18.200	\$42.81
	Feb 27, 2025 4:21:50 PM	22862	SCERO, JARETT	POLICE	UL	City Facility	\$2.3520	7.600	\$17.88
	Feb 27, 2025 4:26:32 PM	23099	REYES, MANUEL	POLICE	UL	City Facility	\$2.3520	14.500	\$34.10
	Feb 27, 2025 5:19:07 PM	22963	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.3520	14.200	\$33.40
	Feb 27, 2025 8:17:08 AM	23218	MONTANA, JONATHAN	POLICE	UL	City Facility	\$2.3520	12.800	\$30.11
	Feb 26, 2025 7:23:06 PM	22781	JUAREZ, CAMERON	POLICE	UL	City Facility	\$2.3520	7.800	\$18.35
	Feb 26, 2025 7:23:43 PM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	City Facility	\$2.3520	14.400	\$33.87
	Feb 27, 2025 5:39:05 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.3520	10.000	\$23.52
	Feb 27, 2025 5:50:14 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.3520	7.200	\$16.93
	Feb 27, 2025 6:08:56 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3520	14.000	\$32.93
	Feb 27, 2025 6:12:19 AM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.3520	15.500	\$36.46
	Feb 26, 2025 11:12:34 PM	23324	FINCHER, JOEL	POLICE	UL	City Facility	\$2.3520	14.200	\$33.40
	Feb 26, 2025 11:19:09 PM	23132	COVEY, AUSTIN	POLICE	UL	City Facility	\$2.3520	13.900	\$32.69
	Feb 26, 2025 11:32:58 PM	23230	LANE, KIETH	POLICE	UL	San Angelo Airport	\$2.3520	14.900	\$35.04
	Feb 27, 2025 12:48:08 AM	23211	BOWHAY, WILLIAM	POLICE	UL	San Angelo Airport	\$2.3520	16.200	\$38.10
	Feb 26, 2025 9:06:43 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.3520	11.000	\$25.87
	Feb 26, 2025 6:54:53 PM	22889	OGAN, JENNIFER	POLICE	UL	City Facility	\$2.3520	12.900	\$30.34
	Feb 26, 2025 6:58:10 PM	22989	GESCH, BRIAN	POLICE	UL	City Facility	\$2.3520	13.200	\$31.05
	Feb 26, 2025 7:01:22 PM	22561	SOLIS, JOSH	POLICE	UL	City Facility	\$2.3520	9.200	\$21.64
	Feb 26, 2025 6:50:58 PM	22553	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.3520	6.000	\$14.11
	Feb 26, 2025 6:24:45 PM	22786	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3520	12.000	\$28.22

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 5:23:29 PM	22970	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.3520	7.900	\$18.58
	Feb 26, 2025 5:25:09 PM	22748	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.3520	7.900	\$18.58
	Feb 26, 2025 5:15:44 PM	22963	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3520	7.400	\$17.40
	Feb 28, 2025 7:36:07 AM	23069	HERNANDEZ, KELSEY	POLICE	UL	San Angelo Airport	\$2.3520	13.600	\$31.99
	Feb 28, 2025 7:49:21 AM	22963	CARRILLO, FRANCISCO	POLICE	UL	San Angelo Airport	\$2.3520	8.800	\$20.70
	Feb 27, 2025 1:38:57 PM	23246	LAJOIE, KELLY	POLICE	UL	City Facility	\$2.3520	3.800	\$8.94
	Feb 27, 2025 9:41:28 PM	22889	OGAN, JENNIFER	POLICE	UL	San Angelo Airport	\$2.3520	8.200	\$19.29
	Feb 27, 2025 10:06:22 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.3520	14.100	\$33.16
	Feb 28, 2025 4:09:33 AM	22970	SOLIS, JOSH	POLICE	UL	City Facility	\$2.3520	11.200	\$26.34
	Feb 28, 2025 4:46:32 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.3520	16.000	\$37.63
	Feb 28, 2025 5:44:57 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.3520	8.200	\$19.29
	Feb 28, 2025 5:52:16 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3520	5.000	\$11.76
	Feb 28, 2025 5:59:58 AM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.3520	10.600	\$24.93
	Feb 28, 2025 6:37:05 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.3520	9.300	\$21.87
	Feb 27, 2025 6:43:28 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.3520	4.000	\$9.41
	Feb 27, 2025 5:23:41 PM	22786	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3520	7.800	\$18.35
	Feb 27, 2025 5:25:43 PM	22863	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.3520	8.700	\$20.46
	Feb 27, 2025 5:25:20 PM	22971	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3520	14.000	\$32.93
	Feb 27, 2025 6:15:10 PM	23325	TUMLINSON, TANNER	POLICE	UL	San Angelo Airport	\$2.3520	14.700	\$34.57
	Feb 27, 2025 6:21:01 PM	22959	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3520	6.100	\$14.35
	Feb 27, 2025 6:24:20 PM	22748	JUAREZ, CAMERON	POLICE	UL	City Facility	\$2.3520	7.900	\$18.58
	Feb 27, 2025 6:25:45 PM	22562	MORENO, CODY	POLICE	UL	City Facility	\$2.3520	16.400	\$38.57
	Feb 28, 2025 2:45:58 PM	23367	GONZALES, TRAVIS	POLICE	UL	San Angelo Airport	\$2.3520	13.000	\$30.58
	Feb 28, 2025 3:53:54 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3520	6.600	\$15.52
	Feb 28, 2025 4:11:43 PM	22561	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3520	19.400	\$45.63
	Feb 28, 2025 4:14:37 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3520	7.000	\$16.46
	Feb 28, 2025 4:14:06 PM	22862	SCERO, JARETT	POLICE	UL	City Facility	\$2.3520	19.500	\$45.86
	Feb 28, 2025 4:17:47 PM	22971	OGAN, JENNIFER	POLICE	UL	San Angelo Airport	\$2.3520	10.800	\$25.40
	Feb 28, 2025 12:07:43 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3520	8.300	\$19.52

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 28, 2025 11:29:25 AM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.3520	15.700	\$36.93
	Feb 28, 2025 12:13:17 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3520	10.300	\$24.23
	Feb 28, 2025 12:19:19 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3520	11.700	\$27.52
	Feb 28, 2025 11:19:42 AM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.3520	12.500	\$29.40
	Feb 28, 2025 1:41:25 PM	23007	MEDLEY, MARK	POLICE	UL	City Facility	\$2.3520	12.500	\$29.40
	Feb 28, 2025 2:02:03 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.3520	15.300	\$35.99
	Feb 28, 2025 9:02:11 PM	22748	MORENO, CODY	POLICE	UL	City Facility	\$2.3520	9.700	\$22.81
	Feb 28, 2025 8:09:18 PM	23096	ANDERSON, NOEL	POLICE	UL	City Facility	\$2.3520	12.300	\$28.93
	Feb 28, 2025 6:44:21 PM	22863	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3520	7.200	\$16.93
	Feb 28, 2025 6:56:24 PM	22553	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.3520	14.200	\$33.40
	Feb 28, 2025 5:05:18 PM	22963	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3520	7.800	\$18.35
	Feb 28, 2025 6:36:11 PM	22786	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3520	10.900	\$25.64
	Feb 28, 2025 7:34:14 PM	22562	SOLIS, JOSH	POLICE	UL	City Facility	\$2.3520	10.900	\$25.64
	Feb 21, 2025 10:37:42 AM	22889	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.3510	12.000	\$28.21
	Feb 21, 2025 9:58:15 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.3510	12.400	\$29.15
	Feb 21, 2025 11:15:31 AM	23086	STUART, REBECA	POLICE	UL	City Facility	\$2.3510	14.800	\$34.79
	Feb 21, 2025 12:49:20 PM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.3510	12.200	\$28.68
	Feb 21, 2025 11:31:28 AM	23073	MARTINEZ, STEVEN	POLICE	UL	City Facility	\$2.3510	17.600	\$41.38
	Feb 21, 2025 12:19:29 PM	23129	POLNICK, JED	POLICE	UL	City Facility	\$2.3510	10.800	\$25.39
	Feb 21, 2025 12:39:04 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3510	8.200	\$19.28
	Feb 21, 2025 12:39:33 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3510	7.000	\$16.46
	Feb 21, 2025 8:27:59 AM	23190	VILLARREAL, ZACHARY	POLICE	UL	San Angelo Airport	\$2.3510	9.700	\$22.80
	Feb 21, 2025 7:52:24 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.3510	11.000	\$25.86
	Feb 20, 2025 7:39:33 PM	23250	GARCIA, JONATHAN	POLICE	UL	City Facility	\$2.3510	14.900	\$35.03
	Feb 21, 2025 7:49:31 AM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3510	9.800	\$23.04
	Feb 20, 2025 2:49:36 PM	22711	HALBERT, GLENN	POLICE	UL	City Facility	\$2.3510	14.500	\$34.09
	Feb 20, 2025 3:24:57 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.3510	8.800	\$20.69
	Feb 20, 2025 3:25:28 PM	22561	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3510	15.900	\$37.38
	Feb 20, 2025 3:58:36 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3510	11.300	\$26.57

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 4:21:38 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3510	8.700	\$20.45
	Feb 20, 2025 4:22:08 PM	22971	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.3510	8.200	\$19.28
	Feb 20, 2025 4:22:28 PM	22862	SCERO, JARETT	POLICE	UL	City Facility	\$2.3510	11.700	\$27.51
	Feb 20, 2025 4:25:49 PM	23095	CALLUM, ANTOINE	POLICE	UL	City Facility	\$2.3510	12.800	\$30.09
	Feb 20, 2025 4:37:34 PM	22889	DIAZ, STEVEN	POLICE	UL	City Facility	\$2.3510	12.200	\$28.68
	Feb 20, 2025 1:56:08 PM	23367	GONZALES, TRAVIS	POLICE	UL	City Facility	\$2.3640	9.800	\$23.17
	Feb 20, 2025 1:44:23 PM	23076	STEWART, BRUCE	POLICE	UL	City Facility	\$2.3640	7.500	\$17.73
	Feb 20, 2025 7:17:58 PM	23007	WALSTON, JOE	POLICE	UL	City Facility	\$2.3510	9.500	\$22.33
	Feb 20, 2025 6:36:52 PM	22786	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3510	12.400	\$29.15
	Feb 20, 2025 6:48:19 PM	23211	BOWHAY, WILLIAM	POLICE	UL	San Angelo Airport	\$2.3510	16.200	\$38.09
	Feb 20, 2025 6:56:03 PM	22553	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.3510	15.400	\$36.21
	Feb 20, 2025 9:38:52 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.3510	6.200	\$14.58
	Feb 20, 2025 11:42:51 PM	22748	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.3510	12.200	\$28.68
	Feb 21, 2025 2:01:25 AM	23132	COVEY, AUSTIN	POLICE	UL	City Facility	\$2.3510	9.500	\$22.33
	Feb 21, 2025 2:03:17 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.3510	9.300	\$21.86
	Feb 21, 2025 2:47:26 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.3510	8.200	\$19.28
	Feb 21, 2025 5:49:02 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.3510	8.800	\$20.69
	Feb 21, 2025 6:01:01 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.3510	7.100	\$16.69
	Feb 21, 2025 6:13:59 AM	23384	HARRELL, SHELDON	POLICE	UL	San Angelo Airport	\$2.3510	8.700	\$20.45
	Feb 21, 2025 7:24:15 AM	23109	MCGEE, TRAVIS	POLICE	UL	San Angelo Airport	\$2.3510	13.700	\$32.21
	Feb 20, 2025 5:36:12 PM	23323	THOMASON, CRAIG	POLICE	UL	City Facility	\$2.3510	13.700	\$32.21
	Feb 20, 2025 3:47:31 PM	23087	POTTS, PORSCHE	POLICE	UL	City Facility	\$2.3510	13.000	\$30.56
	Feb 20, 2025 4:59:11 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3510	9.100	\$21.39
	Feb 20, 2025 5:07:10 PM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.3510	12.000	\$28.21
	Feb 20, 2025 5:12:21 PM	22965	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.3510	9.900	\$23.27
	Feb 20, 2025 5:14:16 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3510	13.000	\$30.56
	Feb 21, 2025 2:42:55 PM	23134	JACOB, ANDERSON,	POLICE	UL	San Angelo Airport	\$2.3510	14.400	\$33.85
	Feb 21, 2025 3:54:08 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3510	0.200	\$0.47
	Feb 21, 2025 4:07:41 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3510	7.000	\$16.46

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 21, 2025 4:17:33 PM	22971	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3510	8.000	\$18.81
	Feb 21, 2025 4:19:02 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.3510	9.100	\$21.39
	Feb 21, 2025 4:20:43 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 21, 2025 7:03:26 PM	22781	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.3510	10.200	\$23.98
	Feb 21, 2025 9:22:21 PM	23325	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.3510	11.100	\$26.10
	Feb 21, 2025 10:12:58 PM	22601	HOWARTH, BRAD	POLICE	UL	San Angelo Airport	\$2.3510	7.900	\$18.57
	Feb 21, 2025 6:50:17 PM	22867	URIEGAS, ANTONIO	POLICE	UL	City Facility	\$2.3510	10.600	\$24.92
	Feb 21, 2025 6:53:22 PM	22863	MORENO, CODY	POLICE	UL	City Facility	\$2.3510	11.700	\$27.51
	Feb 21, 2025 6:37:12 PM	22965	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.3510	8.900	\$20.92
	Feb 21, 2025 5:27:45 PM	22963	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3510	9.000	\$21.16
	Feb 21, 2025 3:54:34 PM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.3510	12.400	\$29.15
	Feb 21, 2025 4:58:50 PM	22748	AROZ, AGUSTINE	POLICE	UL	City Facility	\$2.3510	4.100	\$9.64
	Feb 21, 2025 4:33:17 PM	22862	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 21, 2025 4:33:40 PM	22786	SCERO, JARETT	POLICE	UL	City Facility	\$2.3510	9.200	\$21.63
	Feb 21, 2025 4:39:34 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3510	7.800	\$18.34
	Feb 22, 2025 12:32:50 PM	23388	OGAN, JENNIFER	POLICE	UL	City Facility	\$2.3510	12.500	\$29.39
	Feb 22, 2025 12:45:52 PM	23102	GARNETT, KYLE	POLICE	UL	City Facility	\$2.3510	9.200	\$21.63
	Feb 22, 2025 12:47:30 PM	23233	CARRILLO, FRANCISCO	POLICE	UL	City Facility	\$2.3510	12.300	\$28.92
	Feb 22, 2025 12:12:11 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3510	8.300	\$19.51
	Feb 22, 2025 12:03:16 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3510	0.100	\$0.24
	Feb 21, 2025 11:34:44 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3510	13.700	\$32.21
	Feb 22, 2025 12:24:53 AM	22970	JUAREZ, CAMERON	POLICE	UL	City Facility	\$2.3510	11.600	\$27.27
	Feb 22, 2025 3:03:04 AM	23100	JENSEN, PHILIP	POLICE	UL	San Angelo Airport	\$2.3510	10.700	\$25.16
	Feb 22, 2025 3:14:36 AM	23375	ELMLEY, ELYSSA	POLICE PATROL	UL	San Angelo Airport	\$2.3510	9.300	\$21.86
	Feb 22, 2025 5:09:10 AM	22889	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3510	13.500	\$31.74
	Feb 22, 2025 5:51:47 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.3510	6.900	\$16.22
	Feb 22, 2025 5:59:11 AM	23101	CERCONE, RICHARD	POLICE	UL	San Angelo Airport	\$2.3510	8.600	\$20.22
	Feb 22, 2025 6:03:18 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.3510	10.100	\$23.75
	Feb 22, 2025 8:53:18 AM	23371	WILLIAMS, DANIEL	POLICE	UL	City Facility	\$2.3510	15.200	\$35.74

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 22, 2025 6:32:24 PM	22786	DIAZ, DANIELA	POLICE	UL	City Facility	\$2.3510	8.600	\$20.22
	Feb 22, 2025 6:32:52 PM	22748	ANGLIN, LINDSAY	POLICE	UL	City Facility	\$2.3510	9.700	\$22.80
	Feb 22, 2025 6:29:09 PM	22862	FOWLER, ERIK	POLICE	UL	City Facility	\$2.3510	9.000	\$21.16
	Feb 22, 2025 4:17:56 PM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.3510	9.600	\$22.57
	Feb 22, 2025 4:18:51 PM	22971	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3510	8.600	\$20.22
	Feb 22, 2025 4:21:08 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3510	9.000	\$21.16
	Feb 22, 2025 4:23:38 PM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3510	8.200	\$19.28
	Feb 22, 2025 4:29:00 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.3510	7.100	\$16.69
	Feb 22, 2025 4:28:37 PM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.3510	9.300	\$21.86
	Feb 22, 2025 4:50:27 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3510	6.300	\$14.81
	Feb 22, 2025 5:08:45 PM	23082	SOTO, CHRISSELVA	POLICE	UL	City Facility	\$2.3510	16.000	\$37.62
	Feb 24, 2025 9:05:09 PM	23374	FRANCHUK, NICHOLAS	POLICE	UL	City Facility	\$2.3450	10.200	\$23.92
	Feb 24, 2025 7:18:39 PM	22786	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.3450	11.500	\$26.97
	Feb 24, 2025 7:18:08 PM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.3450	12.400	\$29.08
	Feb 24, 2025 6:20:18 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.3450	11.900	\$27.91
	Feb 24, 2025 6:23:59 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	City Facility	\$2.3450	11.400	\$26.73
	Feb 24, 2025 6:25:36 PM	22750	FLORES, FRANCISCO	POLICE	UL	City Facility	\$2.3450	4.400	\$10.32
	Feb 24, 2025 6:33:14 PM	22889	LINDSEY, MYA	POLICE	UL	City Facility	\$2.3450	7.700	\$18.06
	Feb 24, 2025 6:56:01 PM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.3450	8.500	\$19.93
	Feb 24, 2025 6:59:18 PM	23225	HOLDER, SHAWN	POLICE	UL	City Facility	\$2.3450	15.200	\$35.64
	Feb 24, 2025 6:12:39 PM	23324	FINCHER, JOEL	POLICE	UL	City Facility	\$2.3450	15.700	\$36.82
	Feb 24, 2025 6:18:46 PM	23377	HELTON, MICHAEL	POLICE	UL	City Facility	\$2.3450	8.400	\$19.70
	Feb 23, 2025 5:34:42 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.3510	8.900	\$20.92
	Feb 23, 2025 5:54:18 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.3510	15.600	\$36.68
	Feb 23, 2025 5:56:10 AM	22970	JUAREZ, CAMERON	POLICE	UL	City Facility	\$2.3510	12.200	\$28.68
	Feb 23, 2025 6:02:30 AM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.3510	8.300	\$19.51
	Feb 22, 2025 5:16:24 PM	22963	GODINES, ANTHONY	POLICE	UL	City Facility	\$2.3510	6.100	\$14.34
	Feb 22, 2025 6:40:27 PM	22863	MORENO, CODY	POLICE	UL	City Facility	\$2.3510	8.500	\$19.98
	Feb 22, 2025 6:59:49 PM	22519	BOWHAY, WILLIAM	POLICE	UL	City Facility	\$2.3510	20.000	\$47.02

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 4:12:17 PM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3520	8.600	\$20.23
	Feb 26, 2025 4:19:39 PM	22960	BRADY, JALEN	POLICE	UL	City Facility	\$2.3520	8.200	\$19.29
	Feb 26, 2025 4:20:03 PM	22867	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.3520	10.600	\$24.93
	Feb 26, 2025 4:16:14 PM	22959	INGRAM, NICOLAS	POLICE	UL	City Facility	\$2.3520	7.200	\$16.93
	Feb 26, 2025 4:25:41 PM	22971	COURTER, MATTHEW	POLICE	UL	City Facility	\$2.3520	11.500	\$27.05
	Feb 26, 2025 4:33:00 PM	22862	SCERO, JARETT	POLICE	UL	City Facility	\$2.3520	9.200	\$21.64
	Feb 26, 2025 3:21:43 PM	23250	GARCIA, JONATHAN	POLICE	UL	City Facility	\$2.3520	12.300	\$28.93
	Feb 26, 2025 3:34:44 PM	2	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3520	14.500	\$34.10
	Feb 26, 2025 3:01:50 PM	23192	HARTNETT, MARCUS	POLICE	UL	City Facility	\$2.3520	11.900	\$27.99
	Feb 26, 2025 2:49:58 PM	23438	BALDWIN, MATTHEW	POLICE	UL	City Facility	\$2.3520	13.200	\$31.05
	Feb 26, 2025 2:57:56 PM	23354	CARPENTER, RANDY	POLICE	UL	City Facility	\$2.3520	12.400	\$29.16
	Feb 26, 2025 2:35:54 PM	22788	BARKER, CHARLES	POLICE	UL	City Facility	\$2.3520	12.700	\$29.87
	Feb 26, 2025 1:50:03 PM	23098	COBB, MARIUS	POLICE	UL	City Facility	\$2.3520	14.300	\$33.63
	Feb 26, 2025 1:15:29 PM	23084	GIBSON, THOMAS	POLICE	UL	City Facility	\$2.3520	13.700	\$32.22
	Feb 26, 2025 12:57:09 PM	23109	MCGEE, TRAVIS	POLICE	UL	City Facility	\$2.3520	14.300	\$33.63
	Feb 26, 2025 1:03:48 PM	23151	CHEGWIDDEN, JASON	POLICE	UL	San Angelo Airport	\$2.3520	15.500	\$36.46
	Feb 26, 2025 1:28:25 PM	22964	RODRIGUEZ, PEDRO	POLICE	UL	City Facility	\$2.3520	12.000	\$28.22
	Feb 26, 2025 1:34:49 PM	23250	GARCIA, JONATHAN	POLICE	UL	City Facility	\$2.3520	3.100	\$7.29
	Feb 26, 2025 1:43:00 PM	23367	GONZALES, TRAVIS	POLICE	UL	San Angelo Airport	\$2.3520	10.900	\$25.64
	Feb 26, 2025 1:42:35 PM	22504	WIKE, BARRY	LAKE & PARK PATROL	UL	City Facility	\$2.3520	20.900	\$49.16
	Feb 26, 2025 8:04:57 AM	23366	MATA, JOE	POLICE	UL	City Facility	\$2.3520	17.700	\$41.63
	Feb 26, 2025 8:16:45 AM	23376	RATCLIFFE, BARRY	POLICE	UL	City Facility	\$2.3520	12.900	\$30.34
	Feb 26, 2025 8:13:28 AM	23386	SPENCER, BENJAMIN	POLICE	UL	City Facility	\$2.3520	15.500	\$36.46
	Feb 26, 2025 2:09:54 AM	22214	LLAMAS, RICHARD	POLICE	UL	City Facility	\$2.3450	14.200	\$33.30
	Feb 26, 2025 3:02:13 AM	23130	ELROD, BOBBY	POLICE	UL	City Facility	\$2.3450	9.700	\$22.75
	Feb 26, 2025 5:32:42 AM	23133	HAWTHORNE, MATTHEW	POLICE	UL	San Angelo Airport	\$2.3450	5.800	\$13.60
	Feb 26, 2025 6:01:32 AM	23101	CERCONE, RICHARD	POLICE	UL	City Facility	\$2.3450	7.000	\$16.42
	Feb 26, 2025 6:04:37 AM	23219	MARTINEZ, LUKE	POLICE	UL	City Facility	\$2.3450	8.500	\$19.93
	Feb 26, 2025 6:11:09 AM	23391	DELACRUZ, CJ	POLICE	UL	City Facility	\$2.3450	8.000	\$18.76

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 6:14:00 AM	23099	REYES, MANUEL	POLICE	UL	City Facility	\$2.3450	11.400	\$26.73
	Feb 26, 2025 6:18:27 AM	23392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3450	8.100	\$18.99
	Feb 26, 2025 6:25:30 AM	22864	HERNANDEZ, RODRIGO	POLICE	UL	City Facility	\$2.3450	12.100	\$28.37
	Feb 26, 2025 6:39:15 AM	22866	RAMIREZ, CARLOS	POLICE	UL	City Facility	\$2.3450	12.500	\$29.31
	Feb 26, 2025 10:36:28 AM	23371	WILLIAMS, DANIEL	POLICE	UL	San Angelo Airport	\$2.3520	13.600	\$31.99
	Feb 26, 2025 10:44:58 AM	23072	TORRES, VICTORIA	POLICE	UL	City Facility	\$2.3520	13.200	\$31.05
	Feb 26, 2025 9:23:59 AM	23394	COFFMAN, TIMOTHY	POLICE	UL	City Facility	\$2.3520	7.400	\$17.40
	Feb 26, 2025 9:45:23 AM	11885	JACKSON, FRANK	POLICE	UL	City Facility	\$2.3520	11.200	\$26.34
	Feb 26, 2025 9:56:29 AM	23076	STEWART, BRUCE	POLICE	UL	San Angelo Airport	\$2.3520	12.600	\$29.64
	Feb 26, 2025 12:27:08 PM	23243	MORRIS, MIKE	POLICE	UL	City Facility	\$2.3520	9.800	\$23.05
	Feb 26, 2025 12:36:59 PM	23439	LOPEZ, TONY	POLICE	UL	City Facility	\$2.3520	18.800	\$44.22
	Feb 26, 2025 11:24:30 AM	23191	SCHULTZ, JOSHUA	POLICE	UL	City Facility	\$2.3520	15.200	\$35.75
	Feb 26, 2025 11:45:41 AM	23383	SALMON, EDUARDO	POLICE	UL	City Facility	\$2.3520	11.800	\$27.75
	Feb 25, 2025 1:24:17 PM	23384	HARRELL, SHELDON	POLICE	UL	City Facility	\$2.3450	15.700	\$36.82
	Feb 25, 2025 4:16:53 PM	22954	CORTEZ, FILIPE	POLICE	UL	City Facility	\$2.3450	7.700	\$18.06
	Feb 25, 2025 4:16:29 PM	22677	CROWDER, DANIELLE	POLICE	UL	City Facility	\$2.3450	14.200	\$33.30
	Feb 25, 2025 4:21:10 PM	22867	RADER, KYLE	POLICE	UL	City Facility	\$2.3450	8.000	\$18.76
	Feb 25, 2025 4:26:57 PM	22786	WILLIAMS, PARKER	POLICE	UL	City Facility	\$2.3450	7.500	\$17.59
	Feb 25, 2025 2:02:12 PM	23387	WARRICK, ERIC	POLICE	UL	City Facility	\$2.3450	10.500	\$24.62
	Feb 25, 2025 7:04:20 PM	23133	HAWTHORNE, MATTHEW	POLICE	UL	City Facility	\$2.3450	10.900	\$25.56
	Feb 25, 2025 6:09:00 PM	22892	RAMIREZ, JOSHUA	POLICE	UL	San Angelo Airport	\$2.3450	8.400	\$19.70
	Feb 25, 2025 11:38:31 PM	23077	FOLMAR, TRAVIS	POLICE	UL	City Facility	\$2.3450	17.700	\$41.51
	Feb 26, 2025 12:20:49 AM	22861	GANN, JASON	POLICE	UL	City Facility	\$2.3450	11.000	\$25.80
	Feb 25, 2025 6:27:03 PM	22959	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.3450	7.700	\$18.06
	Feb 25, 2025 6:27:35 PM	22960	SANCHEZ, MARIO	POLICE	UL	City Facility	\$2.3450	5.600	\$13.13
	Feb 25, 2025 6:38:50 PM	23106	GARZA, DANNY`L	POLICE	UL	City Facility	\$2.3450	9.600	\$22.51
	Feb 25, 2025 6:11:47 PM	22963	FEDDERSEN, ERIN	POLICE	UL	City Facility	\$2.3450	9.500	\$22.28
	Feb 25, 2025 6:12:21 PM	22889	LINDSEY, MYA	POLICE	UL	City Facility	\$2.3450	7.200	\$16.88
	Feb 25, 2025 6:12:53 PM	23128	HARDING, ANNA	POLICE	UL	City Facility	\$2.3450	7.100	\$16.65

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 25, 2025 6:05:10 PM	22970	PRANAM, ALEXANDER	POLICE	UL	City Facility	\$2.3450	7.200	\$16.88
	Feb 25, 2025 4:12:06 PM	23083	CLAYTON, BRANDON	POLICE	UL	City Facility	\$2.3450	9.900	\$23.22
	Feb 25, 2025 5:37:34 PM	23232	MOORE, CORY	POLICE	UL	San Angelo Airport	\$2.3450	8.600	\$20.17
	Feb 25, 2025 7:29:41 AM	22972	WEBBER, MICHAEL	POLICE	UL	City Facility	\$2.3450	7.600	\$17.82
	Feb 25, 2025 7:08:44 AM	23073	MARTINEZ, STEVEN	POLICE	UL	City Facility	\$2.3450	18.100	\$42.44
	Feb 24, 2025 7:26:11 PM	22959	SANCHEZ, JAVIER	POLICE	UL	City Facility	\$2.3450	7.700	\$18.06
	Feb 24, 2025 11:31:11 PM	22988	SPEARMAN, ROGER	POLICE	UL	City Facility	\$2.3450	11.300	\$26.50
	Feb 25, 2025 5:26:47 AM	22957	SCHNEIDER, CHRIS	POLICE	UL	City Facility	\$2.3450	7.600	\$17.82
	Feb 25, 2025 5:56:43 AM	23387	ALVAREZ, ALBERT	POLICE	UL	City Facility	\$2.3450	10.000	\$23.45
	Feb 25, 2025 6:00:23 AM	23232	MOORE, CORY	POLICE	UL	City Facility	\$2.3450	9.200	\$21.57
	Feb 25, 2025 6:00:45 AM	23382	MARTIN, DAKOTA	POLICE	UL	City Facility	\$2.3450	15.500	\$36.35
	Feb 25, 2025 6:10:57 AM	23390	FRANCIS, RAYMOND	POLICE	UL	City Facility	\$2.3450	6.600	\$15.48
	Feb 25, 2025 8:24:06 AM	23325	TUMLINSON, TANNER	POLICE	UL	City Facility	\$2.3450	17.200	\$40.33
	Feb 25, 2025 9:31:11 AM	22841	CORTINAS, LOUIS	POLICE	UL	City Facility	\$2.3450	15.700	\$36.82
	Feb 25, 2025 8:41:26 AM	23100	JENSEN, PHILIP	POLICE	UL	City Facility	\$2.3450	13.400	\$31.42
	Feb 25, 2025 9:03:28 AM	23373	CALVERT, MARK	POLICE	UL	City Facility	\$2.3450	14.100	\$33.06
	Feb 25, 2025 10:04:17 AM	22960	Lemley, Robert	POLICE	UL	City Facility	\$2.3450	8.200	\$19.23
	Feb 25, 2025 11:51:40 AM	23102	GARNETT, KYLE	POLICE	UL	San Angelo Airport	\$2.3450	11.800	\$27.67
	Feb 25, 2025 12:11:27 PM	22862	Bilbo, Israel	POLICE PATROL	UL	City Facility	\$2.3450	12.200	\$28.61
	Feb 25, 2025 12:13:00 PM	23326	MITCHELL, RODNEY	POLICE	UL	City Facility	\$2.3450	8.400	\$19.70
	Feb 25, 2025 1:13:58 PM	23020	YOUNTS, JOSHUA	POLICE	UL	City Facility	\$2.3450	13.200	\$30.95
	Feb 25, 2025 12:16:19 PM	23135	MORRIS, CHRISTOPHER	POLICE	UL	City Facility	\$2.3450	6.000	\$14.07
	Feb 25, 2025 12:33:52 PM	23231	CASTRO, ANDRES	POLICE	UL	City Facility	\$2.3450	14.400	\$33.77
<b>POLICE Totals</b>				<b>972</b>			<b>\$2,281.7740</b>	<b>10,609.100</b>	<b>\$24,879.82</b>
<b>PUBLIC HOUSING AUTHORITY</b>									
	Feb 25, 2025 3:23:41 PM	22846	RIOJAS, FRED	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4450	13.000	\$31.78
	Feb 26, 2025 8:48:19 AM	22852	PERSINGER, DAVID	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4520	13.600	\$33.35
	Feb 27, 2025 8:28:15 AM	22979	Machado, Samuel	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4520	13.300	\$32.61
	Feb 27, 2025 8:29:15 AM	22854	SERRANO, MANUEL	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4520	21.700	\$53.21

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 27, 2025 9:07:15 AM	23318	SORRELLS, WADE	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4520	28.000	\$68.66
	Feb 13, 2025 1:28:34 PM	23155	MORENO, YOEL	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3780	18.500	\$43.99
	Feb 13, 2025 2:34:52 PM	23227	HOGAN, SLADE	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3780	16.100	\$38.29
	Feb 5, 2025 8:57:34 AM	22854	SERRANO, MANUEL	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3220	19.200	\$44.58
	Feb 5, 2025 9:17:09 AM	22846	RIOJAS, FRED	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3220	12.100	\$28.10
	Feb 12, 2025 8:43:57 AM	22854	SERRANO, MANUEL	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3780	21.500	\$51.13
	Feb 12, 2025 1:12:45 PM	23420	BAILEY, BRANDON	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3780	18.400	\$43.76
	Feb 4, 2025 8:10:04 AM	22852	PERSINGER, DAVID	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3260	13.000	\$30.24
	Feb 11, 2025 8:55:16 AM	22846	RIOJAS, FRED	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.3770	12.500	\$29.71
	Feb 14, 2025 9:21:33 AM	22979	Machado, Samuel	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.7430	14.600	\$40.05
	Feb 14, 2025 8:51:33 AM	22852	PERSINGER, DAVID	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.7430	12.200	\$33.46
	Feb 20, 2025 12:48:14 PM	23009	VENEGAS, ADRIAN	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4640	18.000	\$44.35
	Feb 20, 2025 8:47:36 AM	22854	SERRANO, MANUEL	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4640	21.800	\$53.72
	Feb 24, 2025 11:24:07 AM	23420	BAILEY, BRANDON	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4510	12.200	\$29.90
	Feb 19, 2025 10:59:27 AM	22846	RIOJAS, FRED	PUBLIC HOUSING AUTHORITY	UL	City Facility	\$2.4640	12.000	\$29.57
<b>PUBLIC HOUSING AUTHORITY Totals</b>				<b>19</b>			<b>\$46.4410</b>	<b>311.700</b>	<b>\$760.46</b>
<b>RECREATION</b>									
	Feb 17, 2025 1:05:13 PM	23066	PEREZ, JOHN	RECREATION	UL	City Facility	\$2.6430	5.800	\$15.33
	Feb 14, 2025 9:28:59 AM	23418	PEREZ, JOHN	RECREATION	UL	City Facility	\$2.6430	27.100	\$71.63
<b>RECREATION Totals</b>				<b>2</b>			<b>\$5.2860</b>	<b>32.900</b>	<b>\$86.96</b>
<b>RIO CONCHO SPORTS COMPLEX</b>									
	Feb 14, 2025 9:17:09 AM	56	TAPIA, ADRIAN	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.6430	2.900	\$7.66
	Feb 14, 2025 8:31:39 AM	22908	DRAG, JOSEPH	PARKS	UL	City Facility	\$2.4430	2.900	\$7.08
	Feb 11, 2025 1:35:07 PM	22056	Owen, Michael	PARKS	UL	City Facility	\$2.0780	3.800	\$7.90
	Feb 10, 2025 1:34:41 PM	56	CARDENAS, CHRIS	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.2770	3.500	\$7.97
	Feb 16, 2025 5:13:58 PM	23304	SMITH, CALEB	PARKS	UL	City Facility	\$2.4430	2.000	\$4.89
	Feb 16, 2025 5:15:45 PM	23304	SMITH, CALEB	PARKS	UL	City Facility	\$2.4430	4.000	\$9.77
	Feb 19, 2025 12:23:33 PM	22096	AGUILAR, DANIEL	PARKS	UL	City Facility	\$2.3640	19.300	\$45.63
	Feb 20, 2025 9:37:29 AM	56	CARDENAS, CHRIS	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.3640	2.300	\$5.44

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 8:24:16 AM	56	CARDENAS, CHRIS	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.2260	2.400	\$5.34
	Feb 13, 2025 12:27:27 PM	22096	AGUILAR, DANIEL	PARKS	UL	City Facility	\$2.2780	9.100	\$20.73
	Feb 27, 2025 1:56:31 PM	22922	SANCHEZ, JOSE	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.1520	3.200	\$6.89
	Feb 27, 2025 8:20:13 AM	22908	DRAG, JOSEPH	PARKS	UL	City Facility	\$2.1520	6.200	\$13.34
	Feb 26, 2025 9:52:36 AM	56	TAPIA, ADRIAN	RIO CONCHO SPORTS COMPLEX	UL	City Facility	\$2.3520	1.800	\$4.23
	Feb 26, 2025 9:21:08 AM	22904	Owen, Michael	PARKS	UL	City Facility	\$2.1520	7.600	\$16.36
<b>RIO CONCHO SPORTS COMPLEX Totals</b>				<b>14</b>			<b>\$32.3670</b>	<b>71.000</b>	<b>\$163.23</b>
<b>ROW/LAKE MAINTENANCE</b>									
	Feb 26, 2025 2:32:54 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	36.900	\$104.57
	Feb 26, 2025 2:41:13 PM	22721	MARTINEZ, RICHARD	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3520	16.100	\$37.87
	Feb 26, 2025 3:04:53 PM	22980	BURKE, SHANE	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3520	8.500	\$19.99
	Feb 25, 2025 2:48:48 PM	22826	JACKSON, KYLE	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3450	11.700	\$27.44
	Feb 25, 2025 1:41:24 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	35.400	\$100.32
	Feb 25, 2025 9:48:32 AM	23395	ALLEY, JAMES	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3450	26.000	\$60.97
	Feb 25, 2025 8:37:58 AM	22873	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.6340	15.700	\$41.35
	Feb 25, 2025 8:35:12 AM	22824	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3450	9.900	\$23.22
	Feb 21, 2025 2:45:13 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	32.900	\$93.24
	Feb 20, 2025 2:08:59 PM	22824	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3640	14.200	\$33.57
	Feb 20, 2025 2:21:44 PM	22980	DEHOYOS, MARIO	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3640	9.100	\$21.51
	Feb 20, 2025 2:32:19 PM	23159	PARKER, ALLEN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3640	22.200	\$52.48
	Feb 21, 2025 8:52:20 AM	25	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	28.100	\$79.64
	Feb 27, 2025 8:27:33 AM	11821	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.8690	6.800	\$19.51
	Feb 28, 2025 2:51:45 PM	22980	BURKE, SHANE	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.3520	5.400	\$12.70
	Feb 28, 2025 2:34:33 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8690	34.600	\$99.27
	Feb 28, 2025 2:42:56 PM	23175	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.6690	67.200	\$179.36
	Feb 13, 2025 2:04:50 PM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7560	46.800	\$128.98
	Feb 5, 2025 2:12:37 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7420	35.800	\$98.16
	Feb 5, 2025 2:27:00 PM	23175	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.5420	79.800	\$202.85

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 5, 2025 3:08:35 PM	22721	DEHOYOS, MARIO	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2220	9.600	\$21.33
	Feb 6, 2025 1:39:41 PM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7420	41.500	\$113.79
	Feb 14, 2025 8:15:17 AM	25	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7560	33.000	\$90.95
	Feb 3, 2025 2:30:08 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7290	29.600	\$80.78
	Feb 3, 2025 1:47:38 PM	22824	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2260	11.100	\$24.71
	Feb 3, 2025 1:50:37 PM	25	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7290	19.200	\$52.40
	Feb 4, 2025 2:11:26 PM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7420	41.000	\$112.42
	Feb 12, 2025 3:01:05 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7560	29.900	\$82.40
	Feb 24, 2025 11:22:42 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:16:22 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:28:54 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:08:54 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:35:11 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:41:29 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 24, 2025 11:48:01 AM	25	VALESQUEZ, IRVING	FACILITY MAINTENANCE	DL	City Facility	\$2.8340	57.800	\$163.81
	Feb 19, 2025 5:27:59 PM	25	AMADOR, JESSE	WATER DISTRIBUTION	DL	City Facility	\$2.8340	41.500	\$117.61
	Feb 18, 2025 2:20:24 PM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	34.600	\$98.06
	Feb 19, 2025 9:27:02 AM	22837	PARKER, ALLEN	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.8340	14.700	\$41.66
	Feb 10, 2025 1:40:00 PM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7420	40.000	\$109.68
	Feb 10, 2025 10:10:34 AM	23395	ALLEY, JAMES	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2770	19.700	\$44.86
	Feb 10, 2025 9:07:13 AM	25	JUAREZ, BRANDON	STREET & BRIDGE	UL	City Facility	\$2.2770	3.800	\$8.65
	Feb 10, 2025 1:27:58 PM	22824	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2770	17.500	\$39.85
	Feb 7, 2025 2:47:28 PM	22980	BURKE, SHANE	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2770	11.400	\$25.96
	Feb 11, 2025 2:28:42 PM	22980	BURKE, SHANE	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2780	4.600	\$10.48
	Feb 11, 2025 2:11:41 PM	22826	DEHOYOS, MARIO	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2780	19.400	\$44.19
	Feb 11, 2025 2:16:26 PM	22721	PHILLIPS, SHELDON	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2780	8.000	\$18.22
	Feb 11, 2025 2:20:23 PM	23159	PARKER, ALLEN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.2780	15.000	\$34.17
	Feb 24, 2025 9:28:49 AM	23409	LAWHON, PATRICK	ROW/LAKE MAINTENANCE	UL	City Facility	\$2.3510	30.400	\$71.47
	Feb 24, 2025 7:46:54 AM	25	ARCHIPOLO, KEVIN	STREET & BRIDGE	UL	City Facility	\$2.3510	2.100	\$4.94

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 8:24:32 AM	22824	ASCHILEAN, DORIN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.6430	12.600	\$33.30
	Feb 11, 2025 9:25:59 AM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7420	15.200	\$41.68
	Feb 14, 2025 2:25:47 PM	23159	PARKER, ALLEN	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.6430	7.500	\$19.82
	Feb 14, 2025 1:34:11 PM	22837	GARCIA, DAVID	ROW/LAKE MAINTENANCE	DL	San Angelo Airport	\$2.7560	40.700	\$112.17
	Feb 14, 2025 2:28:16 PM	22826	PHILLIPS, SHELDON	ROW/LAKE MAINTENANCE	UL	San Angelo Airport	\$2.6430	13.100	\$34.62
<b>ROW/LAKE MAINTENANCE Totals</b>				<b>54</b>			<b>\$139.9330</b>	<b>1,527.600</b>	<b>\$4,111.22</b>
<b>RUST STREET MINISTRIES</b>									
	Feb 7, 2025 11:05:38 AM	22683	STREET22683, RUST	RUST STREET MINISTRIES	UL	City Facility	\$2.3770	29.700	\$70.60
	Feb 28, 2025 9:26:43 AM	22683	STREET22683, RUST	RUST STREET MINISTRIES	UL	City Facility	\$2.4520	23.000	\$56.40
<b>RUST STREET MINISTRIES Totals</b>				<b>2</b>			<b>\$4.8290</b>	<b>52.700</b>	<b>\$127.00</b>
<b>SAISD - ATHLETICS</b>									
	Feb 25, 2025 10:37:08 AM	80151	BURRELL, JORDAN	SAISD - CHS CAREER&TECH	UL	City Facility	\$2.2450	29.400	\$66.00
	Feb 6, 2025 9:23:28 AM	80151	BURRELL, JORDAN	SAISD - CHS CAREER&TECH	UL	City Facility	\$2.1770	29.500	\$64.22
	Feb 4, 2025 12:45:29 PM	80150	MCCALLIE, BRENT	SAISD	UL	City Facility	\$2.1260	10.200	\$21.69
	Feb 10, 2025 3:04:08 PM	80150	MCCALLIE, BRENT	SAISD	UL	City Facility	\$2.1770	13.300	\$28.95
	Feb 24, 2025 10:02:56 AM	80150	MCCALLIE, BRENT	SAISD	UL	City Facility	\$2.2510	13.000	\$29.26
<b>SAISD - ATHLETICS Totals</b>				<b>5</b>			<b>\$10.9760</b>	<b>95.400</b>	<b>\$210.12</b>
<b>SAISD - CHS CAREER&amp;TECH</b>									
	Feb 23, 2025 11:16:39 AM	80175	WALKER, CHRISTOPHER	SAISD - LVHS CAREER&TECH	UL	City Facility	\$2.2510	25.000	\$56.28
<b>SAISD - CHS CAREER&amp;TECH Totals</b>				<b>1</b>			<b>\$2.2510</b>	<b>25.000</b>	<b>\$56.28</b>
<b>SAISD - CO-CURRICULAR</b>									
	Feb 11, 2025 2:32:41 PM	80399	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	26.200	\$69.59
	Feb 11, 2025 1:56:43 PM	80155	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	13.900	\$30.27
	Feb 24, 2025 8:31:26 AM	80428	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2510	19.000	\$42.77
	Feb 24, 2025 8:38:56 AM	80004	TACKETT, LORI	SAISD	DL	City Facility	\$2.7340	24.100	\$65.89
	Feb 16, 2025 2:21:59 PM	80399	VINES, JOHNNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	57.600	\$152.99
	Feb 14, 2025 2:23:09 PM	80453	HERBERT, TIFFANI	SAISD - FOOD SERVICE	UL	City Facility	\$2.6430	10.700	\$28.28
	Feb 14, 2025 11:09:06 AM	80228	IBARRA, CHRYSTAL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	9.900	\$25.18

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 9:23:14 AM	80156	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	20.000	\$43.54
	Feb 11, 2025 8:34:34 AM	80152	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	29.900	\$65.09
	Feb 11, 2025 10:05:34 AM	80212	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6420	114.200	\$301.72
	Feb 10, 2025 10:56:59 AM	80353	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	22.000	\$47.89
	Feb 10, 2025 10:57:36 AM	80428	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	19.500	\$42.45
	Feb 10, 2025 9:20:51 AM	80430	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	8.700	\$18.94
	Feb 10, 2025 5:27:48 AM	80411	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	21.700	\$47.24
	Feb 9, 2025 3:49:18 PM	80226	GARCIA, BENINA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	5.000	\$10.88
	Feb 7, 2025 7:05:32 PM	80398	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	47.700	\$126.02
	Feb 7, 2025 10:05:54 PM	80418	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1770	22.900	\$49.85
	Feb 8, 2025 12:39:27 AM	80210	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	63.700	\$168.30
	Feb 7, 2025 10:21:36 PM	80399	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6420	29.400	\$77.67
	Feb 8, 2025 8:23:05 AM	80002	FRANCO, MAURICIO	SAISD	DL	City Facility	\$2.6420	18.000	\$47.56
	Feb 8, 2025 8:08:19 PM	80396	ARTEAGA, ART	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	38.800	\$102.51
	Feb 8, 2025 9:52:52 PM	80398	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6420	30.100	\$79.52
	Feb 9, 2025 12:11:34 AM	80339	HERNANDEZ, JOE	SAISD	DL	City Facility	\$2.6420	53.100	\$140.29
	Feb 8, 2025 12:12:34 AM	80217	BARTLETT, JIM	SAISD	DL	City Facility	\$2.6420	94.400	\$249.40
	Feb 24, 2025 9:57:31 AM	80156	GACQUES, LARRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	29.000	\$65.28
	Feb 24, 2025 9:37:54 AM	80152	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2510	30.400	\$68.43
	Feb 24, 2025 9:45:30 AM	80353	GACQUES, LARRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	16.500	\$37.14
	Feb 24, 2025 9:48:55 AM	80429	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2510	6.600	\$14.86
	Feb 19, 2025 5:03:43 PM	80152	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	13.800	\$31.24
	Feb 19, 2025 5:13:16 PM	80155	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	13.800	\$31.24
	Feb 19, 2025 8:12:53 PM	80212	HERNANDEZ, JOE	SAISD	DL	City Facility	\$2.7340	91.500	\$250.16
	Feb 24, 2025 12:09:32 PM	80170	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2450	12.400	\$27.84
	Feb 24, 2025 11:09:26 AM	80004	TACKETT, LORI	SAISD	DL	City Facility	\$2.7340	47.000	\$128.50
	Feb 20, 2025 9:04:16 AM	80411	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	12.700	\$28.75
	Feb 20, 2025 9:51:47 AM	80396	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	25.900	\$70.81
	Feb 18, 2025 11:02:05 PM	80216	HUCKABEE, BOBBY	SAISD	DL	City Facility	\$2.7340	44.400	\$121.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 18, 2025 11:13:30 PM	80399	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.7340	34.800	\$95.14
	Feb 18, 2025 11:14:15 PM	80398	BARTLETT, JIM	SAISD	DL	City Facility	\$2.7340	42.700	\$116.74
	Feb 18, 2025 10:29:45 AM	80230	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2710	14.800	\$33.61
	Feb 18, 2025 11:08:44 AM	80004	TACKETT, LORI	SAISD	DL	City Facility	\$2.7340	72.600	\$198.49
	Feb 17, 2025 6:58:55 AM	80428	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.5430	23.100	\$58.74
	Feb 17, 2025 7:00:02 AM	80152	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	27.200	\$69.17
	Feb 17, 2025 7:30:42 AM	80352	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.5430	7.000	\$17.80
	Feb 17, 2025 7:37:57 AM	80155	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	30.500	\$77.56
	Feb 17, 2025 9:58:38 AM	80171	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	7.400	\$18.82
	Feb 17, 2025 10:13:13 AM	80216	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	59.700	\$158.56
	Feb 17, 2025 8:53:54 AM	80156	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.5430	17.100	\$43.49
	Feb 17, 2025 9:20:05 AM	80170	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	8.900	\$22.63
	Feb 17, 2025 9:21:40 AM	80429	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	19.900	\$50.61
	Feb 16, 2025 11:20:00 PM	80216	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.6560	67.000	\$177.95
	Feb 17, 2025 8:43:26 AM	80430	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	14.400	\$36.62
	Feb 17, 2025 1:57:49 PM	80225	RIVAS, ERIC	SAISD	UL	City Facility	\$2.5430	21.300	\$54.17
	Feb 17, 2025 9:00:15 PM	80216	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	38.000	\$100.93
	Feb 17, 2025 11:17:53 PM	80398	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6560	32.800	\$87.12
	Feb 18, 2025 12:50:59 AM	80212	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	72.900	\$193.62
	Feb 18, 2025 1:18:34 AM	80399	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	61.600	\$163.61
	Feb 18, 2025 9:34:22 AM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	33.200	\$90.77
	Feb 5, 2025 5:15:56 AM	80430	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	4.300	\$9.14
	Feb 5, 2025 5:22:58 AM	80170	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	4.400	\$9.35
	Feb 4, 2025 11:37:02 PM	80396	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6420	25.600	\$67.64
	Feb 5, 2025 12:08:55 AM	80212	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	84.300	\$222.72
	Feb 5, 2025 12:32:22 AM	80210	HUCKABEE, BOBBY	SAISD	DL	City Facility	\$2.6420	66.700	\$176.22
	Feb 5, 2025 12:42:23 AM	80399	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6420	44.500	\$117.57
	Feb 3, 2025 11:02:00 AM	80170	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	17.400	\$36.99
	Feb 3, 2025 10:49:18 AM	80156	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	25.800	\$54.85

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 10:37:08 AM	80429	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	6.000	\$12.76
	Feb 4, 2025 9:58:23 AM	80396	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6290	38.100	\$100.16
	Feb 12, 2025 1:47:04 PM	80399	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	23.000	\$61.09
	Feb 12, 2025 1:38:24 PM	80170	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	29.600	\$64.47
	Feb 2, 2025 2:53:38 AM	80210	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6290	118.000	\$310.22
	Feb 12, 2025 6:23:48 PM	80226	GARCIA, BENINA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	10.200	\$22.22
	Feb 3, 2025 5:54:43 AM	80152	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	16.900	\$35.93
	Feb 3, 2025 6:18:54 AM	80155	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	19.700	\$41.88
	Feb 3, 2025 8:42:15 AM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	55.100	\$144.86
	Feb 11, 2025 9:32:37 PM	80398	BARTLETT, JIM	SAISD	DL	City Facility	\$2.6560	38.800	\$103.05
	Feb 11, 2025 9:49:21 PM	80396	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	25.100	\$66.67
	Feb 1, 2025 12:01:43 AM	80212	BARTLETT, JIM	SAISD	DL	City Facility	\$2.6290	45.200	\$118.83
	Feb 12, 2025 11:17:45 AM	80187	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	21.700	\$47.26
	Feb 1, 2025 10:20:39 PM	80399	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	46.000	\$120.93
	Feb 1, 2025 5:50:17 PM	80418	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	21.400	\$45.50
	Feb 6, 2025 9:25:45 AM	80002	ADAMSON, JAKE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	11.500	\$30.38
	Feb 6, 2025 8:19:47 AM	80010	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	77.100	\$203.70
	Feb 6, 2025 8:33:52 AM	80315	IBARRA, CHRYSTAL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	7.800	\$16.98
	Feb 6, 2025 11:02:50 AM	80352	HOLGUIN, ABRAM	SAISD	UL	City Facility	\$2.1770	25.400	\$55.30
	Feb 6, 2025 11:04:42 AM	80411	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	18.500	\$40.27
	Feb 6, 2025 11:05:32 AM	80428	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.1770	18.000	\$39.19
	Feb 6, 2025 2:41:24 PM	80396	ARTEAGA, ART	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	14.100	\$37.25
	Feb 6, 2025 5:30:34 AM	80353	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1220	27.200	\$57.72
	Feb 5, 2025 12:46:37 PM	80419	FRANCO, MAURICIO	SAISD	UL	City Facility	\$2.1220	21.600	\$45.84
	Feb 5, 2025 10:48:23 AM	80185	BURRELL, JORDAN	SAISD - CHS CAREER&TECH	UL	City Facility	\$2.1220	29.500	\$62.60
	Feb 13, 2025 1:18:23 PM	80399	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	2.800	\$7.44
	Feb 13, 2025 11:06:59 AM	80396	VINES, JOHNNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	16.400	\$43.56
	Feb 13, 2025 11:24:52 AM	80156	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	11.100	\$24.18
	Feb 13, 2025 11:29:37 AM	80430	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.1780	15.200	\$33.11

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 9:30:36 AM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	62.500	\$166.00
	Feb 13, 2025 10:19:40 AM	80002	FRANCO, MAURICIO	SAISD	DL	City Facility	\$2.6560	25.800	\$68.52
	Feb 13, 2025 8:44:19 AM	80430	HOLGUIN, ABRAM	SAISD	UL	City Facility	\$2.1780	3.000	\$6.53
	Feb 7, 2025 12:08:17 PM	80216	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	61.200	\$161.69
	Feb 7, 2025 9:34:59 AM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	66.400	\$175.43
	Feb 14, 2025 5:16:18 AM	80411	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	20.000	\$43.56
	Feb 14, 2025 6:19:56 AM	80216	DEWEY, TIM	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	59.400	\$157.77
	Feb 7, 2025 5:09:19 AM	80398	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6420	56.500	\$149.27
	Feb 6, 2025 11:02:23 PM	80419	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1770	22.100	\$48.11
	Feb 14, 2025 5:41:45 PM	80212	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6560	56.500	\$150.06
	Feb 6, 2025 9:44:53 PM	80418	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1770	23.600	\$51.38
	Feb 14, 2025 11:30:55 PM	80216	DEWEY, TIM	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	55.100	\$146.35
	Feb 15, 2025 8:46:05 PM	80212	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6560	51.800	\$137.58
	Feb 16, 2025 1:39:29 AM	80396	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	38.000	\$100.93
	Feb 16, 2025 1:58:11 AM	80398	ARTEAGA, ART	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	36.100	\$95.88
	Feb 16, 2025 11:09:18 AM	80396	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.6560	8.200	\$21.78
	Feb 26, 2025 1:18:55 AM	80399	BARTLETT, JIM	SAISD	DL	City Facility	\$2.7340	54.700	\$149.55
	Feb 26, 2025 12:02:10 AM	80396	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.7340	41.000	\$112.09
	Feb 25, 2025 10:35:51 PM	80212	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	44.300	\$121.12
	Feb 25, 2025 11:31:19 PM	80398	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	43.400	\$118.66
	Feb 26, 2025 9:13:45 AM	80010	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.7340	78.900	\$215.71
	Feb 26, 2025 8:17:41 AM	80228	IBARRA, CHRYSTAL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	8.400	\$18.92
	Feb 21, 2025 9:09:41 AM	80430	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	24.400	\$54.92
	Feb 21, 2025 12:36:01 PM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	62.600	\$171.15
	Feb 21, 2025 3:54:12 PM	80453	HERBERT, TIFFANI	SAISD - FOOD SERVICE	UL	City Facility	\$2.3510	3.000	\$7.05
	Feb 21, 2025 8:34:03 PM	80399	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	35.500	\$97.06
	Feb 21, 2025 11:19:15 PM	80212	VINES, JOHNNY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	42.900	\$117.29
	Feb 21, 2025 11:21:48 PM	80396	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.7340	31.400	\$85.85
	Feb 21, 2025 10:26:35 PM	80398	BARTLETT, JIM	SAISD	DL	City Facility	\$2.7340	34.000	\$92.96

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 22, 2025 7:26:04 PM	80396	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.7340	27.000	\$73.82
	Feb 22, 2025 11:13:26 PM	80216	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.7340	100.200	\$273.95
	Feb 23, 2025 12:58:07 AM	80398	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	51.400	\$140.53
	Feb 24, 2025 10:40:34 PM	80212	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	64.400	\$176.07
	Feb 28, 2025 9:56:23 AM	80429	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2520	10.000	\$22.52
	Feb 28, 2025 10:07:11 AM	80152	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2520	11.100	\$25.00
	Feb 28, 2025 2:51:41 PM	80002	ROACH, LEON	SAISD - MAINTENANCE	DL	City Facility	\$2.7690	21.000	\$58.15
	Feb 28, 2025 3:53:40 PM	80227	RAMON, DEBBIE	SAISD	UL	City Facility	\$2.2520	13.100	\$29.50
	Feb 28, 2025 4:59:59 PM	80171	ROACH, LEON	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	21.500	\$48.42
	Feb 27, 2025 8:31:38 AM	80187	MARTIN, KENT	SAISD - TECHNOLOGY	UL	City Facility	\$2.2520	16.400	\$36.93
	Feb 27, 2025 8:41:38 AM	80008	FRY, GARY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	62.600	\$173.34
	Feb 27, 2025 7:17:50 AM	80216	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7690	53.000	\$146.76
	Feb 27, 2025 9:11:40 AM	80419	HOLGUIN, ABRAM	SAISD	UL	City Facility	\$2.2520	10.100	\$22.75
	Feb 27, 2025 9:55:37 AM	80353	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2520	24.100	\$54.27
	Feb 27, 2025 9:56:30 AM	80171	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	8.400	\$18.92
	Feb 27, 2025 11:04:42 AM	80411	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	19.600	\$44.14
	Feb 27, 2025 11:11:03 AM	80004	TACKETT, LORI	SAISD	DL	City Facility	\$2.7690	56.100	\$155.34
<b>SAISD - CO-CURRICULAR Totals</b>				<b>140</b>			<b>\$347.3100</b>	<b>4,656.100</b>	<b>\$12,007.04</b>
<b>SAISD - FOOD SERVICE</b>									
	Feb 27, 2025 9:14:26 AM	80377	JOST, JORDAN	SAISD - FOOD SERVICE	DL	City Facility	\$2.7690	5.800	\$16.06
	Feb 27, 2025 9:09:42 AM	80377	JOST, JORDAN	SAISD - FOOD SERVICE	DL	City Facility	\$2.7690	21.600	\$59.81
	Feb 27, 2025 1:54:43 PM	80202	MALDONADO, ALBERT	SAISD	UL	City Facility	\$2.2520	24.400	\$54.95
	Feb 6, 2025 10:04:23 AM	80377	JOST, JORDAN	SAISD - FOOD SERVICE	DL	City Facility	\$2.6420	21.500	\$56.80
	Feb 12, 2025 2:01:36 PM	80202	RIFFLE, BOBBY	SAISD - FOOD SERVICE	UL	City Facility	\$2.1780	22.400	\$48.79
	Feb 18, 2025 2:04:27 PM	80377	GRIMES, ROBERT	SAISD - FOOD SERVICE	DL	City Facility	\$2.7340	26.200	\$71.63
<b>SAISD - FOOD SERVICE Totals</b>				<b>6</b>			<b>\$15.3440</b>	<b>121.900</b>	<b>\$308.04</b>
<b>SAISD - GROUNDS</b>									
	Feb 18, 2025 4:40:48 PM	80328	HARRIS, TRAY	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	7.600	\$17.21

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 18, 2025 3:44:54 PM	80374	BARRON, JIMMY	SAISD - GROUNDS	UL	City Facility	\$2.2640	28.800	\$65.20
	Feb 18, 2025 11:25:53 AM	80356	CANTU, JD	SAISD	UL	City Facility	\$2.2640	27.000	\$61.13
	Feb 18, 2025 1:39:10 PM	80317	CARTER, JOHN	SAISD	UL	City Facility	\$2.2640	26.600	\$60.22
	Feb 18, 2025 8:15:08 AM	80330	MORENO, ADOLFO	SAISD - GROUNDS	UL	City Facility	\$2.5430	23.600	\$60.01
	Feb 18, 2025 8:17:38 AM	80145	SPITZER, ROBERT	SAISD	DL	City Facility	\$2.6560	9.200	\$24.44
	Feb 18, 2025 8:23:18 AM	80145	SPITZER, ROBERT	SAISD	UL	City Facility	\$2.5430	24.000	\$61.03
	Feb 18, 2025 8:31:48 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.2710	20.700	\$47.01
	Feb 17, 2025 12:52:38 PM	80145	ANDRADE-SR, MANUAL	SAISD - GROUNDS	UL	City Facility	\$2.5430	20.000	\$50.86
	Feb 17, 2025 8:50:57 AM	80328	HARRIS, TRAY	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	24.300	\$61.79
	Feb 20, 2025 8:54:15 AM	80412	ESCOBEDO, JOSE	SAISD	UL	City Facility	\$2.2640	20.800	\$47.09
	Feb 20, 2025 8:40:05 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.2640	15.900	\$36.00
	Feb 24, 2025 12:58:40 PM	80145	ANDRADE-SR, MANUAL	SAISD - GROUNDS	UL	City Facility	\$2.2450	10.100	\$22.67
	Feb 24, 2025 1:04:15 PM	80129	SPITZER, ROBERT	SAISD	UL	City Facility	\$2.2450	16.900	\$37.94
	Feb 24, 2025 9:49:03 AM	80121	MARTINEZ, EFREN	SAISD - PURCHASING	UL	City Facility	\$2.2510	24.200	\$54.47
	Feb 19, 2025 9:59:58 AM	80125	RADLOFF, KAILEE	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	25.600	\$57.96
	Feb 19, 2025 3:49:04 PM	80201	LOPEZ, JOHNNY	SAISD - GROUNDS	UL	City Facility	\$2.2640	30.100	\$68.15
	Feb 10, 2025 11:03:20 AM	80375	AREVALO, EPIGMENIO	SAISD - GROUNDS	UL	City Facility	\$2.1770	22.600	\$49.20
	Feb 10, 2025 2:24:37 PM	80121	MARTINEZ, EFREN	SAISD - PURCHASING	UL	City Facility	\$2.1770	22.900	\$49.85
	Feb 10, 2025 2:12:40 PM	80356	CANTU, JD	SAISD	UL	City Facility	\$2.1770	24.800	\$53.99
	Feb 14, 2025 9:04:14 AM	80145	LOPEZ, JOHNNY	SAISD - GROUNDS	UL	City Facility	\$2.5430	1.500	\$3.81
	Feb 14, 2025 8:51:02 AM	80145	LOPEZ, JOHNNY	SAISD - GROUNDS	UL	City Facility	\$2.5430	1.200	\$3.05
	Feb 14, 2025 10:56:57 AM	80394	CAMERENA, JOE	SAISD - GROUNDS	UL	City Facility	\$2.6430	22.100	\$58.41
	Feb 1, 2025 7:03:09 AM	80136	GOMEZ, JIMMY	SAISD - GROUNDS	UL	City Facility	\$2.1260	21.400	\$45.50
	Feb 12, 2025 8:08:04 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.1780	17.200	\$37.46
	Feb 4, 2025 8:42:14 AM	80356	CANTU, JD	SAISD	UL	City Facility	\$2.1260	27.300	\$58.04
	Feb 4, 2025 8:09:32 AM	80129	SPITZER, ROBERT	SAISD	UL	City Facility	\$2.1260	37.300	\$79.30
	Feb 4, 2025 8:25:26 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.1260	9.400	\$19.98
	Feb 3, 2025 8:58:09 AM	80147	LOPEZ, JOHNNY	SAISD - GROUNDS	DL	City Facility	\$2.6290	43.400	\$114.10
	Feb 6, 2025 9:51:33 AM	80145	LOPEZ, JOHNNY	SAISD - GROUNDS	UL	City Facility	\$2.1770	37.100	\$80.77

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 8:25:57 AM	80244	RIOS, MIKE	SAISD	UL	City Facility	\$2.1770	4.400	\$9.58
	Feb 6, 2025 8:00:43 AM	80125	RADLOFF, KAILEE	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	23.800	\$51.81
	Feb 6, 2025 2:08:09 PM	80328	HARRIS, TRAY	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	26.000	\$56.60
	Feb 13, 2025 9:08:36 AM	80147	LOPEZ, JOHNNY	SAISD - GROUNDS	DL	City Facility	\$2.6560	37.900	\$100.66
	Feb 13, 2025 11:44:06 AM	80127	GARCIA, TITO	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	16.600	\$36.15
	Feb 13, 2025 12:51:53 PM	80136	GOMEZ, JIMMY	SAISD - GROUNDS	UL	City Facility	\$2.1780	27.700	\$60.33
	Feb 5, 2025 10:19:53 AM	80145	CARTER, JOHN	SAISD	UL	City Facility	\$2.1220	30.000	\$63.66
	Feb 5, 2025 10:09:28 AM	80394	CAMERENA, JOE	SAISD - GROUNDS	UL	City Facility	\$2.2220	22.200	\$49.33
	Feb 5, 2025 10:13:17 AM	80145	CAMERENA, JOE	SAISD - GROUNDS	UL	City Facility	\$2.1220	6.500	\$13.79
	Feb 13, 2025 2:08:09 PM	80337	LOPEZ, JOHNNY	SAISD - GROUNDS	DL	City Facility	\$2.6560	15.000	\$39.84
	Feb 5, 2025 8:33:19 AM	80145	CARTER, JOHN	SAISD	UL	City Facility	\$2.1220	44.800	\$95.07
	Feb 7, 2025 8:32:39 AM	80412	ESCOBEDO, JOSE	SAISD	UL	City Facility	\$2.1770	18.900	\$41.15
	Feb 7, 2025 8:35:54 AM	80145	ESCOBEDO, JOSE	SAISD	UL	City Facility	\$2.1770	9.300	\$20.25
	Feb 27, 2025 3:47:39 PM	80201	LOPEZ, JOHNNY	SAISD - GROUNDS	UL	City Facility	\$2.2520	32.600	\$73.42
	Feb 27, 2025 9:54:38 AM	80356	CANTU, JD	SAISD	UL	City Facility	\$2.2520	28.200	\$63.51
	Feb 27, 2025 8:13:21 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.2520	10.000	\$22.52
	Feb 28, 2025 11:20:48 AM	80127	GARCIA, TITO	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	17.500	\$39.41
	Feb 21, 2025 11:04:41 AM	80394	CAMERENA, JOE	SAISD - GROUNDS	UL	City Facility	\$2.3510	21.000	\$49.37
	Feb 21, 2025 8:08:56 AM	80442	RIOS, MIKE	SAISD	UL	City Facility	\$2.2510	10.000	\$22.51
	Feb 20, 2025 1:39:15 PM	80331	RODRIGUEZ, STEVEN	SAISD	UL	City Facility	\$2.2640	22.300	\$50.49
	Feb 26, 2025 3:00:12 PM	80328	HARRIS, TRAY	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	20.200	\$45.49
	Feb 25, 2025 10:57:31 AM	80136	GOMEZ, JIMMY	SAISD - GROUNDS	UL	City Facility	\$2.2450	29.400	\$66.00
<b>SAISD - GROUNDS Totals</b>				<b>52</b>			<b>\$119.2120</b>	<b>1,117.900</b>	<b>\$2,557.58</b>
<b>SAISD - LVHS CAREER&amp;TECH</b>									
	Feb 4, 2025 9:36:05 AM	80179	TUCKER, PARKS	SAISD	DL	City Facility	\$2.7290	20.000	\$54.58
<b>SAISD - LVHS CAREER&amp;TECH Totals</b>				<b>1</b>			<b>\$2.7290</b>	<b>20.000</b>	<b>\$54.58</b>
<b>SAISD - MAINTENANCE</b>									
	Feb 4, 2025 9:44:55 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.1260	17.300	\$36.78

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 9:46:16 AM	80436	JAMES, DANIYL	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	27.200	\$57.83
	Feb 4, 2025 10:39:55 AM	80107	VALENCIA, BEDER	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	25.300	\$53.79
	Feb 4, 2025 8:14:05 AM	80351	TANGUMA, DAVID	SAISD	UL	City Facility	\$2.1260	26.900	\$57.19
	Feb 4, 2025 8:37:27 AM	80388	RIOS, JIMMY	SAISD	UL	City Facility	\$2.1260	25.700	\$54.64
	Feb 3, 2025 9:09:26 AM	80102	MARTINEZ, HUGO	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	31.300	\$66.54
	Feb 3, 2025 11:06:16 AM	80109	RIFFLE, BOBBY	SAISD - FOOD SERVICE	UL	City Facility	\$2.1260	24.700	\$52.51
	Feb 3, 2025 11:14:16 AM	80371	SMITH, STEVEN	SAISD	UL	City Facility	\$2.1260	25.200	\$53.58
	Feb 3, 2025 10:11:02 AM	80350	BAILEY, RONALD	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	19.600	\$41.67
	Feb 3, 2025 11:21:47 AM	80001	MARTINEZ, MARIO	SAISD - GROUNDS	UL	City Facility	\$2.1260	17.000	\$36.14
	Feb 3, 2025 3:00:19 PM	80114	ORTEGA, MICHAEL	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	20.600	\$43.80
	Feb 5, 2025 8:25:13 AM	80387	ANDRADE-SR, MANUAL	SAISD - GROUNDS	UL	City Facility	\$2.1220	21.100	\$44.77
	Feb 4, 2025 10:59:25 AM	80372	VITEZ, ROBERT	SAISD	UL	City Facility	\$2.1260	17.300	\$36.78
	Feb 4, 2025 11:02:01 AM	80306	MANNING, STANLEY	SAISD	UL	City Facility	\$2.1260	1.900	\$4.04
	Feb 4, 2025 3:22:39 PM	80086	BAILEY, TROY	SAISD - MAINTENANCE	UL	City Facility	\$2.1260	26.400	\$56.13
	Feb 12, 2025 8:27:23 AM	80065	GONZALEZ, OSDAO	SAISD - GROUNDS	UL	City Facility	\$2.1780	0.600	\$1.31
	Feb 12, 2025 8:38:26 AM	80065	GONZALEZ, OSDAO	SAISD - GROUNDS	UL	City Facility	\$2.1780	29.000	\$63.16
	Feb 12, 2025 10:08:38 AM	80305	TORRES, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	32.600	\$71.00
	Feb 12, 2025 10:00:19 AM	80001	MARTINEZ, MARIO	SAISD - GROUNDS	UL	City Facility	\$2.1780	20.700	\$45.08
	Feb 1, 2025 6:43:17 AM	80390	LAWLOR, WINDELL	SAISD	UL	City Facility	\$2.1260	29.100	\$61.87
	Feb 3, 2025 8:19:36 AM	80354	MARTINEZ, AUGUSTINE	SAISD - GROUNDS	UL	City Facility	\$2.1260	34.200	\$72.71
	Feb 7, 2025 9:16:18 AM	80308	MARTINEZ, HUGO	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	23.700	\$51.59
	Feb 7, 2025 8:22:07 AM	80426	CLARK, CLINTON	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	22.000	\$47.89
	Feb 7, 2025 1:10:58 PM	80101	RIVERA, JOEL	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	27.400	\$59.65
	Feb 7, 2025 1:50:59 PM	80393	ALTHAUS, MONTE	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	22.100	\$48.11
	Feb 14, 2025 7:23:20 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.1780	15.600	\$33.98
	Feb 7, 2025 7:26:30 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.1770	17.900	\$38.97
	Feb 13, 2025 2:51:01 PM	80086	BAILEY, TROY	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	23.100	\$50.31
	Feb 13, 2025 1:06:48 PM	80426	CLARK, CLINTON	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	22.600	\$49.22
	Feb 13, 2025 8:38:26 AM	80351	TANGUMA, DAVID	SAISD	UL	City Facility	\$2.1780	26.900	\$58.59

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 8:07:30 AM	80390	LAWLOR, WINDELL	SAISD	UL	City Facility	\$2.1780	28.500	\$62.07
	Feb 6, 2025 1:59:22 PM	80103	HARRIS, WILLIAM	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	24.100	\$52.47
	Feb 6, 2025 8:14:15 AM	80450	GOODWIN, SCOTT	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	19.900	\$43.32
	Feb 6, 2025 10:19:52 AM	80105	RUIZ, MARY	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	14.700	\$32.00
	Feb 6, 2025 8:56:24 AM	80093	TORRES, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	25.500	\$55.51
	Feb 14, 2025 10:02:28 AM	80450	GOODWIN, SCOTT	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	25.900	\$65.86
	Feb 11, 2025 11:14:04 AM	80154	ROUTT, IRA	SAISD	UL	City Facility	\$2.1770	25.900	\$56.38
	Feb 11, 2025 10:49:40 AM	80441	MENDOZA, ALFRED	SAISD	UL	City Facility	\$2.1770	30.000	\$65.31
	Feb 11, 2025 8:47:41 AM	80435	SANTA-ANNA, CARLOS	SAISD	UL	City Facility	\$2.1770	25.500	\$55.51
	Feb 11, 2025 8:53:09 AM	80086	VIGIL, SAMMY	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	31.700	\$69.01
	Feb 24, 2025 9:02:41 AM	80306	MANNING, STANLEY	SAISD	UL	City Facility	\$2.2510	25.700	\$57.85
	Feb 24, 2025 9:05:33 AM	80308	MARTINEZ, HUGO	SAISD - MAINTENANCE	UL	City Facility	\$2.2510	18.400	\$41.42
	Feb 11, 2025 1:57:19 PM	80372	VITEZ, ROBERT	SAISD	UL	City Facility	\$2.1780	17.400	\$37.90
	Feb 11, 2025 11:35:10 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.1780	17.700	\$38.55
	Feb 11, 2025 3:10:30 PM	80084	VALENCIA, BEDER	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	27.900	\$60.77
	Feb 11, 2025 4:32:52 PM	80075	CARDENAS, PEDRO	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	18.700	\$40.73
	Feb 11, 2025 3:41:48 PM	80114	ORTEGA, MICHAEL	SAISD - MAINTENANCE	UL	City Facility	\$2.1780	18.700	\$40.73
	Feb 10, 2025 1:52:19 PM	80306	MANNING, STANLEY	SAISD	UL	City Facility	\$2.1770	26.000	\$56.60
	Feb 10, 2025 4:20:59 PM	80436	JAMES, DANIYL	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	23.500	\$51.16
	Feb 10, 2025 10:28:04 AM	80388	RIOS, JIMMY	SAISD	UL	City Facility	\$2.1770	23.200	\$50.51
	Feb 10, 2025 7:25:59 AM	80109	RIFFLE, BOBBY	SAISD - FOOD SERVICE	UL	City Facility	\$2.1770	17.200	\$37.44
	Feb 7, 2025 2:43:39 PM	80350	BAILEY, RONALD	SAISD - MAINTENANCE	UL	City Facility	\$2.1770	19.100	\$41.58
	Feb 7, 2025 3:38:05 PM	80355	LEIJA, DANNY	SAISD - GROUNDS	UL	City Facility	\$2.1770	21.300	\$46.37
	Feb 19, 2025 2:50:58 PM	80436	JAMES, DANIYL	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	26.300	\$59.54
	Feb 19, 2025 1:14:07 PM	80114	ORTEGA, MICHAEL	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	17.300	\$39.17
	Feb 24, 2025 9:51:59 AM	80001	MARTINEZ, MARIO	SAISD - GROUNDS	UL	City Facility	\$2.2510	14.200	\$31.96
	Feb 19, 2025 3:42:55 PM	80395	TURNER, AJ	SAISD	UL	City Facility	\$2.3640	21.100	\$49.88
	Feb 24, 2025 12:54:39 PM	80387	ANDRADE-SR, MANUAL	SAISD - GROUNDS	UL	City Facility	\$2.2450	20.300	\$45.57
	Feb 24, 2025 10:38:46 AM	80388	RIOS, JIMMY	SAISD	UL	City Facility	\$2.2510	26.500	\$59.65

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 2:48:07 PM	80086	BAILEY, TROY	SAISD - MAINTENANCE	UL	City Facility	\$2.2450	25.300	\$56.80
	Feb 24, 2025 2:25:51 PM	80075	CARDENAS, PEDRO	SAISD - MAINTENANCE	UL	City Facility	\$2.2450	14.700	\$33.00
	Feb 20, 2025 8:58:42 AM	80372	VITEZ, ROBERT	SAISD	UL	City Facility	\$2.2640	20.600	\$46.64
	Feb 20, 2025 9:11:28 AM	80107	VALENCIA, BEDER	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	26.700	\$60.45
	Feb 20, 2025 12:43:44 PM	80393	ALTHAUS, MONTE	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	20.700	\$46.86
	Feb 20, 2025 1:20:44 PM	80105	RUIZ, MARY	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	14.500	\$32.83
	Feb 20, 2025 11:26:17 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.2640	15.600	\$35.32
	Feb 17, 2025 8:37:55 AM	80090	VIGIL, SAMMY	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	21.000	\$53.40
	Feb 17, 2025 1:00:33 PM	80093	TORRES, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	21.400	\$54.42
	Feb 17, 2025 10:57:53 AM	80388	RIOS, JIMMY	SAISD	UL	City Facility	\$2.5430	21.000	\$53.40
	Feb 17, 2025 11:04:36 AM	80350	BAILEY, RONALD	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	20.000	\$50.86
	Feb 17, 2025 2:19:12 PM	80102	JIMENEZ, LEE	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	33.900	\$86.21
	Feb 17, 2025 3:20:37 PM	80103	HARRIS, WILLIAM	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	20.900	\$53.15
	Feb 18, 2025 8:28:08 AM	80355	LEIJA, DANNY	SAISD - GROUNDS	UL	City Facility	\$2.5430	19.300	\$49.08
	Feb 18, 2025 8:23:02 AM	80308	MARTINEZ, HUGO	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	25.900	\$65.86
	Feb 18, 2025 9:26:06 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.2710	14.100	\$32.02
	Feb 18, 2025 8:55:20 AM	80416	AGUILAR, IVAN	SAISD	UL	City Facility	\$2.2710	30.000	\$68.13
	Feb 18, 2025 7:55:46 AM	80309	ACOSTA, ESTELLA	SAISD - MAINTENANCE	UL	City Facility	\$2.5430	22.200	\$56.45
	Feb 18, 2025 11:31:16 AM	80001	MARTINEZ, MARIO	SAISD - GROUNDS	UL	City Facility	\$2.2640	15.400	\$34.87
	Feb 18, 2025 10:14:13 AM	80371	SMITH, STEVEN	SAISD	UL	City Facility	\$2.2710	22.700	\$51.55
	Feb 18, 2025 10:36:31 AM	80109	RIFFLE, BOBBY	SAISD - FOOD SERVICE	UL	City Facility	\$2.2710	20.900	\$47.46
	Feb 18, 2025 10:28:31 AM	80354	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.2710	23.200	\$52.69
	Feb 18, 2025 3:18:24 PM	80426	CLARK, CLINTON	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	15.900	\$36.00
	Feb 18, 2025 2:53:10 PM	80086	BAILEY, TROY	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	20.400	\$46.19
	Feb 19, 2025 9:32:34 AM	80390	LAWLOR, WINDELL	SAISD	UL	City Facility	\$2.2640	16.100	\$36.45
	Feb 19, 2025 8:02:08 AM	80078	OVALLE, PETE	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	13.100	\$29.66
	Feb 19, 2025 8:38:29 AM	80101	RIVERA, JOEL	SAISD - MAINTENANCE	UL	City Facility	\$2.2640	26.000	\$58.86
	Feb 25, 2025 10:40:36 AM	80351	TANGUMA, DAVID	SAISD	UL	City Facility	\$2.2450	25.300	\$56.80
	Feb 25, 2025 11:10:25 AM	80153	TORRES, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.2450	21.400	\$48.04

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 2:57:08 PM	80436	JAMES, DANIYL	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	27.100	\$61.03
	Feb 26, 2025 3:15:34 PM	80103	HARRIS, WILLIAM	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	20.800	\$46.84
	Feb 26, 2025 4:28:38 PM	80426	CLARK, CLINTON	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	22.200	\$49.99
	Feb 26, 2025 2:34:50 PM	80354	MARTINEZ, AUGUSTINE	SAISD - GROUNDS	UL	City Facility	\$2.2520	20.000	\$45.04
	Feb 26, 2025 8:53:09 AM	80305	PINA, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	28.900	\$65.08
	Feb 26, 2025 10:45:27 AM	80441	MENDOZA, ALFRED	SAISD	UL	City Facility	\$2.2520	29.100	\$65.53
	Feb 20, 2025 3:44:32 PM	80426	CLARK, CLINTON	SAISD - MAINTENANCE	UL	City Facility	\$2.2510	15.200	\$34.22
	Feb 21, 2025 1:10:28 PM	80435	SANTA-ANNA, CARLOS	SAISD	UL	City Facility	\$2.2510	29.300	\$65.95
	Feb 21, 2025 11:19:36 AM	80065	GONZALEZ, OSDAO	SAISD - GROUNDS	UL	City Facility	\$2.2510	25.600	\$57.63
	Feb 21, 2025 11:25:59 AM	80306	MANNING, STANLEY	SAISD	UL	City Facility	\$2.2510	0.200	\$0.45
	Feb 21, 2025 3:20:24 PM	80350	BAILEY, RONALD	SAISD - MAINTENANCE	UL	City Facility	\$2.2510	21.000	\$47.27
	Feb 21, 2025 2:06:42 PM	80450	GOODWIN, SCOTT	SAISD - MAINTENANCE	UL	City Facility	\$2.2510	19.700	\$44.34
	Feb 28, 2025 1:27:21 PM	80372	VITEZ, ROBERT	SAISD	UL	City Facility	\$2.2520	18.800	\$42.34
	Feb 28, 2025 12:56:31 PM	80001	MARTINEZ, MARIO	SAISD - GROUNDS	UL	City Facility	\$2.2520	15.800	\$35.58
	Feb 28, 2025 4:01:45 PM	80154	ROUTT, IRA	SAISD	UL	City Facility	\$2.2520	26.600	\$59.90
	Feb 28, 2025 3:01:26 PM	80350	BAILEY, RONALD	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	20.500	\$46.17
	Feb 28, 2025 2:29:46 PM	80086	BAILEY, TROY	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	26.300	\$59.23
	Feb 28, 2025 3:15:44 PM	80153	TORRES, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	18.300	\$41.21
	Feb 28, 2025 9:51:22 AM	80101	RIVERA, JOEL	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	25.200	\$56.75
	Feb 28, 2025 10:37:06 AM	80437	PEDRICK, MARTY	SAISD	UL	City Facility	\$2.2520	14.000	\$31.53
	Feb 28, 2025 10:11:57 AM	80114	ORTEGA, MICHAEL	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	17.200	\$38.73
	Feb 28, 2025 8:42:24 AM	80093	PINA, JUAN	SAISD - MAINTENANCE	UL	City Facility	\$2.2520	19.300	\$43.46
	Feb 27, 2025 8:58:27 AM	80109	RIFFLE, BOBBY	SAISD - FOOD SERVICE	UL	City Facility	\$2.2520	22.300	\$50.22
	Feb 27, 2025 8:35:11 AM	80355	LEIJA, DANNY	SAISD - GROUNDS	UL	City Facility	\$2.2520	19.400	\$43.69
	Feb 27, 2025 1:27:26 PM	80390	LAWLOR, WINDELL	SAISD	UL	City Facility	\$2.2520	26.800	\$60.35
<b>SAISD - MAINTENANCE Totals</b>				<b>113</b>			<b>\$253.0970</b>	<b>2,465.000</b>	<b>\$5,520.43</b>
<b>SAISD - PURCHASING</b>									
	Feb 28, 2025 8:45:51 AM	80313	VENABLE, CHRIS	SAISD - PURCHASING	UL	City Facility	\$2.2520	11.800	\$26.57

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 25, 2025 1:21:00 PM	80333	VENABLE, CHRIS	SAISD - PURCHASING	UL	City Facility	\$2.2450	10.500	\$23.57
	Feb 18, 2025 8:38:49 AM	80313	VENABLE, CHRIS	SAISD - PURCHASING	UL	City Facility	\$2.2710	12.800	\$29.07
	Feb 20, 2025 1:02:32 PM	80454	JAMES, FRANK	SAISD - PURCHASING	UL	City Facility	\$2.3640	23.600	\$55.79
	Feb 6, 2025 8:36:02 AM	80454	JAMES, FRANK	SAISD - PURCHASING	UL	City Facility	\$2.2770	22.900	\$52.14
<b>SAISD - PURCHASING Totals</b>				<b>5</b>			<b>\$11.4090</b>	<b>81.600</b>	<b>\$187.14</b>
<b>SAISD - REGION XV</b>									
	Feb 6, 2025 1:55:53 PM	8001	CARD1, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	7.500	\$17.83
	Feb 6, 2025 2:27:09 PM	7790	CARD8, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	5.600	\$13.31
	Feb 6, 2025 2:56:16 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	6.200	\$14.74
	Feb 5, 2025 6:32:03 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	6.100	\$14.16
	Feb 5, 2025 6:38:09 PM	7798	CARD23, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	12.600	\$29.26
	Feb 5, 2025 7:31:16 PM	7797	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	7.200	\$16.72
	Feb 5, 2025 3:02:04 PM	7787	CARD27, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	7.200	\$16.72
	Feb 5, 2025 3:21:56 PM	8001	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	12.300	\$28.56
	Feb 5, 2025 3:07:54 PM	7793	CARD14, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	8.800	\$20.43
	Feb 5, 2025 3:55:31 PM	7796	CARD19, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	8.500	\$19.74
	Feb 5, 2025 3:32:01 PM	7799	CARD24, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	5.800	\$13.47
	Feb 13, 2025 10:50:13 AM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.800	\$6.66
	Feb 13, 2025 12:50:11 PM	7797	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	7.800	\$18.55
	Feb 13, 2025 1:22:26 PM	7796	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	9.800	\$23.30
	Feb 13, 2025 1:23:55 PM	7794	CARD17, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	3.900	\$9.27
	Feb 13, 2025 12:15:16 PM	7789	CARD6, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	1.600	\$3.80
	Feb 13, 2025 11:31:36 AM	8001	CARD1, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	4.900	\$11.65
	Feb 13, 2025 2:22:50 PM	7787	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	3.600	\$8.56
	Feb 5, 2025 2:51:16 PM	7794	CARD17, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	6.200	\$14.40
	Feb 5, 2025 2:24:18 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3220	7.400	\$17.18
	Feb 13, 2025 2:57:06 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	6.800	\$16.17
	Feb 13, 2025 2:57:01 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	7.500	\$17.84

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 2:59:21 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.700	\$6.42
	Feb 6, 2025 5:56:47 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	9.300	\$22.11
	Feb 6, 2025 4:43:15 PM	7787	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	7.000	\$16.64
	Feb 6, 2025 3:24:24 PM	7798	CARD22, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	6.700	\$15.93
	Feb 6, 2025 3:36:46 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	8.300	\$19.73
	Feb 6, 2025 3:31:17 PM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	6.600	\$15.69
	Feb 6, 2025 3:32:57 PM	7789	CARD6, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	12.700	\$30.19
	Feb 14, 2025 6:03:22 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	5.800	\$15.91
	Feb 6, 2025 7:34:50 PM	7786	5, SUV	SAISD - REGION XV	UL	City Facility	\$2.3770	20.300	\$48.25
	Feb 13, 2025 4:57:56 PM	7793	CARD15, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	6.800	\$16.17
	Feb 7, 2025 1:04:01 PM	7797	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	8.200	\$19.49
	Feb 7, 2025 10:48:14 AM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	2.500	\$5.94
	Feb 7, 2025 10:11:12 AM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	6.900	\$16.40
	Feb 7, 2025 11:42:43 AM	7799	CARD24, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	3.300	\$7.84
	Feb 13, 2025 6:40:39 AM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	5.700	\$13.55
	Feb 12, 2025 2:06:11 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	6.300	\$14.98
	Feb 12, 2025 1:44:04 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	6.500	\$15.46
	Feb 12, 2025 1:23:11 PM	8000	CARD25, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.300	\$5.47
	Feb 12, 2025 12:57:19 PM	7799	CARD24, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.400	\$5.71
	Feb 12, 2025 4:22:47 PM	7798	CARD22, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	5.300	\$12.60
	Feb 12, 2025 3:32:31 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.200	\$5.23
	Feb 12, 2025 11:44:12 AM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	9.900	\$23.54
	Feb 12, 2025 12:34:55 PM	8001	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	3.700	\$8.80
	Feb 4, 2025 3:13:58 PM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3260	5.000	\$11.63
	Feb 4, 2025 1:02:50 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3260	5.000	\$11.63
	Feb 4, 2025 1:41:44 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3260	8.800	\$20.47
	Feb 3, 2025 3:43:22 PM	7798	CARD22, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3260	6.300	\$14.65
	Feb 3, 2025 4:49:02 PM	7797	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3260	11.600	\$26.98
	Feb 24, 2025 2:49:22 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	6.300	\$15.40

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 2:50:47 PM	7790	CARD8, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	10.200	\$24.94
	Feb 24, 2025 3:09:51 PM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	6.400	\$15.65
	Feb 19, 2025 1:08:58 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	13.600	\$33.51
	Feb 19, 2025 1:39:23 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	8.200	\$20.20
	Feb 19, 2025 2:30:43 PM	7439	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	20.400	\$50.27
	Feb 17, 2025 4:40:14 PM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	8.500	\$23.32
	Feb 17, 2025 11:12:13 AM	7799	CARD24, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	4.800	\$13.17
	Feb 17, 2025 11:41:05 AM	7796	CARD19, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	6.800	\$18.65
	Feb 17, 2025 1:08:43 PM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	7.300	\$20.02
	Feb 19, 2025 9:57:03 AM	7796	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	12.500	\$30.80
	Feb 18, 2025 5:31:36 PM	8001	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	7.400	\$18.23
	Feb 18, 2025 5:59:30 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	6.400	\$15.77
	Feb 18, 2025 2:40:47 PM	7797	CARD20, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	11.000	\$27.10
	Feb 18, 2025 1:55:57 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	5.300	\$13.06
	Feb 18, 2025 3:51:19 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	11.400	\$28.09
	Feb 18, 2025 4:43:48 PM	7798	CARD23, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	7.400	\$18.23
	Feb 18, 2025 12:51:06 PM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4640	5.700	\$14.04
	Feb 7, 2025 4:50:02 PM	7793	CARD14, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	12.300	\$29.24
	Feb 9, 2025 2:43:58 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	0.600	\$1.43
	Feb 9, 2025 2:42:42 PM	7796	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	4.500	\$10.70
	Feb 9, 2025 2:48:01 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	5.200	\$12.36
	Feb 10, 2025 12:04:30 PM	7793	CARD15, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	8.100	\$19.25
	Feb 10, 2025 10:51:17 AM	7798	CARD22, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	3.300	\$7.84
	Feb 10, 2025 3:35:54 PM	7796	CARD19, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	8.000	\$19.02
	Feb 10, 2025 2:23:36 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	12.200	\$29.00
	Feb 10, 2025 2:45:18 PM	7794	CARD17, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	7.600	\$18.07
	Feb 10, 2025 4:57:17 PM	8000	CARD25, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3770	11.600	\$27.57
	Feb 11, 2025 2:24:39 PM	7796	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	13.000	\$30.91
	Feb 11, 2025 4:31:02 PM	7798	CARD23, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	7.000	\$16.65

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 4:34:57 PM	7790	CARD8, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	6.900	\$16.41
	Feb 11, 2025 4:49:43 PM	7793	CARD14, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	3.100	\$7.37
	Feb 11, 2025 6:17:12 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	4.300	\$10.23
	Feb 11, 2025 5:36:46 PM	7787	CARD27, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	5.800	\$13.79
	Feb 11, 2025 3:19:05 PM	8001	CARD1, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	8.600	\$20.45
	Feb 11, 2025 2:55:55 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	10.600	\$25.21
	Feb 11, 2025 3:01:20 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	10.300	\$24.49
	Feb 11, 2025 3:06:59 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	5.800	\$13.79
	Feb 11, 2025 1:23:26 PM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3780	2.500	\$5.94
	Feb 14, 2025 5:20:00 PM	8000	CARD25, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	6.600	\$18.10
	Feb 14, 2025 4:41:50 PM	7798	CARD22, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	11.800	\$32.37
	Feb 14, 2025 2:42:26 PM	7787	CARD27, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	1.000	\$2.74
	Feb 14, 2025 2:51:35 PM	8004	CARD15-SUV5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.6430	20.300	\$53.65
	Feb 14, 2025 10:13:17 AM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	8.100	\$22.22
	Feb 14, 2025 12:41:30 PM	7797	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	5.900	\$16.18
	Feb 14, 2025 12:48:09 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.7430	2.200	\$6.03
	Feb 25, 2025 12:47:13 PM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	3.500	\$8.56
	Feb 25, 2025 3:01:32 PM	7439	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	20.400	\$49.88
	Feb 25, 2025 2:22:10 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	1.800	\$4.40
	Feb 25, 2025 3:31:50 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	3.600	\$8.80
	Feb 25, 2025 4:27:53 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	6.200	\$15.16
	Feb 25, 2025 5:07:30 PM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	9.000	\$22.00
	Feb 26, 2025 1:16:09 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	6.400	\$15.69
	Feb 26, 2025 4:35:14 PM	8004	CARD15-SUV5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.3520	20.800	\$48.92
	Feb 26, 2025 4:24:19 PM	7794	CARD16, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	11.000	\$26.97
	Feb 26, 2025 3:42:39 PM	7790	CARD8, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	10.500	\$25.75
	Feb 21, 2025 2:23:18 PM	7799	CARD24, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	5.800	\$14.22
	Feb 21, 2025 2:34:51 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	5.100	\$12.50
	Feb 21, 2025 4:13:55 PM	8000	CARD26, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	8.800	\$21.57

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 21, 2025 3:57:58 PM	7798	CARD23, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	12.200	\$29.90
	Feb 21, 2025 6:12:30 PM	8004	5, SUV	SAISD - REGION XV	UL	City Facility	\$2.3510	2.000	\$4.70
	Feb 24, 2025 7:08:13 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4450	9.000	\$22.00
	Feb 22, 2025 2:29:16 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	4.500	\$11.03
	Feb 21, 2025 12:56:27 PM	7793	CARD14, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	4.700	\$11.52
	Feb 20, 2025 6:28:31 PM	8001	CARD1, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	7.800	\$19.12
	Feb 20, 2025 6:41:11 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	10.400	\$25.49
	Feb 20, 2025 4:05:08 PM	7794	CARD17, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4510	7.400	\$18.14
	Feb 27, 2025 9:39:59 PM	7799	CARD28, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	8.800	\$21.58
	Feb 28, 2025 4:38:20 PM	8001	CARD2, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	11.900	\$29.18
	Feb 28, 2025 4:02:29 PM	7796	CARD18, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	7.600	\$18.64
	Feb 27, 2025 1:33:30 PM	8004	5, SUV	SAISD - REGION XV	UL	City Facility	\$2.3520	7.600	\$17.88
	Feb 27, 2025 2:13:13 PM	7793	CARD15, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	12.900	\$31.63
	Feb 27, 2025 2:46:27 PM	7791	CARD9, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	5.000	\$12.26
	Feb 27, 2025 3:04:17 PM	8003	CARD3, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	7.300	\$17.90
	Feb 27, 2025 5:04:26 PM	8002	DIRECTOR, EXECUTIVE	SAISD - REGION XV	UL	City Facility	\$2.4520	18.500	\$45.36
	Feb 27, 2025 4:28:06 PM	7789	CARD5, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	4.800	\$11.77
	Feb 27, 2025 11:45:24 AM	7790	CARD7, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	5.500	\$13.49
	Feb 27, 2025 1:13:16 PM	7792	CARD11, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	6.800	\$16.67
	Feb 26, 2025 5:56:02 PM	7789	CARD6, FUEL	SAISD - REGION XV	UL	City Facility	\$2.4520	9.100	\$22.31
<b>SAISD - REGION XV Totals</b>				<b>129</b>			<b>\$313.4280</b>	<b>981.700</b>	<b>\$2,386.18</b>
<b>SAISD - REGULAR EDUCATION</b>									
	Feb 26, 2025 5:17:59 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7690	22.000	\$60.92
	Feb 26, 2025 5:13:50 PM	80403	MASSEY, ROY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7690	62.300	\$172.51
	Feb 27, 2025 8:22:40 AM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	23.500	\$65.07
	Feb 26, 2025 4:45:55 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	2.900	\$6.53
	Feb 27, 2025 9:27:59 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.2520	51.000	\$114.85
	Feb 27, 2025 12:39:04 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	42.900	\$96.61
	Feb 27, 2025 11:00:55 AM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.2520	64.000	\$144.13

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 27, 2025 8:44:09 AM	80448	ARTEAGA, ART	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	31.300	\$70.49
	Feb 27, 2025 4:40:30 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	0.100	\$0.23
	Feb 27, 2025 5:05:20 PM	80446	HUCKABEE, BOBBY	SAISD	UL	City Facility	\$2.2520	27.500	\$61.93
	Feb 27, 2025 5:48:28 PM	80447	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.2520	35.700	\$80.40
	Feb 28, 2025 4:55:15 PM	80025	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	61.500	\$170.29
	Feb 28, 2025 4:45:10 PM	80023	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	38.700	\$107.16
	Feb 28, 2025 4:49:40 PM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	11.000	\$30.46
	Feb 28, 2025 4:51:10 PM	80383	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	53.200	\$147.31
	Feb 28, 2025 12:30:25 PM	80382	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	36.600	\$101.35
	Feb 28, 2025 12:34:57 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	20.100	\$45.27
	Feb 28, 2025 1:24:34 PM	80017	ADAMSON, JAKE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	74.700	\$206.84
	Feb 28, 2025 11:01:06 AM	80054	TANKERSLEY, WAYMON	SAISD	DL	City Facility	\$2.7690	58.100	\$160.88
	Feb 28, 2025 11:04:41 AM	80449	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.2520	35.400	\$79.72
	Feb 28, 2025 11:45:31 AM	80410	VINES, JOHNNY	SAISD - CO-CURRICULAR	UL	City Facility	\$2.2520	40.200	\$90.53
	Feb 27, 2025 10:46:14 PM	80448	ARTEAGA, ART	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	34.900	\$78.59
	Feb 27, 2025 9:12:57 PM	80445	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	31.400	\$70.71
	Feb 28, 2025 8:54:15 AM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.2520	46.100	\$103.82
	Feb 28, 2025 8:55:40 AM	80381	RIVAS, ERIC	SAISD	DL	City Facility	\$2.7690	56.100	\$155.34
	Feb 28, 2025 9:01:16 AM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.2520	16.000	\$36.03
	Feb 28, 2025 9:13:27 AM	80403	MASSEY, ROY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7690	23.300	\$64.52
	Feb 28, 2025 8:26:33 AM	80326	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	78.400	\$217.09
	Feb 28, 2025 8:18:32 AM	80346	LIVERGOOD, ESTER	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	41.100	\$113.81
	Feb 28, 2025 7:59:20 AM	80415	MCGARA, DIANNA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	60.500	\$136.25
	Feb 28, 2025 8:07:37 AM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	30.900	\$69.59
	Feb 28, 2025 8:10:48 AM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	30.100	\$83.35
	Feb 28, 2025 10:08:44 AM	80433	ADAMSON, JAKE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	61.100	\$137.60
	Feb 28, 2025 10:19:54 AM	80414	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.2520	15.900	\$35.81
	Feb 28, 2025 10:25:26 AM	80366	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	27.700	\$76.70
	Feb 28, 2025 9:24:06 AM	80324	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	65.100	\$180.26

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 28, 2025 8:37:19 AM	80037	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7690	54.100	\$149.80
	Feb 28, 2025 9:16:16 AM	80365	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.7690	72.400	\$200.48
	Feb 28, 2025 11:08:14 PM	80414	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.2520	29.500	\$66.43
	Feb 28, 2025 11:14:46 PM	80366	TANKERSLEY, WAYMON	SAISD	DL	City Facility	\$2.7690	45.000	\$124.60
	Feb 28, 2025 11:34:26 PM	80403	BARTLETT, JIM	SAISD	DL	City Facility	\$2.7690	24.400	\$67.56
	Feb 28, 2025 9:08:43 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	31.000	\$69.81
	Feb 28, 2025 9:08:32 PM	80434	ILFREY, ANGELA	SAISD	UL	City Facility	\$2.2520	41.100	\$92.56
	Feb 28, 2025 10:26:49 PM	80446	HUCKABEE, BOBBY	SAISD	UL	City Facility	\$2.2520	25.700	\$57.88
	Feb 20, 2025 2:23:43 PM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	46.000	\$104.14
	Feb 20, 2025 7:23:58 PM	80403	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	50.700	\$138.61
	Feb 20, 2025 5:22:32 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7340	21.400	\$58.51
	Feb 21, 2025 12:39:17 PM	80381	DEROUEN, DUDLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	47.100	\$128.77
	Feb 21, 2025 12:42:31 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	60.000	\$135.06
	Feb 21, 2025 9:44:03 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.2510	52.000	\$117.05
	Feb 21, 2025 8:03:50 AM	80433	SANCHEZ, MARIA	SAISD	UL	City Facility	\$2.2510	61.100	\$137.54
	Feb 21, 2025 7:46:51 AM	80382	BLAKEMORE, GREG	SAISD	DL	City Facility	\$2.7340	45.500	\$124.40
	Feb 20, 2025 7:43:55 PM	80448	DABBERT, ED	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	36.800	\$82.84
	Feb 21, 2025 8:51:28 AM	80324	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	40.900	\$111.82
	Feb 21, 2025 8:30:49 AM	80446	GARCIA, BENINA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	53.200	\$119.75
	Feb 21, 2025 8:42:49 AM	80326	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	52.900	\$144.63
	Feb 21, 2025 8:24:14 AM	80446	GARCIA, BENINA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	0.100	\$0.23
	Feb 21, 2025 8:13:33 AM	80346	LIVERGOOD, ESTER	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	37.700	\$103.07
	Feb 21, 2025 8:15:59 AM	80021	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7340	30.100	\$82.29
	Feb 22, 2025 3:52:09 PM	80446	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	36.000	\$81.04
	Feb 22, 2025 7:18:23 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	60.000	\$135.06
	Feb 24, 2025 4:56:35 PM	80383	DOMINGUEZ, DIANA	SAISD	DL	City Facility	\$2.7340	63.200	\$172.79
	Feb 21, 2025 5:24:49 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	25.000	\$68.35
	Feb 21, 2025 4:41:54 PM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	25.500	\$57.40
	Feb 21, 2025 10:59:51 PM	80324	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	30.000	\$82.02

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 21, 2025 10:16:50 PM	80404	DEWEY, TIM	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	30.100	\$82.29
	Feb 21, 2025 8:47:19 PM	80446	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	35.900	\$80.81
	Feb 21, 2025 4:19:55 PM	80402	CAVAZOS, KAYE	SAISD	DL	City Facility	\$2.7340	43.100	\$117.84
	Feb 21, 2025 3:32:08 PM	80448	DABBERT, ED	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	31.700	\$71.36
	Feb 21, 2025 2:11:42 PM	80449	GACQUES, LARRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2510	24.200	\$54.47
	Feb 21, 2025 2:27:07 PM	80023	RIVAS, ERIC	SAISD	DL	City Facility	\$2.7340	42.200	\$115.37
	Feb 26, 2025 4:39:17 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	31.900	\$71.84
	Feb 26, 2025 4:26:12 PM	80445	CAVAZOS, KAYE	SAISD	UL	City Facility	\$2.2520	62.800	\$141.43
	Feb 26, 2025 1:39:28 PM	80364	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	30.000	\$82.02
	Feb 26, 2025 2:06:09 PM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	43.500	\$97.96
	Feb 26, 2025 10:26:43 AM	80020	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	62.800	\$171.70
	Feb 26, 2025 9:42:35 AM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	30.000	\$82.02
	Feb 26, 2025 12:37:47 PM	80022	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	65.300	\$178.53
	Feb 26, 2025 12:20:45 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	35.700	\$97.60
	Feb 26, 2025 7:08:58 AM	80373	LIVINGSTON, LEE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2450	15.100	\$33.90
	Feb 26, 2025 7:15:11 AM	80323	GARCIA, BENINA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	45.300	\$123.85
	Feb 25, 2025 5:18:32 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7340	0.100	\$0.27
	Feb 25, 2025 5:21:12 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7340	24.700	\$67.53
	Feb 25, 2025 1:27:51 PM	80389	GARCIA, DAISY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	63.700	\$174.16
	Feb 25, 2025 12:40:27 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2450	38.600	\$86.66
	Feb 25, 2025 12:20:52 PM	80025	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	67.000	\$183.18
	Feb 25, 2025 12:09:35 PM	80024	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.7340	61.400	\$167.87
	Feb 25, 2025 9:45:36 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.2450	44.900	\$100.80
	Feb 25, 2025 9:36:36 AM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.2450	33.000	\$74.08
	Feb 25, 2025 7:51:46 AM	80032	FRANCO, MAURICIO	SAISD	DL	City Facility	\$2.7340	61.500	\$168.14
	Feb 25, 2025 8:01:07 AM	80366	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	51.000	\$139.43
	Feb 25, 2025 8:09:04 AM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2450	39.700	\$89.13
	Feb 25, 2025 8:45:46 AM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	30.000	\$82.02
	Feb 25, 2025 6:52:39 AM	80344	GALINDO, AUDRA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	53.900	\$147.36

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 12:47:27 PM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.5430	45.800	\$116.47
	Feb 14, 2025 12:15:52 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	29.800	\$79.15
	Feb 14, 2025 2:03:23 PM	80056	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	43.700	\$116.07
	Feb 14, 2025 9:49:46 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.5430	43.000	\$109.35
	Feb 14, 2025 4:02:04 PM	80382	RIVAS, ERIC	SAISD	DL	City Facility	\$2.6560	34.100	\$90.57
	Feb 14, 2025 4:40:20 PM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	35.600	\$90.53
	Feb 11, 2025 8:24:33 AM	80054	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	51.000	\$134.74
	Feb 11, 2025 10:48:01 AM	80326	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	66.700	\$176.22
	Feb 14, 2025 8:32:56 AM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	36.000	\$95.62
	Feb 14, 2025 8:25:12 AM	80022	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.6560	46.300	\$122.97
	Feb 11, 2025 1:20:17 PM	80389	GARCIA, DAISY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	56.200	\$149.27
	Feb 11, 2025 12:38:23 PM	80381	DEROUEN, DUDLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	44.300	\$117.66
	Feb 11, 2025 4:53:24 PM	80433	SANCHEZ, MARIA	SAISD	UL	City Facility	\$2.1780	64.300	\$140.05
	Feb 24, 2025 8:54:38 AM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.2510	55.800	\$125.61
	Feb 24, 2025 5:42:25 AM	80365	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.7340	73.500	\$200.95
	Feb 10, 2025 5:10:11 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	25.000	\$66.05
	Feb 10, 2025 4:49:41 PM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	45.000	\$118.89
	Feb 10, 2025 12:42:16 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	42.100	\$91.65
	Feb 10, 2025 8:22:43 AM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6420	62.000	\$163.80
	Feb 10, 2025 8:07:44 AM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	30.700	\$66.83
	Feb 8, 2025 3:31:54 PM	80427	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	33.100	\$72.06
	Feb 7, 2025 4:31:31 PM	80032	LOPEZ, GERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	55.800	\$147.42
	Feb 7, 2025 4:53:40 PM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.1770	35.800	\$77.94
	Feb 7, 2025 4:01:03 PM	80031	BLAKEMORE, GREG	SAISD	DL	City Facility	\$2.6420	68.500	\$180.98
	Feb 7, 2025 2:50:48 PM	80024	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.6420	44.900	\$118.63
	Feb 7, 2025 2:35:51 PM	80022	TACKETT, LORI	SAISD	DL	City Facility	\$2.6420	52.600	\$138.97
	Feb 8, 2025 11:11:07 AM	80413	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	37.600	\$81.86
	Feb 7, 2025 10:46:13 PM	80446	HUCKABEE, BOBBY	SAISD	UL	City Facility	\$2.1770	27.700	\$60.30
	Feb 8, 2025 12:47:20 AM	80382	TISCHLER, JERRY	SAISD	DL	City Facility	\$2.6420	50.000	\$132.10

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 8, 2025 12:49:43 AM	80403	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	44.000	\$116.25
	Feb 7, 2025 10:06:59 PM	80448	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1770	52.100	\$113.42
	Feb 7, 2025 10:12:35 PM	80404	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	28.700	\$75.83
	Feb 7, 2025 5:32:00 PM	80427	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	49.600	\$107.98
	Feb 7, 2025 5:38:02 PM	80447	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.1770	22.500	\$48.98
	Feb 18, 2025 12:40:25 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	40.000	\$90.56
	Feb 18, 2025 12:16:13 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	20.700	\$56.59
	Feb 18, 2025 12:39:35 PM	80381	DEROUEN, DUDLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	45.800	\$125.22
	Feb 18, 2025 10:46:52 AM	80326	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	53.700	\$146.82
	Feb 18, 2025 10:34:13 AM	80389	GARCIA, DAISY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	51.600	\$141.07
	Feb 18, 2025 4:36:38 PM	80024	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.7340	42.600	\$116.47
	Feb 18, 2025 4:22:41 PM	80402	CAVAZOS, KAYE	SAISD	DL	City Facility	\$2.7340	47.600	\$130.14
	Feb 18, 2025 1:39:46 PM	80364	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	35.000	\$95.69
	Feb 18, 2025 2:39:22 PM	80024	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.7340	30.000	\$82.02
	Feb 18, 2025 2:34:17 PM	80404	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	29.000	\$79.29
	Feb 18, 2025 4:57:32 PM	80383	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	41.100	\$112.37
	Feb 19, 2025 8:22:50 AM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.7340	15.000	\$41.01
	Feb 19, 2025 9:24:28 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.2640	49.500	\$112.07
	Feb 18, 2025 5:00:50 PM	80344	GALINDO, AUDRA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	39.000	\$106.63
	Feb 17, 2025 12:44:50 PM	80324	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	65.500	\$173.97
	Feb 18, 2025 8:56:01 AM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.2710	32.300	\$73.35
	Feb 18, 2025 8:02:04 AM	80366	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	21.100	\$56.04
	Feb 18, 2025 8:08:05 AM	80023	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	63.300	\$168.12
	Feb 18, 2025 8:03:20 AM	80037	MCGARA, DIANNA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	70.000	\$185.92
	Feb 18, 2025 6:21:20 AM	80365	RIVAS, ERIC	SAISD	DL	City Facility	\$2.6560	30.100	\$79.95
	Feb 18, 2025 6:21:40 AM	80433	SANCHEZ, MARIA	SAISD	UL	City Facility	\$2.5430	53.100	\$135.03
	Feb 19, 2025 12:06:08 PM	80025	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	37.600	\$102.80
	Feb 19, 2025 4:44:46 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	43.100	\$97.58
	Feb 19, 2025 5:11:55 PM	80403	MASSEY, ROY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.7340	32.200	\$88.03

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 4:52:39 PM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.2640	30.700	\$69.50
	Feb 19, 2025 5:26:26 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	30.100	\$82.29
	Feb 24, 2025 10:24:12 AM	80056	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	48.200	\$131.78
	Feb 19, 2025 5:33:35 PM	80021	FRANCO, MAURICIO	SAISD	DL	City Facility	\$2.7340	29.400	\$80.38
	Feb 20, 2025 7:52:59 AM	80365	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.7340	20.000	\$54.68
	Feb 24, 2025 12:45:34 PM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.2450	43.000	\$96.54
	Feb 24, 2025 12:22:44 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	38.600	\$105.53
	Feb 20, 2025 10:46:06 AM	80448	DABBERT, ED	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	30.000	\$67.92
	Feb 20, 2025 12:16:22 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	44.100	\$120.57
	Feb 20, 2025 8:49:41 AM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.2640	57.800	\$130.86
	Feb 20, 2025 8:45:10 AM	80022	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.7340	61.400	\$167.87
	Feb 20, 2025 8:34:51 AM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	36.400	\$82.41
	Feb 20, 2025 8:35:45 AM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	34.400	\$94.05
	Feb 20, 2025 8:10:45 AM	80364	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	45.600	\$124.67
	Feb 24, 2025 4:39:14 PM	80415	ADAMSON, JAKE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2450	67.300	\$151.09
	Feb 4, 2025 8:40:51 AM	80024	ILFREY, ANGELA	SAISD	DL	City Facility	\$2.6290	65.900	\$173.25
	Feb 4, 2025 8:47:22 AM	80324	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	60.900	\$160.11
	Feb 3, 2025 1:31:57 PM	80031	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	42.100	\$110.68
	Feb 3, 2025 1:35:07 PM	80043	SANCHEZ, MARIA	SAISD	DL	City Facility	\$2.6290	62.800	\$165.10
	Feb 3, 2025 11:24:45 AM	80445	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	40.100	\$85.25
	Feb 3, 2025 12:14:48 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	38.300	\$100.69
	Feb 3, 2025 9:25:14 AM	80427	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	48.800	\$103.75
	Feb 4, 2025 12:40:58 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	49.100	\$104.39
	Feb 4, 2025 11:35:17 AM	80404	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6290	25.100	\$65.99
	Feb 4, 2025 12:37:38 PM	80020	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	20.100	\$52.84
	Feb 4, 2025 11:19:25 AM	80344	GALINDO, AUDRA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	31.200	\$82.02
	Feb 4, 2025 2:35:16 PM	80022	TACKETT, LORI	SAISD	DL	City Facility	\$2.6420	43.800	\$115.72
	Feb 5, 2025 8:14:19 AM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	30.100	\$79.52
	Feb 13, 2025 7:14:57 AM	80056	GARCIA, BENINA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	40.100	\$106.51

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 4, 2025 5:22:46 PM	80449	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.1260	22.000	\$46.77
	Feb 4, 2025 10:34:24 PM	80404	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6420	35.100	\$92.73
	Feb 4, 2025 9:41:30 PM	80446	DEWEY, TIM	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1260	24.700	\$52.51
	Feb 4, 2025 4:38:29 PM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.1260	47.000	\$99.92
	Feb 4, 2025 4:47:15 PM	80401	WILLIAMS, WAYNE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	44.000	\$116.25
	Feb 12, 2025 11:08:14 AM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.1780	53.600	\$116.74
	Feb 1, 2025 6:57:43 AM	80448	DAVILA, SARAI	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	37.100	\$78.87
	Feb 1, 2025 5:12:27 PM	80382	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.6290	30.200	\$79.40
	Feb 12, 2025 9:30:54 AM	80427	HERRERA, EDWARD	SAISD	UL	City Facility	\$2.1780	49.500	\$107.81
	Feb 12, 2025 11:01:08 AM	80402	CAVAZOS, KAYE	SAISD	DL	City Facility	\$2.6560	56.200	\$149.27
	Feb 12, 2025 8:21:38 AM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	39.600	\$86.25
	Feb 11, 2025 11:13:00 PM	80446	WILLIAMS, DANNY	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1780	40.500	\$88.21
	Feb 12, 2025 8:03:44 AM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6560	25.000	\$66.40
	Feb 12, 2025 4:44:59 PM	80413	LOPEZ, GERRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	35.000	\$76.23
	Feb 12, 2025 4:48:55 PM	80383	DAVILA, SARAI	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	69.400	\$184.33
	Feb 12, 2025 5:04:57 PM	80344	GALINDO, AUDRA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	56.900	\$151.13
	Feb 12, 2025 5:19:34 PM	80403	MASSEY, ROY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	61.400	\$163.08
	Feb 12, 2025 5:21:14 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	27.000	\$71.71
	Feb 12, 2025 12:44:36 PM	80020	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	58.600	\$155.64
	Feb 2, 2025 3:57:54 AM	80404	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	61.200	\$160.89
	Feb 12, 2025 12:33:49 PM	80414	RIVAS, ERIC	SAISD	UL	City Facility	\$2.1780	57.100	\$124.36
	Feb 12, 2025 1:37:20 PM	80364	MUNOZ, BENJAMIN	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	37.600	\$99.87
	Feb 3, 2025 8:13:38 AM	80446	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	36.400	\$77.39
	Feb 13, 2025 6:27:59 AM	80023	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	45.000	\$119.52
	Feb 7, 2025 10:27:43 AM	80446	RICHARDS, ASBURN	SAISD	UL	City Facility	\$2.1770	22.700	\$49.42
	Feb 7, 2025 12:19:02 PM	80445	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	46.100	\$100.36
	Feb 7, 2025 12:40:24 PM	80403	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	22.800	\$60.24
	Feb 7, 2025 12:46:54 PM	80431	TANKERSLEY, WAYMON	SAISD	UL	City Facility	\$2.1770	55.600	\$121.04
	Feb 7, 2025 1:55:09 PM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	34.300	\$74.67

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 2:10:55 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	25.000	\$66.05
	Feb 7, 2025 7:46:59 AM	80382	BLAKEMORE, GREG	SAISD	DL	City Facility	\$2.6420	29.400	\$77.67
	Feb 7, 2025 9:14:55 AM	80324	GACQUES, LARRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	41.900	\$110.70
	Feb 7, 2025 9:18:04 AM	80346	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	54.500	\$143.99
	Feb 13, 2025 4:52:59 PM	80025	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	80.000	\$212.48
	Feb 13, 2025 4:49:17 PM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.1780	30.100	\$65.56
	Feb 13, 2025 4:36:12 PM	80365	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.6560	20.000	\$53.12
	Feb 13, 2025 5:33:23 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6560	20.100	\$53.39
	Feb 14, 2025 8:13:41 AM	80346	LIVERGOOD, ESTER	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	38.100	\$101.19
	Feb 14, 2025 6:49:17 AM	80024	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	7.000	\$18.59
	Feb 14, 2025 5:14:27 AM	80445	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	UL	City Facility	\$2.1780	49.000	\$106.72
	Feb 6, 2025 4:57:55 PM	80025	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	49.100	\$129.72
	Feb 6, 2025 5:51:03 PM	80447	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	19.000	\$41.36
	Feb 14, 2025 5:33:18 PM	80021	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6560	32.000	\$84.99
	Feb 14, 2025 5:30:15 PM	80363	NEWSON, SOPHIA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	25.100	\$66.67
	Feb 6, 2025 4:42:14 PM	80365	BARTON, CRISTINA	SAISD	DL	City Facility	\$2.6420	75.400	\$199.21
	Feb 6, 2025 4:45:44 PM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	42.000	\$91.43
	Feb 6, 2025 5:38:11 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6420	17.100	\$45.18
	Feb 15, 2025 7:36:26 PM	80445	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	UL	City Facility	\$2.5430	36.000	\$91.55
	Feb 14, 2025 11:30:08 PM	80403	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	61.700	\$163.88
	Feb 14, 2025 11:36:24 PM	80404	DABBERT, ED	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	44.500	\$118.19
	Feb 14, 2025 10:06:07 PM	80445	DONAHOO, ROBERT	SAISD - CO-CURRICULAR	UL	City Facility	\$2.5430	33.000	\$83.92
	Feb 5, 2025 1:07:35 PM	80020	CHAVARRIA, DAVID	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	43.700	\$115.46
	Feb 5, 2025 12:13:10 PM	80345	NEWSOM, CHAD	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	35.200	\$93.00
	Feb 13, 2025 2:01:20 PM	80057	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	46.000	\$122.18
	Feb 13, 2025 1:52:00 PM	80434	FERNANDEZ, DAVID	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	45.400	\$98.88
	Feb 5, 2025 8:24:06 AM	80023	OMAR, LAURA	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	69.900	\$184.68
	Feb 5, 2025 9:01:22 AM	80326	RODRIGUEZ, JESUS	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	77.100	\$203.70
	Feb 5, 2025 9:11:59 AM	80389	GARCIA, DAISY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	57.300	\$151.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 11:00:50 AM	80032	QUEVADO, JOSE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	33.900	\$90.04
	Feb 13, 2025 12:43:45 PM	80447	DABBERT, ED	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	27.400	\$59.68
	Feb 13, 2025 12:40:39 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	56.900	\$123.93
	Feb 13, 2025 11:22:30 AM	80041	ALAMBAR, DEREK	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6560	36.900	\$98.01
	Feb 5, 2025 8:27:37 AM	80410	BRAVO, ALBERT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1220	36.900	\$78.30
	Feb 13, 2025 7:32:46 AM	80373	LIVINGSTON, LEE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	16.800	\$36.59
	Feb 5, 2025 5:07:31 PM	80413	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1220	32.700	\$69.39
	Feb 5, 2025 5:12:24 PM	80403	MASSEY, ROY	SAISD - CO-CURRICULAR	DL	City Facility	\$2.6420	59.700	\$157.73
	Feb 5, 2025 5:26:13 PM	80404	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6420	14.000	\$36.99
	Feb 5, 2025 4:23:17 PM	80402	CAVAZOS, KAYE	SAISD	DL	City Facility	\$2.6420	54.300	\$143.46
	Feb 5, 2025 4:44:35 PM	80427	RIVAS, ERIC	SAISD	UL	City Facility	\$2.1220	47.800	\$101.43
	Feb 5, 2025 4:51:36 PM	80414	MENDEZ, BLANCA	SAISD	UL	City Facility	\$2.1220	63.600	\$134.96
	Feb 5, 2025 4:53:39 PM	80445	LANKFORD, TERRY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1220	44.000	\$93.37
	Feb 6, 2025 12:41:12 PM	80381	DEROUEN, DUDLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	55.000	\$145.31
	Feb 6, 2025 12:41:39 PM	80439	LANKFORD, MATT	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	37.700	\$82.07
	Feb 6, 2025 8:39:51 AM	80037	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	47.600	\$125.76
	Feb 6, 2025 8:22:14 AM	80344	GALINDO, AUDRA	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	52.200	\$137.91
	Feb 6, 2025 8:51:19 AM	80383	DAVILA, SARAI	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	72.100	\$190.49
	Feb 6, 2025 8:18:08 AM	80057	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	56.000	\$147.95
<b>SAISD - REGULAR EDUCATION Totals</b>				<b>258</b>			<b>\$647.3340</b>	<b>10,828.600</b>	<b>\$27,298.16</b>
<b>SAISD - SAFETY</b>									
	Feb 21, 2025 8:14:23 AM	80082	RADLOFF, KAILEE	SAISD - MAINTENANCE	UL	City Facility	\$2.2510	17.500	\$39.39
<b>SAISD - SAFETY Totals</b>				<b>1</b>			<b>\$2.2510</b>	<b>17.500</b>	<b>\$39.39</b>
<b>SAISD - SPECIAL EDUCATION</b>									
	Feb 21, 2025 8:21:01 AM	80349	DODD, CLARA	SAISD	DL	City Facility	\$2.7340	43.300	\$118.38
	Feb 21, 2025 10:42:20 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.2510	27.300	\$61.45
	Feb 20, 2025 2:05:45 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	21.900	\$49.58
	Feb 21, 2025 4:36:14 PM	80277	ONEIL, DOYLE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	42.100	\$115.10
	Feb 21, 2025 5:11:41 PM	80362	JONES, LINDA	SAISD	DL	City Facility	\$2.7340	28.600	\$78.19

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 21, 2025 5:20:01 PM	80266	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	47.800	\$130.69
	Feb 24, 2025 5:02:58 PM	80378	BANNERT, RAYMOND	SAISD - SPECIAL EDUCATION	UL	City Facility	\$2.2450	25.000	\$56.12
	Feb 25, 2025 10:15:02 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.2450	33.700	\$75.66
	Feb 25, 2025 1:26:46 PM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.7340	44.000	\$120.30
	Feb 26, 2025 7:16:42 AM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	15.100	\$41.28
	Feb 26, 2025 8:39:33 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.2520	42.400	\$95.48
	Feb 26, 2025 12:26:54 PM	80266	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	43.500	\$118.93
	Feb 26, 2025 10:57:00 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	30.000	\$82.02
	Feb 26, 2025 1:59:25 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.2520	32.000	\$72.06
	Feb 26, 2025 2:01:04 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	26.100	\$58.78
	Feb 26, 2025 2:21:22 PM	80349	DODD, CLARA	SAISD	DL	City Facility	\$2.7340	30.100	\$82.29
	Feb 26, 2025 1:33:47 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	35.000	\$95.69
	Feb 26, 2025 4:40:44 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7690	43.700	\$121.01
	Feb 28, 2025 5:14:23 PM	80378	JONES, LINDA	SAISD	UL	City Facility	\$2.2520	16.800	\$37.83
	Feb 28, 2025 10:05:13 AM	80266	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7690	29.800	\$82.52
	Feb 28, 2025 1:30:00 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7690	25.800	\$71.44
	Feb 28, 2025 2:05:56 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	26.000	\$58.55
	Feb 28, 2025 4:41:23 PM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.7690	40.200	\$111.31
	Feb 27, 2025 5:09:55 PM	80451	JONES, LINDA	SAISD	UL	City Facility	\$2.2520	33.500	\$75.44
	Feb 27, 2025 5:18:46 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.2520	22.000	\$49.54
	Feb 27, 2025 4:56:59 PM	80378	JONES, LINDA	SAISD	UL	City Facility	\$2.2520	22.800	\$51.35
	Feb 27, 2025 10:26:50 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.2520	34.500	\$77.69
	Feb 27, 2025 8:07:44 AM	80348	ONEIL, DOYLE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7690	30.100	\$83.35
	Feb 27, 2025 8:33:44 AM	80444	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2520	40.900	\$92.11
	Feb 6, 2025 8:43:20 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	27.100	\$71.60
	Feb 6, 2025 12:13:16 PM	80349	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6420	30.000	\$79.26
	Feb 6, 2025 2:56:57 PM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6420	21.800	\$57.60
	Feb 6, 2025 1:58:40 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	24.000	\$52.25
	Feb 6, 2025 2:07:46 PM	80361	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	37.700	\$99.60

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 8:36:42 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.1780	30.400	\$66.21
	Feb 13, 2025 10:29:55 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.1780	33.900	\$73.83
	Feb 13, 2025 1:48:42 PM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6560	43.200	\$114.74
	Feb 13, 2025 1:16:53 PM	80444	GONZALES, RICHARD	SAISD	UL	City Facility	\$2.1780	46.900	\$102.15
	Feb 5, 2025 8:36:39 AM	80444	RIVAS, ERIC	SAISD	UL	City Facility	\$2.1220	31.200	\$66.21
	Feb 5, 2025 8:42:18 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.1220	48.000	\$101.86
	Feb 5, 2025 8:48:44 AM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.1220	31.500	\$66.84
	Feb 5, 2025 10:17:57 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.1220	34.000	\$72.15
	Feb 5, 2025 1:47:19 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	40.700	\$107.53
	Feb 6, 2025 5:08:56 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.1770	19.900	\$43.32
	Feb 13, 2025 5:13:09 PM	80378	BANNERT, RAYMOND	SAISD - SPECIAL EDUCATION	UL	City Facility	\$2.1780	24.200	\$52.71
	Feb 13, 2025 3:17:51 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	43.200	\$114.74
	Feb 7, 2025 8:43:44 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.1770	42.700	\$92.96
	Feb 7, 2025 8:22:59 AM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	34.600	\$91.41
	Feb 13, 2025 4:06:25 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	23.700	\$51.62
	Feb 7, 2025 12:17:09 PM	80334	HERNANDEZ, JOE	SAISD	DL	City Facility	\$2.6420	34.100	\$90.09
	Feb 7, 2025 10:18:22 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.1770	32.800	\$71.41
	Feb 3, 2025 5:15:44 AM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6290	46.600	\$122.51
	Feb 12, 2025 5:08:27 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.1780	25.800	\$56.19
	Feb 12, 2025 3:58:36 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	40.000	\$106.24
	Feb 12, 2025 6:04:10 AM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1780	21.800	\$47.48
	Feb 12, 2025 9:02:05 AM	80362	RICHARDS, ASBURN	SAISD	DL	City Facility	\$2.6560	36.300	\$96.41
	Feb 12, 2025 8:49:42 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6560	25.600	\$67.99
	Feb 12, 2025 10:01:10 AM	80361	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	37.400	\$99.33
	Feb 4, 2025 5:15:42 PM	80362	JONES, LINDA	SAISD	DL	City Facility	\$2.6420	36.200	\$95.64
	Feb 5, 2025 6:32:16 AM	80378	BANNERT, RAYMOND	SAISD - SPECIAL EDUCATION	UL	City Facility	\$2.1260	22.300	\$47.41
	Feb 4, 2025 1:59:31 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	24.100	\$51.24
	Feb 4, 2025 12:49:35 PM	80361	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6290	35.300	\$92.80
	Feb 4, 2025 1:31:02 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	39.500	\$104.36

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 10:20:07 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.1260	31.400	\$66.76
	Feb 3, 2025 12:18:41 PM	80334	HERNANDEZ, JOE	SAISD	DL	City Facility	\$2.6290	33.000	\$86.76
	Feb 3, 2025 1:39:51 PM	80444	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1260	34.500	\$73.35
	Feb 4, 2025 8:41:09 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	20.500	\$53.89
	Feb 4, 2025 8:05:09 AM	80266	ONEIL, DOYLE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6290	44.700	\$117.52
	Feb 24, 2025 4:38:47 PM	80444	GONZALES, RICHARD	SAISD	UL	City Facility	\$2.2450	42.500	\$95.41
	Feb 20, 2025 8:40:40 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	32.000	\$87.49
	Feb 20, 2025 8:40:49 AM	80444	LIVINGSTON, LEE	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	45.700	\$103.46
	Feb 20, 2025 10:17:05 AM	80451	JONES, LINDA	SAISD	UL	City Facility	\$2.2640	32.800	\$74.26
	Feb 20, 2025 1:34:39 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	41.300	\$112.91
	Feb 20, 2025 1:37:27 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	20.900	\$57.14
	Feb 24, 2025 1:46:14 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	34.800	\$95.14
	Feb 24, 2025 2:00:26 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2450	25.800	\$57.92
	Feb 19, 2025 4:54:57 PM	80409	RIVAS, ERIC	SAISD	UL	City Facility	\$2.2640	29.300	\$66.34
	Feb 19, 2025 4:36:44 PM	80362	JONES, LINDA	SAISD	DL	City Facility	\$2.7340	29.400	\$80.38
	Feb 19, 2025 4:38:40 PM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.7340	43.800	\$119.75
	Feb 19, 2025 4:45:13 PM	80378	DEL-A-ROSA, ROSA	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	21.500	\$48.68
	Feb 19, 2025 4:42:22 PM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.2640	31.000	\$70.18
	Feb 19, 2025 10:08:27 AM	80266	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	38.600	\$105.53
	Feb 18, 2025 9:01:20 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.2710	16.000	\$36.34
	Feb 18, 2025 8:42:16 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	8.000	\$21.87
	Feb 18, 2025 10:16:23 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.2710	31.900	\$72.44
	Feb 18, 2025 10:21:03 AM	80286	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.7340	16.000	\$43.74
	Feb 18, 2025 10:18:54 AM	80286	MCKINNEY, OTIS	SAISD	DL	City Facility	\$2.7340	4.900	\$13.40
	Feb 19, 2025 6:10:30 AM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2640	24.400	\$55.24
	Feb 18, 2025 1:48:43 PM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.7340	29.600	\$80.93
	Feb 18, 2025 4:02:46 PM	80264	COLLETT, ERNEST	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	35.200	\$96.24
	Feb 18, 2025 1:01:39 PM	80444	GONZALES, RICHARD	SAISD	UL	City Facility	\$2.2640	30.400	\$68.83
	Feb 7, 2025 4:59:39 PM	80362	JONES, LINDA	SAISD	DL	City Facility	\$2.6420	38.400	\$101.45

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 4:33:32 PM	80407	SANCHEZ, MARY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	17.300	\$37.66
	Feb 10, 2025 5:23:53 AM	80327	HOLGUIN, ABRAM	SAISD	DL	City Facility	\$2.6420	40.600	\$107.27
	Feb 10, 2025 9:27:51 AM	80361	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	36.200	\$95.64
	Feb 10, 2025 8:32:15 AM	80444	MENCHACA, MICHAEL	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.1770	47.800	\$104.06
	Feb 10, 2025 8:39:21 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	28.300	\$74.77
	Feb 10, 2025 5:21:17 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.1770	27.500	\$59.87
	Feb 11, 2025 6:03:51 AM	80277	ADAMSON, JAKE	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6420	42.900	\$113.34
	Feb 10, 2025 1:52:49 PM	80378	BANNERT, RAYMOND	SAISD - SPECIAL EDUCATION	UL	City Facility	\$2.1770	24.900	\$54.21
	Feb 24, 2025 6:11:07 AM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.2510	32.500	\$73.16
	Feb 24, 2025 8:43:14 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.2510	15.800	\$35.57
	Feb 24, 2025 8:45:15 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.2510	34.900	\$78.56
	Feb 24, 2025 8:50:05 AM	80380	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	29.600	\$80.93
	Feb 11, 2025 2:19:10 PM	80349	DODD, CLARA	SAISD	DL	City Facility	\$2.6560	26.100	\$69.32
	Feb 11, 2025 10:15:39 AM	80443	BAZA, DEMI	SAISD	UL	City Facility	\$2.1770	36.000	\$78.37
	Feb 11, 2025 10:20:03 AM	80334	TORRES, JENNIFER	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6420	30.200	\$79.79
	Feb 11, 2025 8:42:05 AM	80451	POTTS, KATHY	SAISD	UL	City Facility	\$2.1770	37.000	\$80.55
	Feb 14, 2025 4:45:29 PM	80277	HUCKABEE, BOBBY	SAISD	DL	City Facility	\$2.6560	31.600	\$83.93
	Feb 14, 2025 5:01:42 PM	80362	JONES, LINDA	SAISD	DL	City Facility	\$2.6560	39.500	\$104.91
	Feb 14, 2025 5:21:42 PM	80409	STUMP, DENISE	SAISD	UL	City Facility	\$2.5430	31.300	\$79.60
	Feb 14, 2025 3:26:14 PM	80380	HERNANDEZ, JOE	SAISD	DL	City Facility	\$2.6560	30.000	\$79.68
	Feb 14, 2025 10:04:00 AM	80361	DEL-RIO, JOSE	SAISD - SPECIAL EDUCATION	DL	City Facility	\$2.6560	39.900	\$105.97
	Feb 14, 2025 2:21:30 PM	80349	DODD, CLARA	SAISD	DL	City Facility	\$2.6560	28.900	\$76.76
	Feb 14, 2025 11:44:58 AM	80451	PRATHER, STANLEY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.5430	20.500	\$52.13
<b>SAISD - SPECIAL EDUCATION Totals</b>				<b>115</b>			<b>\$283.6260</b>	<b>3,658.100</b>	<b>\$9,061.23</b>
<b>SAISD - TECHNOLOGY</b>									
	Feb 10, 2025 4:06:28 PM	80357	JENKINS, JONATHAN	SAISD - TECHNOLOGY	UL	City Facility	\$2.1770	18.000	\$39.19
	Feb 10, 2025 9:18:30 AM	80424	YATES, CATHY	SAISD	UL	City Facility	\$2.1770	19.800	\$43.10
	Feb 7, 2025 2:29:33 PM	80316	DUSEK, HAYES	SAISD - TECHNOLOGY	UL	City Facility	\$2.1770	17.600	\$38.32
	Feb 18, 2025 10:42:53 AM	80181	WEISHUHN, THERESA	SAISD	UL	City Facility	\$2.2710	14.900	\$33.84

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 2:29:47 PM	80386	MARTIN, KENT	SAISD - TECHNOLOGY	UL	City Facility	\$2.2450	13.400	\$30.08
	Feb 24, 2025 11:47:46 AM	80425	THWEATT, JESSICA	SAISD	UL	City Facility	\$2.2450	13.700	\$30.76
	Feb 4, 2025 8:46:40 AM	80340	MARIN, FELIX	SAISD - TECHNOLOGY	UL	City Facility	\$2.1260	17.800	\$37.84
	Feb 13, 2025 4:17:43 PM	80192	GONZALES, VICKY	SAISD - TECHNOLOGY	UL	City Facility	\$2.1780	16.300	\$35.50
	Feb 5, 2025 11:40:58 AM	80188	PENA, ANDREW	SAISD	UL	City Facility	\$2.1220	16.800	\$35.65
	Feb 5, 2025 11:02:31 AM	80386	MARTIN, KENT	SAISD - TECHNOLOGY	UL	City Facility	\$2.1220	12.700	\$26.95
	Feb 13, 2025 10:33:11 AM	80191	GREEN, PERRY	SAISD	UL	City Facility	\$2.1780	17.600	\$38.33
	Feb 6, 2025 9:50:38 AM	80180	BRISTOW, KRIS	SAISD	UL	City Facility	\$2.1770	15.100	\$32.87
	Feb 5, 2025 3:04:24 PM	80193	MEEK, JOSHUA	SAISD - TECHNOLOGY	UL	City Facility	\$2.1220	16.200	\$34.38
	Feb 27, 2025 10:44:54 AM	80424	YATES, CATHY	SAISD	UL	City Facility	\$2.2520	19.400	\$43.69
	Feb 27, 2025 2:36:16 PM	80193	MEEK, JOSHUA	SAISD - TECHNOLOGY	UL	City Facility	\$2.2520	17.300	\$38.96
	Feb 25, 2025 9:37:57 AM	80180	BRISTOW, KRIS	SAISD	UL	City Facility	\$2.2450	16.200	\$36.37
	Feb 21, 2025 10:18:41 AM	80186	LARGE, TIFFANY	SAISD - TECHNOLOGY	UL	City Facility	\$2.2510	8.700	\$19.58
<b>SAISD - TECHNOLOGY Totals</b>				<b>17</b>			<b>\$37.3170</b>	<b>271.500</b>	<b>\$595.41</b>
<b>SAISD - WTTC CAREER&amp;TECH</b>									
	Feb 1, 2025 9:56:10 AM	80176	SMITH, HUNTER	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.6290	27.300	\$71.77
	Feb 19, 2025 10:06:04 AM	80176	SMITH, HUNTER	SAISD - REGULAR EDUCATION	DL	City Facility	\$2.7340	17.900	\$48.94
<b>SAISD - WTTC CAREER&amp;TECH Totals</b>				<b>2</b>			<b>\$5.3630</b>	<b>45.200</b>	<b>\$120.71</b>
<b>SEWER COLLECTION</b>									
	Feb 19, 2025 10:10:12 AM	23407	LARA, SAMMY	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.3640	17.400	\$41.13
	Feb 19, 2025 2:55:26 PM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.3640	15.500	\$36.64
	Feb 19, 2025 4:53:51 PM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3640	19.100	\$45.15
	Feb 20, 2025 7:22:46 AM	23281	ARNOLD, BENJAMIN	WATER DISTRIBUTION	UL	City Facility	\$2.3640	22.600	\$53.43
	Feb 20, 2025 7:36:59 AM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8340	48.300	\$136.88
	Feb 20, 2025 7:04:34 AM	23049	VARGAS, GARRY	WATER DISTRIBUTION	UL	City Facility	\$2.3640	22.400	\$52.95
	Feb 24, 2025 11:10:46 AM	23093	TOBIA, MARIO	WATER DISTRIBUTION	DL	City Facility	\$2.6340	40.100	\$105.62
	Feb 20, 2025 8:48:52 AM	23168	GONZALEZ, CESAR	WATER DISTRIBUTION	DL	City Facility	\$2.6340	6.000	\$15.80
	Feb 20, 2025 8:44:22 AM	23168	GONZALEZ, CESAR	WATER DISTRIBUTION	DL	City Facility	\$2.6340	10.200	\$26.87

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 8:26:38 AM	23032	LOPEZ, SEAN	WATER RECLAMATION	UL	San Angelo Airport	\$2.3640	19.600	\$46.33
	Feb 18, 2025 12:43:14 PM	23163	GUTHRIE, JAMES	WATER DISTRIBUTION	DL	City Facility	\$2.6340	20.700	\$54.52
	Feb 18, 2025 1:57:43 PM	23267	TOVAR, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.3640	22.500	\$53.19
	Feb 19, 2025 9:19:26 AM	23344	GREEN, DAVID	WATER DISTRIBUTION	UL	City Facility	\$2.3640	13.600	\$32.15
	Feb 18, 2025 5:01:45 PM	22885	AMADOR, JESSE	WATER DISTRIBUTION	UL	City Facility	\$2.3640	16.200	\$38.30
	Feb 18, 2025 6:15:27 PM	23406	PATTERSON, CHRISTOPHER	WATER DISTRIBUTION	UL	City Facility	\$2.3640	27.500	\$65.01
	Feb 18, 2025 8:39:27 AM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.8340	53.200	\$150.77
	Feb 18, 2025 8:48:30 AM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.3710	24.600	\$58.33
	Feb 18, 2025 8:30:30 AM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8340	50.800	\$143.97
	Feb 18, 2025 7:50:04 AM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.6430	15.000	\$39.64
	Feb 18, 2025 7:48:55 AM	23216	BLOCK, NEIL	WATER DISTRIBUTION	DL	City Facility	\$2.5560	25.000	\$63.90
	Feb 7, 2025 2:41:51 PM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.2770	28.100	\$63.98
	Feb 7, 2025 6:52:18 PM	23281	JOHNSON-DURANT, IAN	WATER DISTRIBUTION	UL	City Facility	\$2.2770	30.700	\$69.90
	Feb 10, 2025 8:56:27 AM	23032	LOPEZ, SEAN	WATER RECLAMATION	UL	City Facility	\$2.2770	18.900	\$43.04
	Feb 10, 2025 9:01:47 AM	23407	LARA, SAMMY	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.2770	24.500	\$55.79
	Feb 10, 2025 8:23:17 AM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2770	20.600	\$46.91
	Feb 10, 2025 7:43:01 AM	23049	VARGAS, GARRY	WATER DISTRIBUTION	UL	City Facility	\$2.2770	24.200	\$55.10
	Feb 10, 2025 7:43:37 AM	23170	ARCHIPOLO, KEVIN	STREET & BRIDGE	DL	City Facility	\$2.5420	8.000	\$20.34
	Feb 10, 2025 9:53:31 AM	23004	BODEN, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.2770	21.500	\$48.96
	Feb 10, 2025 10:19:41 AM	23163	GUTHRIE, JAMES	WATER DISTRIBUTION	DL	City Facility	\$2.5420	29.100	\$73.97
	Feb 10, 2025 2:03:26 PM	23050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.2770	23.100	\$52.60
	Feb 14, 2025 11:36:56 AM	23004	FRANKLIN, ASHBY	WATER DISTRIBUTION	UL	City Facility	\$2.6430	18.200	\$48.10
	Feb 14, 2025 10:05:53 AM	23407	LARA, SAMMY	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.6430	23.200	\$61.32
	Feb 14, 2025 3:31:58 PM	23281	FRANKLIN, JESSIE	WATER DISTRIBUTION	UL	City Facility	\$2.6430	22.600	\$59.73
	Feb 11, 2025 8:15:14 AM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7420	48.700	\$133.54
	Feb 11, 2025 8:21:24 AM	23406	PATTERSON, CHRISTOPHER	WATER DISTRIBUTION	UL	City Facility	\$2.2770	29.700	\$67.63
	Feb 11, 2025 7:47:05 AM	23267	TOVAR, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.2770	23.000	\$52.37
	Feb 14, 2025 9:33:32 AM	23049	VARGAS, GARRY	WATER DISTRIBUTION	UL	City Facility	\$2.6430	30.300	\$80.08
	Feb 24, 2025 8:18:15 AM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.8340	36.100	\$102.31

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 7:49:48 AM	23050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.3510	25.900	\$60.89
	Feb 24, 2025 7:54:00 AM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8340	55.700	\$157.85
	Feb 24, 2025 8:10:24 AM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3510	17.700	\$41.61
	Feb 12, 2025 12:22:38 PM	23004	FRANKLIN, ASHBY	WATER DISTRIBUTION	UL	City Facility	\$2.2780	15.900	\$36.22
	Feb 12, 2025 11:48:40 AM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.2780	16.200	\$36.90
	Feb 12, 2025 9:36:02 AM	23093	TOBIA, MARIO	WATER DISTRIBUTION	DL	City Facility	\$2.5560	32.100	\$82.05
	Feb 12, 2025 8:26:54 AM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.7560	60.400	\$166.46
	Feb 12, 2025 8:37:59 AM	23281	ARNOLD, BENJAMIN	WATER DISTRIBUTION	UL	City Facility	\$2.2780	26.100	\$59.46
	Feb 12, 2025 7:34:09 AM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2780	18.000	\$41.00
	Feb 12, 2025 2:59:06 PM	23170	ARCHIPOLO, KEVIN	STREET & BRIDGE	DL	City Facility	\$2.5560	21.300	\$54.44
	Feb 3, 2025 7:48:00 AM	23406	PATTERSON, CHRISTOPHER	WATER DISTRIBUTION	UL	City Facility	\$2.2260	30.000	\$66.78
	Feb 4, 2025 7:38:30 AM	23004	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.2260	8.700	\$19.37
	Feb 3, 2025 2:13:25 PM	23049	CRUZ, CARMELO	WATER DISTRIBUTION	UL	City Facility	\$2.2260	6.300	\$14.02
	Feb 3, 2025 3:01:22 PM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.2260	24.700	\$54.98
	Feb 3, 2025 9:03:55 AM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.7290	46.800	\$127.72
	Feb 4, 2025 1:37:13 PM	23344	GREEN, DAVID	WATER DISTRIBUTION	UL	City Facility	\$2.2260	15.500	\$34.50
	Feb 4, 2025 12:33:01 PM	23281	JOHNSON-DURANT, IAN	WATER DISTRIBUTION	UL	City Facility	\$2.2260	29.700	\$66.11
	Feb 4, 2025 10:48:02 AM	22920	BODEN, THOMAS	WATER DISTRIBUTION	DL	City Facility	\$2.7290	39.600	\$108.07
	Feb 4, 2025 11:07:56 AM	23093	TOBIA, MARIO	WATER DISTRIBUTION	DL	City Facility	\$2.5290	37.400	\$94.58
	Feb 4, 2025 2:02:32 PM	23049	VARGAS, GARRY	WATER DISTRIBUTION	UL	City Facility	\$2.2260	30.600	\$68.12
	Feb 4, 2025 1:51:10 PM	22316	FRANKLIN, ASHBY	WATER DISTRIBUTION	DL	City Facility	\$2.7420	25.100	\$68.82
	Feb 4, 2025 4:23:15 PM	23393	VALDEZ, JESSE	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7420	30.900	\$84.73
	Feb 5, 2025 8:06:30 AM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2220	17.000	\$37.77
	Feb 5, 2025 8:18:15 AM	23032	LOPEZ, SEAN	WATER RECLAMATION	UL	City Facility	\$2.2220	17.500	\$38.88
	Feb 5, 2025 3:30:24 PM	23004	SANDERS, JOHN	WATER DISTRIBUTION	UL	City Facility	\$2.2220	17.500	\$38.88
	Feb 6, 2025 7:36:58 AM	23170	MARTINEZ, JONATHAN	PARKS	DL	City Facility	\$2.5420	17.200	\$43.72
	Feb 6, 2025 7:37:57 AM	23216	BLOCK, NEIL	WATER DISTRIBUTION	DL	City Facility	\$2.5420	25.700	\$65.33
	Feb 6, 2025 8:10:59 AM	22920	MCANEAR, BRYSON	WATER DISTRIBUTION	DL	City Facility	\$2.7420	54.100	\$148.34
	Feb 6, 2025 7:58:33 AM	23050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.2770	26.800	\$61.02

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 2:16:54 PM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.7420	53.900	\$147.79
	Feb 5, 2025 11:05:37 AM	23407	LARA, SAMMY	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.2220	22.000	\$48.88
	Feb 5, 2025 8:34:00 AM	23168	CRUZ, CARMELO	WATER DISTRIBUTION	DL	City Facility	\$2.5420	20.900	\$53.13
	Feb 13, 2025 2:37:56 PM	23050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.2780	26.200	\$59.68
	Feb 13, 2025 3:19:23 PM	23032	LOPEZ, SEAN	WATER RECLAMATION	UL	City Facility	\$2.2780	19.000	\$43.28
	Feb 14, 2025 7:54:59 AM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7560	55.800	\$153.78
	Feb 14, 2025 7:26:21 AM	22885	AMADOR, JESSE	WATER DISTRIBUTION	UL	City Facility	\$2.2780	20.100	\$45.79
	Feb 7, 2025 12:39:34 PM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7420	60.000	\$164.52
	Feb 7, 2025 7:38:45 AM	22885	AMADOR, JESSE	WATER DISTRIBUTION	UL	City Facility	\$2.2770	16.300	\$37.12
	Feb 7, 2025 8:01:55 AM	23004	BODEN, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.2770	15.900	\$36.20
	Feb 7, 2025 8:34:04 AM	23267	TOVAR, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.2770	12.500	\$28.46
	Feb 21, 2025 7:40:14 AM	23004	BODEN, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.3510	20.500	\$48.20
	Feb 20, 2025 2:33:34 PM	23170	MARTINEZ, JONATHAN	PARKS	DL	City Facility	\$2.6340	16.700	\$43.99
	Feb 22, 2025 5:09:47 PM	23049	CRUZ, CARMELO	WATER DISTRIBUTION	UL	City Facility	\$2.3510	24.900	\$58.54
	Feb 21, 2025 6:15:01 PM	22885	AMADOR, JESSE	WATER DISTRIBUTION	UL	City Facility	\$2.3510	18.800	\$44.20
	Feb 21, 2025 2:11:08 PM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.8340	8.600	\$24.37
	Feb 21, 2025 2:12:47 PM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.3510	15.400	\$36.21
	Feb 25, 2025 12:46:45 PM	23406	PATTERSON, CHRISTOPHER	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.3450	32.100	\$75.27
	Feb 25, 2025 7:47:49 AM	23032	LOPEZ, SEAN	WATER RECLAMATION	UL	City Facility	\$2.3450	39.000	\$91.46
	Feb 25, 2025 9:35:30 AM	23267	TOVAR, THOMAS	WATER DISTRIBUTION	UL	City Facility	\$2.3450	17.500	\$41.04
	Feb 25, 2025 7:57:14 AM	23163	GUTHRIE, JAMES	WATER DISTRIBUTION	DL	City Facility	\$2.6340	23.300	\$61.37
	Feb 25, 2025 2:46:20 PM	23339	VEST, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3450	26.200	\$61.44
	Feb 26, 2025 3:09:58 PM	22920	KUHN, SHAUN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8690	66.400	\$190.50
	Feb 26, 2025 1:03:31 PM	23005	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3520	20.000	\$47.04
	Feb 26, 2025 2:15:37 PM	23049	VARGAS, GARRY	WATER DISTRIBUTION	UL	City Facility	\$2.3520	31.000	\$72.91
	Feb 26, 2025 10:36:25 AM	23344	GREEN, DAVID	WATER DISTRIBUTION	UL	City Facility	\$2.3520	16.400	\$38.57
	Feb 26, 2025 7:00:48 AM	23407	LARA, SAMMY	WATER DISTRIBUTION	UL	City Facility	\$2.3450	21.100	\$49.48
	Feb 27, 2025 10:14:32 AM	23163	GUTHRIE, JAMES	WATER DISTRIBUTION	DL	City Facility	\$2.6690	24.100	\$64.32
	Feb 27, 2025 8:24:11 AM	23048	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.3520	21.000	\$49.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 27, 2025 8:23:14 AM	23189	RAMIREZ, ADOLPH	WATER DISTRIBUTION	DL	City Facility	\$2.8690	51.800	\$148.61
	Feb 27, 2025 7:48:20 AM	23050	GALLANT, CAIN	WATER DISTRIBUTION	UL	City Facility	\$2.3520	29.800	\$70.09
	Feb 27, 2025 7:32:07 AM	22885	AMADOR, JESSE	WATER DISTRIBUTION	UL	City Facility	\$2.3520	18.500	\$43.51
	Feb 27, 2025 7:52:35 AM	23216	BLOCK, NEIL	WATER DISTRIBUTION	DL	City Facility	\$2.6690	27.600	\$73.66
	Feb 28, 2025 9:16:51 AM	22316	SANDERS, JOHN	WATER DISTRIBUTION	DL	City Facility	\$2.8690	35.900	\$103.00
	Feb 28, 2025 7:43:46 AM	23281	ARNOLD, BENJAMIN	WATER DISTRIBUTION	UL	City Facility	\$2.3520	23.300	\$54.80
<b>SEWER COLLECTION Totals</b>				<b>102</b>			<b>\$250.8970</b>	<b>2,693.700</b>	<b>\$6,785.47</b>
<b>STORM WATER</b>									
	Feb 28, 2025 8:26:19 AM	23435	BLAYLOCK, JAMES	ENGINEERING SERVICES	UL	City Facility	\$2.3520	15.100	\$35.52
	Feb 27, 2025 7:07:23 AM	22916	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.6690	17.200	\$45.91
	Feb 27, 2025 4:14:38 AM	23321	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6690	12.300	\$32.83
	Feb 27, 2025 10:53:32 AM	23321	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6690	9.800	\$26.16
	Feb 27, 2025 3:58:52 PM	22836	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.6690	16.600	\$44.31
	Feb 26, 2025 6:07:48 AM	22876	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.3450	12.000	\$28.14
	Feb 26, 2025 6:09:49 AM	23198	MORALES, EDWALDO	STORM WATER	UL	City Facility	\$2.3450	11.700	\$27.44
	Feb 26, 2025 6:10:28 AM	23195	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.3450	9.400	\$22.04
	Feb 26, 2025 3:19:48 PM	23357	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.6690	0.100	\$0.27
	Feb 26, 2025 3:14:26 PM	23287	PERRY, MICHAEL	STORM WATER	UL	City Facility	\$2.3520	9.500	\$22.34
	Feb 26, 2025 3:28:17 PM	23054	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6690	16.900	\$45.11
	Feb 26, 2025 3:58:24 PM	22836	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.6690	21.100	\$56.32
	Feb 26, 2025 4:01:48 PM	22938	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.3520	9.100	\$21.40
	Feb 25, 2025 3:29:39 PM	23054	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6340	19.600	\$51.63
	Feb 25, 2025 3:52:34 PM	22836	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.6340	41.300	\$108.78
	Feb 25, 2025 4:01:34 PM	23119	MORALES, EDWALDO	STORM WATER	DL	City Facility	\$2.6340	25.500	\$67.17
	Feb 25, 2025 4:02:19 PM	23443	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.8340	16.600	\$47.04
	Feb 25, 2025 4:08:11 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.8340	10.800	\$30.61
	Feb 25, 2025 7:10:24 AM	23119	MORALES, EDWALDO	STORM WATER	DL	City Facility	\$2.6340	35.200	\$92.72
	Feb 25, 2025 6:38:49 AM	58	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.8340	3.700	\$10.49

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 3:28:08 PM	22666	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.3510	8.600	\$20.22
	Feb 13, 2025 3:41:44 PM	22938	CARRILLO, ALEX	STORM WATER	UL	City Facility	\$2.2780	5.800	\$13.21
	Feb 13, 2025 3:41:26 PM	23357	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.5560	9.100	\$23.26
	Feb 13, 2025 3:47:08 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.7560	14.900	\$41.06
	Feb 13, 2025 3:53:01 PM	22697	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.7560	23.000	\$63.39
	Feb 13, 2025 3:59:52 PM	22916	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.5560	30.100	\$76.94
	Feb 7, 2025 6:02:36 AM	58	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7420	27.400	\$75.13
	Feb 13, 2025 1:41:20 PM	23443	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.7560	16.300	\$44.92
	Feb 5, 2025 1:19:34 PM	58	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.7420	35.100	\$96.24
	Feb 13, 2025 1:09:02 PM	22498	MORALES, EDWALDO	STORM WATER	UL	City Facility	\$2.2780	18.700	\$42.60
	Feb 6, 2025 9:04:24 AM	23119	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.5420	28.500	\$72.45
	Feb 6, 2025 10:23:19 AM	22835	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.5420	11.900	\$30.25
	Feb 6, 2025 10:24:24 AM	23443	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.7420	14.700	\$40.31
	Feb 6, 2025 6:13:59 AM	22756	CARRILLO, ALEX	STORM WATER	UL	City Facility	\$2.2220	6.900	\$15.33
	Feb 5, 2025 3:44:04 PM	23357	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.5420	20.100	\$51.09
	Feb 5, 2025 3:57:40 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.7420	20.200	\$55.39
	Feb 5, 2025 7:02:39 AM	22916	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.5420	28.600	\$72.70
	Feb 5, 2025 6:09:18 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.7420	50.000	\$137.10
	Feb 4, 2025 4:13:44 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.7420	19.700	\$54.02
	Feb 4, 2025 3:57:53 PM	23443	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.7420	19.200	\$52.65
	Feb 4, 2025 3:52:34 PM	22697	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.7420	17.400	\$47.71
	Feb 4, 2025 3:58:57 PM	23357	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.5420	3.800	\$9.66
	Feb 3, 2025 3:47:44 PM	23443	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.7290	14.400	\$39.30
	Feb 3, 2025 3:48:23 PM	22697	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.7290	13.100	\$35.75
	Feb 3, 2025 3:51:39 PM	23357	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.5290	12.600	\$31.87
	Feb 3, 2025 4:00:26 PM	23287	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.2260	8.100	\$18.03
	Feb 3, 2025 4:10:25 PM	22349	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.7290	16.700	\$45.57
	Feb 4, 2025 6:08:29 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.7290	50.000	\$136.45
	Feb 4, 2025 6:06:28 AM	23078	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.2260	7.500	\$16.70

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 7:08:28 AM	23443	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.7290	28.600	\$78.05
	Feb 3, 2025 7:11:10 AM	22697	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.7290	15.400	\$42.03
	Feb 13, 2025 6:07:11 AM	23287	PURCELL, WILLIAM	STORM WATER	UL	City Facility	\$2.2780	8.800	\$20.05
	Feb 13, 2025 6:09:20 AM	22756	CARRILLO, ALEX	STORM WATER	UL	City Facility	\$2.2780	6.900	\$15.72
	Feb 12, 2025 4:03:55 PM	22938	DOVE, DEBBIE	STORM WATER	UL	City Facility	\$2.2780	8.500	\$19.36
	Feb 12, 2025 4:05:00 PM	23194	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.2780	17.900	\$40.78
	Feb 12, 2025 3:54:16 PM	23195	PERRY, MICHAEL	STORM WATER	UL	City Facility	\$2.2780	8.900	\$20.27
	Feb 12, 2025 6:07:00 AM	22876	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.2780	13.000	\$29.61
	Feb 12, 2025 6:08:45 AM	23078	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.2780	10.700	\$24.37
	Feb 24, 2025 6:58:25 AM	23119	MORALES, EDWALDO	STORM WATER	DL	City Facility	\$2.6340	25.400	\$66.90
	Feb 24, 2025 6:08:11 AM	23195	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.3510	8.700	\$20.45
	Feb 24, 2025 6:08:45 AM	22876	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.3510	10.100	\$23.75
	Feb 11, 2025 4:11:06 PM	22666	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.2780	9.300	\$21.19
	Feb 11, 2025 3:44:24 PM	22938	DOVE, DEBBIE	STORM WATER	UL	City Facility	\$2.2780	7.600	\$17.31
	Feb 11, 2025 10:40:01 AM	58	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7420	38.800	\$106.39
	Feb 11, 2025 9:40:31 AM	58	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7420	38.500	\$105.57
	Feb 11, 2025 7:36:58 AM	58	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7420	29.100	\$79.79
	Feb 10, 2025 3:34:38 PM	23357	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.5420	13.000	\$33.05
	Feb 10, 2025 3:37:03 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.7420	20.300	\$55.66
	Feb 10, 2025 3:43:37 PM	22938	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.2770	12.700	\$28.92
	Feb 10, 2025 3:48:01 PM	22916	HERNANDEZ, ESTEBAN	STORM WATER	DL	City Facility	\$2.5420	7.500	\$19.06
	Feb 10, 2025 3:54:10 PM	22697	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.7420	14.700	\$40.31
	Feb 10, 2025 4:00:25 PM	23443	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.7420	7.500	\$20.56
	Feb 11, 2025 6:07:14 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.7420	42.600	\$116.81
	Feb 10, 2025 6:13:02 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.7420	50.000	\$137.10
	Feb 18, 2025 6:58:00 AM	23054	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.5560	5.700	\$14.57
	Feb 19, 2025 9:24:48 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.8340	12.600	\$35.71
	Feb 19, 2025 6:13:01 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.8340	3.900	\$11.05
	Feb 19, 2025 6:18:21 AM	22876	HERNANDEZ, ESTEBAN	STORM WATER	UL	City Facility	\$2.3640	4.800	\$11.35

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 19, 2025 7:17:49 AM	58	CARRILLO, ALEX	STORM WATER	DL	City Facility	\$2.8340	16.600	\$47.04
	Feb 19, 2025 6:11:08 AM	23078	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	UL	City Facility	\$2.3640	8.500	\$20.09
	Feb 18, 2025 2:45:35 PM	23054	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6340	17.200	\$45.30
	Feb 18, 2025 4:08:03 PM	22697	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.8340	7.900	\$22.39
	Feb 18, 2025 4:10:07 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.8340	11.300	\$32.02
	Feb 18, 2025 4:00:19 PM	23357	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.6340	17.800	\$46.89
	Feb 18, 2025 4:00:38 PM	23443	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.8340	6.000	\$17.00
	Feb 24, 2025 11:54:15 AM	23228	DOVE, DEBBIE	STORM WATER	DL	City Facility	\$2.6340	27.100	\$71.38
	Feb 24, 2025 3:55:15 PM	23124	PURCELL, WILLIAM	STORM WATER	DL	City Facility	\$2.6340	2.900	\$7.64
	Feb 24, 2025 3:56:16 PM	22349	PERRY, MICHAEL	STORM WATER	DL	City Facility	\$2.8340	17.100	\$48.46
	Feb 24, 2025 1:43:56 PM	23054	ZAPATA, ERNEST	STORM WATER	DL	City Facility	\$2.6340	30.800	\$81.13
	Feb 20, 2025 6:13:50 AM	22756	CARRILLO, ALEX	STORM WATER	UL	City Facility	\$2.3640	3.800	\$8.98
	Feb 19, 2025 3:37:05 PM	23291	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.3640	10.100	\$23.88
	Feb 19, 2025 2:54:13 PM	22681	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.8340	12.200	\$34.57
	Feb 19, 2025 3:54:25 PM	22938	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.3640	7.000	\$16.55
	Feb 19, 2025 3:55:11 PM	23396	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.3640	16.400	\$38.77
	Feb 19, 2025 3:58:40 PM	23124	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.6340	2.600	\$6.85
	Feb 19, 2025 3:24:14 PM	22819	PATTERSON, BILLY	STORM WATER	UL	City Facility	\$2.3640	10.900	\$25.77
	Feb 19, 2025 3:03:09 PM	23127	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.6340	7.100	\$18.70
	Feb 19, 2025 10:45:51 AM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.8340	35.200	\$99.76
	Feb 19, 2025 1:28:26 PM	58	MACIAS-DE-LA-TORRE, RAFAEL	STORM WATER	DL	City Facility	\$2.8340	33.900	\$96.07
<b>STORM WATER Totals</b>				<b>99</b>			<b>\$255.3390</b>	<b>1,649.800</b>	<b>\$4,340.51</b>
<b>STREET &amp; BRIDGE</b>									
	Feb 19, 2025 3:13:39 PM	20	DUNN, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.8340	7.700	\$21.82
	Feb 19, 2025 3:12:37 PM	22672	DUNN, DANIEL	STREET & BRIDGE	UL	City Facility	\$2.3640	27.000	\$63.83
	Feb 19, 2025 2:59:30 PM	20	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.8340	7.400	\$20.97
	Feb 20, 2025 7:20:48 AM	23202	GARCIA, DANIEL	STREET & BRIDGE	UL	City Facility	\$2.3640	21.700	\$51.30
	Feb 20, 2025 7:42:17 AM	23071	RUIZ, JOSE	STREET & BRIDGE	UL	City Facility	\$2.3640	26.100	\$61.70
	Feb 20, 2025 7:49:00 AM	20	RUIZ, JOSE	STREET & BRIDGE	DL	City Facility	\$2.8340	7.300	\$20.69

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 10:37:52 AM	23181	RAMIREZ, UVALDE	STREET & BRIDGE	DL	City Facility	\$2.6340	30.000	\$79.02
	Feb 24, 2025 2:01:52 PM	23276	MARTINEZ, MANUEL	STREET & BRIDGE	DL	City Facility	\$2.6340	50.000	\$131.70
	Feb 24, 2025 12:41:22 PM	22399	GEORGE, STEVEN	STREET & BRIDGE	UL	City Facility	\$2.3450	18.000	\$42.21
	Feb 20, 2025 8:28:22 AM	20	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.8340	2.500	\$7.08
	Feb 20, 2025 8:43:08 AM	23182	GARCIA, RODNEY	STREET & BRIDGE	DL	City Facility	\$2.6340	30.000	\$79.02
	Feb 20, 2025 8:20:01 AM	22735	PHILLIPS, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.3640	0.600	\$1.42
	Feb 20, 2025 1:07:08 PM	22274	FORM, ISAIAH	STREET & BRIDGE	UL	City Facility	\$2.3640	25.800	\$60.99
	Feb 20, 2025 1:12:21 PM	23280	LUCIO, JERRY	STREET & BRIDGE	UL	City Facility	\$2.3640	27.400	\$64.77
	Feb 20, 2025 10:17:49 AM	22882	PINEDA, MANUEL	STREET & BRIDGE	UL	City Facility	\$2.3640	18.300	\$43.26
	Feb 20, 2025 10:03:57 AM	23249	MATA, JOSE	STREET & BRIDGE	UL	City Facility	\$2.3640	17.800	\$42.08
	Feb 19, 2025 7:25:01 AM	22855	FIELDS, MILTON	STREET & BRIDGE	DL	City Facility	\$2.8340	27.600	\$78.22
	Feb 19, 2025 7:51:52 AM	23164	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.6340	20.300	\$53.47
	Feb 19, 2025 9:28:53 AM	22734	LOPEZ, ANDREW	STREET & BRIDGE	UL	City Facility	\$2.3640	17.200	\$40.66
	Feb 18, 2025 7:38:21 AM	23425	MARTINEZ, JONATHAN	PARKS	UL	City Facility	\$2.6430	22.600	\$59.73
	Feb 18, 2025 7:43:00 AM	20	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.7560	4.400	\$12.13
	Feb 10, 2025 7:37:44 AM	22673	CORTEZ, PAUL	STREET & BRIDGE	UL	City Facility	\$2.2770	18.200	\$41.44
	Feb 10, 2025 10:24:50 AM	22872	GARCIA, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.5420	28.200	\$71.68
	Feb 11, 2025 6:10:38 AM	23425	MARTINEZ, JONATHAN	PARKS	UL	City Facility	\$2.2770	19.100	\$43.49
	Feb 7, 2025 2:20:43 PM	23312	DILLON, REGAN	STREET & BRIDGE	UL	City Facility	\$2.2770	30.500	\$69.45
	Feb 10, 2025 7:27:47 AM	22672	SALAZAR, PAUL	STREET & BRIDGE	UL	City Facility	\$2.2770	15.600	\$35.52
	Feb 10, 2025 7:30:27 AM	22734	LOPEZ, ANDREW	STREET & BRIDGE	UL	City Facility	\$2.2770	13.300	\$30.28
	Feb 10, 2025 7:30:55 AM	20	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.7420	5.900	\$16.18
	Feb 11, 2025 7:36:27 AM	22237	GARCIA, RODNEY	STREET & BRIDGE	UL	City Facility	\$2.2770	28.600	\$65.12
	Feb 11, 2025 6:53:04 AM	22672	SALAZAR, PAUL	STREET & BRIDGE	UL	City Facility	\$2.2770	13.200	\$30.06
	Feb 11, 2025 7:06:53 AM	23202	FORMAN, ISAAC	STREET & BRIDGE	UL	City Facility	\$2.2770	15.200	\$34.61
	Feb 11, 2025 9:35:06 AM	23249	MATA, JOSE	STREET & BRIDGE	UL	City Facility	\$2.2770	18.700	\$42.58
	Feb 14, 2025 9:30:45 AM	22872	GARCIA, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.5560	29.900	\$76.42
	Feb 14, 2025 2:56:27 PM	22845	REYES, WILLIAM	STREET & BRIDGE	DL	City Facility	\$2.7560	22.900	\$63.11
	Feb 14, 2025 2:24:12 PM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7560	15.100	\$41.62

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 2:31:19 PM	23164	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.5560	17.000	\$43.45
	Feb 24, 2025 7:22:23 AM	23164	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.6340	22.700	\$59.79
	Feb 24, 2025 7:38:11 AM	23071	GUERRERO, LUIS	STORM WATER	UL	City Facility	\$2.3510	12.600	\$29.62
	Feb 24, 2025 7:46:26 AM	22398	CHAPOY, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.3510	8.100	\$19.04
	Feb 24, 2025 9:17:17 AM	22665	YNAJOSA, JOE	STREET & BRIDGE	UL	City Facility	\$2.3510	21.900	\$51.49
	Feb 12, 2025 7:35:26 AM	23182	FIELDS, MILTON	STREET & BRIDGE	DL	City Facility	\$2.5560	30.000	\$76.68
	Feb 12, 2025 8:03:25 AM	22845	REYES, WILLIAM	STREET & BRIDGE	DL	City Facility	\$2.7560	48.800	\$134.49
	Feb 12, 2025 8:18:01 AM	23276	MARTINEZ, MANUEL	STREET & BRIDGE	DL	City Facility	\$2.5560	48.800	\$124.73
	Feb 12, 2025 7:19:35 AM	22274	FORM, ISAIAH	STREET & BRIDGE	UL	City Facility	\$2.2780	21.000	\$47.84
	Feb 12, 2025 7:20:18 AM	23280	RAMIREZ, UVALDE	STREET & BRIDGE	UL	City Facility	\$2.2780	21.500	\$48.98
	Feb 12, 2025 8:48:43 AM	22399	GEORGE, STEVEN	STREET & BRIDGE	UL	City Facility	\$2.2780	16.800	\$38.27
	Feb 12, 2025 10:56:08 AM	23312	CENISEROS, GAVIN	STREET & BRIDGE	UL	City Facility	\$2.2780	25.500	\$58.09
	Feb 12, 2025 10:36:13 AM	22665	YNAJOSA, JOE	STREET & BRIDGE	UL	City Facility	\$2.2780	23.200	\$52.85
	Feb 12, 2025 3:10:16 PM	20	CHAPOY, MICHAEL	STREET & BRIDGE	DL	City Facility	\$2.7560	3.900	\$10.75
	Feb 12, 2025 3:05:38 PM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7560	14.400	\$39.69
	Feb 3, 2025 7:42:09 AM	23181	GARCIA, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.5290	10.100	\$25.54
	Feb 4, 2025 6:20:27 AM	23425	MARTINEZ, JONATHAN	PARKS	UL	City Facility	\$2.2260	31.400	\$69.90
	Feb 4, 2025 6:32:35 AM	22240	MARTINEZ, JONATHAN	PARKS	UL	City Facility	\$2.2260	19.600	\$43.63
	Feb 4, 2025 6:52:05 AM	23213	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7290	11.800	\$32.20
	Feb 4, 2025 7:58:44 AM	23280	RAMIREZ, UVALDE	STREET & BRIDGE	UL	City Facility	\$2.2260	26.600	\$59.21
	Feb 4, 2025 7:59:56 AM	22935	DUNN, DANIEL	STREET & BRIDGE	UL	City Facility	\$2.2260	18.800	\$41.85
	Feb 4, 2025 9:24:44 AM	20	YNAJOSA, JOE	STREET & BRIDGE	DL	City Facility	\$2.7290	19.100	\$52.12
	Feb 4, 2025 9:44:28 AM	20	GEORGE, STEVEN	STREET & BRIDGE	DL	City Facility	\$2.7290	33.800	\$92.24
	Feb 3, 2025 11:31:17 AM	22665	YNAJOSA, JOE	STREET & BRIDGE	UL	City Facility	\$2.2260	20.400	\$45.41
	Feb 4, 2025 2:51:44 PM	23164	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.5420	17.000	\$43.21
	Feb 4, 2025 3:04:25 PM	22679	MARTINEZ, IVAN	STREET & BRIDGE	UL	City Facility	\$2.2260	20.500	\$45.63
	Feb 5, 2025 7:23:50 AM	22569	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.7420	19.000	\$52.10
	Feb 5, 2025 7:28:06 AM	22640	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.5420	5.300	\$13.47
	Feb 13, 2025 7:26:22 AM	22398	CHAPOY, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.2780	12.900	\$29.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 13, 2025 7:22:35 AM	23293	FIELDS, MILTON	STREET & BRIDGE	DL	City Facility	\$2.5560	41.700	\$106.59
	Feb 13, 2025 7:25:08 AM	23071	CENISEROS, GAVIN	STREET & BRIDGE	UL	City Facility	\$2.2780	34.300	\$78.14
	Feb 5, 2025 3:52:48 PM	23213	PATTERSON, BILLY	STORM WATER	DL	City Facility	\$2.7420	7.600	\$20.84
	Feb 6, 2025 7:24:05 AM	23202	LOPEZ, ANDREW	STREET & BRIDGE	UL	City Facility	\$2.2220	30.800	\$68.44
	Feb 6, 2025 8:08:22 AM	23071	CHAPOY, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.2770	26.200	\$59.66
	Feb 13, 2025 1:35:07 PM	23182	GARCIA, RODNEY	STREET & BRIDGE	DL	City Facility	\$2.5560	30.000	\$76.68
	Feb 13, 2025 1:12:48 PM	23329	ANDERSON, JOEY	STREET & BRIDGE	UL	City Facility	\$2.2780	19.400	\$44.19
	Feb 13, 2025 8:06:56 AM	23221	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.5560	30.600	\$78.21
	Feb 13, 2025 9:39:48 AM	22882	PINEDA, MANUEL	STREET & BRIDGE	UL	City Facility	\$2.2780	18.900	\$43.05
	Feb 13, 2025 7:34:11 AM	20	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7560	7.300	\$20.12
	Feb 13, 2025 7:37:53 AM	22672	AGUILLON, DELFINO	STREET & BRIDGE	UL	City Facility	\$2.2780	13.900	\$31.66
	Feb 5, 2025 2:54:19 PM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7420	16.900	\$46.34
	Feb 5, 2025 2:58:32 PM	20	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.7420	7.400	\$20.29
	Feb 5, 2025 2:46:47 PM	22882	PINEDA, MANUEL	STREET & BRIDGE	UL	City Facility	\$2.2220	18.100	\$40.22
	Feb 6, 2025 3:22:47 PM	20	CHAPOY, MICHAEL	STREET & BRIDGE	DL	City Facility	\$2.7420	5.800	\$15.90
	Feb 15, 2025 7:13:14 AM	23280	DUNN, DANIEL	STREET & BRIDGE	UL	City Facility	\$2.6430	22.800	\$60.26
	Feb 13, 2025 3:43:02 PM	23221	BARA, EDWARD	STORM WATER	DL	City Facility	\$2.5560	13.200	\$33.74
	Feb 14, 2025 7:33:14 AM	23164	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.5560	17.400	\$44.47
	Feb 14, 2025 7:34:20 AM	23202	FORMAN, ISAAC	STREET & BRIDGE	UL	City Facility	\$2.6430	23.900	\$63.17
	Feb 14, 2025 7:22:49 AM	22274	FORM, ISAIAH	STREET & BRIDGE	UL	City Facility	\$2.2780	14.600	\$33.26
	Feb 7, 2025 7:25:50 AM	23164	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.5420	13.400	\$34.06
	Feb 14, 2025 6:54:47 AM	23275	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.5560	34.800	\$88.95
	Feb 14, 2025 7:00:51 AM	22640	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.5560	5.000	\$12.78
	Feb 7, 2025 7:40:37 AM	22735	GARCIA, DANIEL	STREET & BRIDGE	UL	City Facility	\$2.2770	17.400	\$39.62
	Feb 7, 2025 7:30:45 AM	22398	CHAPOY, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.2770	11.100	\$25.27
	Feb 7, 2025 7:53:30 AM	23280	PHILLIPS, MICHAEL	STREET & BRIDGE	UL	San Angelo Airport	\$2.2770	19.700	\$44.86
	Feb 7, 2025 11:43:49 AM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7420	12.000	\$32.90
	Feb 7, 2025 11:47:55 AM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.7420	6.900	\$18.92
	Feb 20, 2025 2:56:55 PM	22517	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.8340	17.400	\$49.31

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 20, 2025 2:32:01 PM	23312	MANOSALVA, DIEGO	STREET & BRIDGE	UL	City Facility	\$2.3640	29.200	\$69.03
	Feb 20, 2025 2:33:01 PM	23425	CENISEROS, GAVIN	STREET & BRIDGE	UL	City Facility	\$2.3640	24.900	\$58.86
	Feb 21, 2025 7:42:02 AM	22672	FORMAN, ISAAC	STREET & BRIDGE	UL	City Facility	\$2.3510	2.400	\$5.64
	Feb 21, 2025 7:45:11 AM	22994	GARCIA, RODNEY	STREET & BRIDGE	DL	City Facility	\$2.6340	32.500	\$85.60
	Feb 21, 2025 7:37:15 AM	22872	MANOSALVA, DIEGO	STREET & BRIDGE	DL	City Facility	\$2.6340	11.500	\$30.29
	Feb 21, 2025 7:53:17 AM	22673	CORTEZ, PAUL	STREET & BRIDGE	UL	City Facility	\$2.3510	20.700	\$48.67
	Feb 21, 2025 2:31:35 PM	20	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.8340	7.400	\$20.97
	Feb 21, 2025 2:35:03 PM	22672	SALAZAR, PAUL	STREET & BRIDGE	UL	City Facility	\$2.3510	10.800	\$25.39
	Feb 25, 2025 7:21:31 AM	22644	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.6340	4.500	\$11.85
	Feb 25, 2025 7:25:12 AM	20	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.8340	13.100	\$37.13
	Feb 25, 2025 7:39:00 AM	23071	RUIZ, JOSE	STREET & BRIDGE	UL	City Facility	\$2.3450	2.700	\$6.33
	Feb 25, 2025 2:53:03 PM	23164	SALAZAR, PAUL	STREET & BRIDGE	DL	City Facility	\$2.6340	16.100	\$42.41
	Feb 25, 2025 2:18:41 PM	22672	AGUILLON, DELFINO	STREET & BRIDGE	UL	City Facility	\$2.3450	13.900	\$32.60
	Feb 25, 2025 1:38:58 PM	23221	PHILLIPS, MICHAEL	STREET & BRIDGE	DL	City Facility	\$2.6340	16.900	\$44.51
	Feb 25, 2025 2:20:19 PM	23293	PHILLIPS, MICHAEL	STREET & BRIDGE	DL	City Facility	\$2.6340	24.900	\$65.59
	Feb 25, 2025 2:38:13 PM	22517	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.8340	16.700	\$47.33
	Feb 25, 2025 2:42:59 PM	20	MARTINEZ, IVAN	STREET & BRIDGE	DL	City Facility	\$2.8340	3.600	\$10.20
	Feb 25, 2025 1:52:16 PM	23280	PHILLIPS, MICHAEL	STREET & BRIDGE	UL	City Facility	\$2.3450	24.400	\$57.22
	Feb 25, 2025 1:56:22 PM	23181	PHILLIPS, MICHAEL	STREET & BRIDGE	DL	City Facility	\$2.6340	24.200	\$63.74
	Feb 25, 2025 3:09:45 PM	22855	REYES, WILLIAM	STREET & BRIDGE	DL	City Facility	\$2.8340	15.500	\$43.93
	Feb 26, 2025 2:51:14 PM	23180	GARCIA, RODNEY	STREET & BRIDGE	DL	City Facility	\$2.6340	30.000	\$79.02
	Feb 26, 2025 2:08:01 PM	23202	LOPEZ, ANDREW	STREET & BRIDGE	UL	City Facility	\$2.3520	29.800	\$70.09
	Feb 26, 2025 2:42:31 PM	20	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.8340	5.700	\$16.15
	Feb 26, 2025 8:46:09 AM	22595	GEORGE, STEVEN	STREET & BRIDGE	UL	City Facility	\$2.3520	25.600	\$60.21
	Feb 26, 2025 7:51:14 AM	22872	CENISEROS, GAVIN	STREET & BRIDGE	DL	City Facility	\$2.6340	17.600	\$46.36
	Feb 26, 2025 7:52:37 AM	23425	MARTINEZ, JONATHAN	PARKS	UL	City Facility	\$2.3520	18.400	\$43.28
	Feb 26, 2025 7:22:19 AM	20	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.8340	6.300	\$17.85
	Feb 26, 2025 7:24:46 AM	22644	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.6340	3.100	\$8.17
	Feb 26, 2025 11:08:38 AM	23182	GARCIA, RODNEY	STREET & BRIDGE	DL	City Facility	\$2.6340	30.000	\$79.02

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 11:15:09 AM	23213	FIELDS, MILTON	STREET & BRIDGE	DL	City Facility	\$2.8340	13.800	\$39.11
	Feb 27, 2025 9:05:36 AM	23249	MATA, JOSE	STREET & BRIDGE	UL	City Facility	\$2.3520	18.400	\$43.28
	Feb 27, 2025 7:40:04 AM	22845	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.8690	45.900	\$131.69
	Feb 27, 2025 7:25:19 AM	23202	FORMAN, ISAAC	STREET & BRIDGE	UL	City Facility	\$2.3520	25.800	\$60.68
	Feb 27, 2025 7:47:04 AM	22640	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.6690	5.000	\$13.34
	Feb 27, 2025 8:15:49 AM	20	AGUILLON, DELFINO	STREET & BRIDGE	DL	City Facility	\$2.8690	2.100	\$6.02
	Feb 28, 2025 8:40:31 AM	20	DUNN, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.8690	4.400	\$12.62
	Feb 28, 2025 8:10:20 AM	20	DUNN, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.8690	7.700	\$22.09
	Feb 28, 2025 7:50:32 AM	22734	LOPEZ, ANDREW	STREET & BRIDGE	UL	City Facility	\$2.3520	14.900	\$35.04
	Feb 28, 2025 7:59:56 AM	23312	MANOSALVA, DIEGO	STREET & BRIDGE	UL	City Facility	\$2.3520	28.500	\$67.03
	Feb 28, 2025 7:20:14 AM	23293	RODRIGUEZ, JOSE	STREET & BRIDGE	DL	City Facility	\$2.6690	42.500	\$113.43
	Feb 28, 2025 7:19:46 AM	23221	LUCIO, JERRY	STREET & BRIDGE	DL	City Facility	\$2.6690	46.000	\$122.77
	Feb 28, 2025 7:32:34 AM	20	GARCIA, DANIEL	STREET & BRIDGE	DL	City Facility	\$2.8690	1.000	\$2.87
	Feb 28, 2025 3:06:40 PM	22719	DILLON, REGAN	STREET & BRIDGE	UL	City Facility	\$2.3520	24.400	\$57.39
	Feb 28, 2025 1:02:49 PM	22672	FORMAN, ISAAC	STREET & BRIDGE	UL	City Facility	\$2.3520	18.300	\$43.04
	Feb 28, 2025 2:26:38 PM	23213	ARCHIPOLO, KEVIN	STREET & BRIDGE	DL	City Facility	\$2.8690	16.000	\$45.90
	Feb 28, 2025 2:23:44 PM	23171	GUERRERO, LUIS	STORM WATER	DL	City Facility	\$2.6690	22.700	\$60.59
	Feb 28, 2025 1:11:05 PM	20	FORMAN, ISAAC	STREET & BRIDGE	DL	City Facility	\$2.8690	4.300	\$12.34
	Feb 28, 2025 12:05:14 PM	20	CORTEZ, PAUL	STREET & BRIDGE	DL	City Facility	\$2.8690	32.300	\$92.67
<b>STREET &amp; BRIDGE Totals</b>				<b>141</b>			<b>\$356.7220</b>	<b>2,681.500</b>	<b>\$6,720.53</b>
<b>TRAFFIC OPERATIONS</b>									
	Feb 27, 2025 9:00:09 AM	22937	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	City Facility	\$2.3520	31.800	\$74.79
	Feb 27, 2025 9:08:02 AM	22736	LAMBERT, STEVEN	TRAFFIC OPERATIONS	UL	City Facility	\$2.3520	13.700	\$32.22
	Feb 27, 2025 9:22:04 AM	23316	MADDERS, DUSTIN	TRAFFIC OPERATIONS	UL	City Facility	\$2.3520	30.700	\$72.21
	Feb 26, 2025 10:29:01 AM	22582	SMITH, JOSHUA	TRAFFIC OPERATIONS	UL	City Facility	\$2.3520	29.300	\$68.91
	Feb 26, 2025 3:46:02 PM	17	MADDERS, DUSTIN	TRAFFIC OPERATIONS	UL	City Facility	\$2.3520	1.200	\$2.82
	Feb 20, 2025 4:06:09 PM	22392	NANDIN, ABEL	POLICE	UL	City Facility	\$2.3510	5.800	\$13.64
	Feb 13, 2025 3:31:59 PM	22736	LAMBERT, STEVEN	TRAFFIC OPERATIONS	UL	San Angelo Airport	\$2.2780	14.000	\$31.89
	Feb 13, 2025 3:12:39 PM	23316	ROCHA, MICHAEL	TRAFFIC OPERATIONS	UL	City Facility	\$2.2780	26.500	\$60.37

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 6, 2025 3:49:20 PM	23023	MADDERS, DUSTIN	TRAFFIC OPERATIONS	UL	City Facility	\$2.2770	22.100	\$50.32
	Feb 5, 2025 1:54:28 PM	22736	LAMBERT, STEVEN	TRAFFIC OPERATIONS	UL	San Angelo Airport	\$2.2220	11.700	\$26.00
	Feb 5, 2025 2:11:36 PM	17	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	City Facility	\$2.2220	5.500	\$12.22
	Feb 6, 2025 10:14:52 AM	22384	ROCHA, MICHAEL	TRAFFIC OPERATIONS	UL	San Angelo Airport	\$2.2770	20.000	\$45.54
	Feb 6, 2025 1:55:37 PM	22736	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	San Angelo Airport	\$2.2770	11.000	\$25.05
	Feb 3, 2025 2:14:30 PM	22670	KARCH, ROBERT	TRAFFIC OPERATIONS	UL	City Facility	\$2.2260	17.600	\$39.18
	Feb 4, 2025 6:07:50 AM	17	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	City Facility	\$2.2260	5.400	\$12.02
	Feb 3, 2025 8:33:19 AM	22937	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	City Facility	\$2.2260	30.000	\$66.78
	Feb 12, 2025 3:34:34 PM	22937	ROCHA, MICHAEL	TRAFFIC OPERATIONS	UL	City Facility	\$2.2780	26.100	\$59.46
	Feb 11, 2025 2:02:38 PM	22667	HOHENSEE, DUSTIN	TRAFFIC OPERATIONS	UL	City Facility	\$2.2780	22.400	\$51.03
	Feb 11, 2025 9:45:11 AM	22582	SMITH, JOSHUA	TRAFFIC OPERATIONS	UL	City Facility	\$2.2770	32.900	\$74.91
	Feb 18, 2025 7:55:00 AM	23010	CENISEROS, GAVIN	STREET & BRIDGE	DL	City Facility	\$2.5560	7.300	\$18.66
	Feb 20, 2025 8:24:48 AM	22670	KARCH, ROBERT	TRAFFIC OPERATIONS	UL	City Facility	\$2.3640	18.200	\$43.02
	Feb 20, 2025 8:00:02 AM	23023	MADDERS, DUSTIN	TRAFFIC OPERATIONS	UL	City Facility	\$2.3640	29.900	\$70.68
	Feb 24, 2025 4:26:02 PM	22736	MURIEL, ELVIS	TRAFFIC OPERATIONS	UL	City Facility	\$2.3450	15.800	\$37.05
	Feb 19, 2025 1:06:28 PM	17	LAMBERT, STEVEN	TRAFFIC OPERATIONS	UL	City Facility	\$2.3640	4.900	\$11.58
<b>TRAFFIC OPERATIONS Totals</b>				<b>24</b>			<b>\$55.4460</b>	<b>433.800</b>	<b>\$1,000.35</b>
<b>WATER BILLING</b>									
	Feb 19, 2025 2:05:52 PM	23370	CONTRERAS, GINA	WATER BILLING	UL	City Facility	\$2.3640	15.100	\$35.70
	Feb 24, 2025 4:01:50 PM	23369	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3450	5.400	\$12.66
	Feb 20, 2025 11:32:53 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.3640	10.000	\$23.64
	Feb 20, 2025 1:35:12 PM	23369	LOZANO, PEDRO	WATER BILLING	UL	City Facility	\$2.3640	13.600	\$32.15
	Feb 18, 2025 2:08:28 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3640	6.600	\$15.60
	Feb 18, 2025 2:10:33 PM	23306	COLEMAN, LESLEY	WATER BILLING	UL	City Facility	\$2.3640	11.900	\$28.13
	Feb 18, 2025 2:25:15 PM	23431	CABEZUELA, ORLANDO	WATER BILLING	UL	City Facility	\$2.3640	11.300	\$26.71
	Feb 18, 2025 11:21:40 AM	22977	LOZANO, PEDRO	WATER BILLING	UL	City Facility	\$2.3640	13.000	\$30.73
	Feb 11, 2025 8:14:21 AM	23306	COLEMAN, LESLEY	WATER BILLING	UL	City Facility	\$2.2770	10.900	\$24.82
	Feb 14, 2025 10:37:31 AM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	San Angelo Airport	\$2.6430	17.000	\$44.93

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 3:59:34 PM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.6430	11.100	\$29.34
	Feb 11, 2025 2:57:50 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2780	3.700	\$8.43
	Feb 24, 2025 8:22:48 AM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3510	5.600	\$13.17
	Feb 7, 2025 3:27:19 PM	23370	CONTRERAS, GINA	WATER BILLING	UL	City Facility	\$2.2770	15.200	\$34.61
	Feb 7, 2025 4:09:23 PM	23369	LOZANO, PEDRO	WATER BILLING	UL	City Facility	\$2.2770	17.800	\$40.53
	Feb 10, 2025 4:06:50 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2770	3.800	\$8.65
	Feb 10, 2025 11:18:07 AM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	City Facility	\$2.2770	13.800	\$31.42
	Feb 10, 2025 9:49:29 AM	23431	CABEZUELA, ORLANDO	WATER BILLING	UL	City Facility	\$2.2770	13.500	\$30.74
	Feb 12, 2025 4:00:15 PM	23370	CONTRERAS, GINA	WATER BILLING	UL	City Facility	\$2.2780	14.800	\$33.71
	Feb 12, 2025 2:49:32 PM	23369	LOZANO, PEDRO	WATER BILLING	UL	City Facility	\$2.2780	15.300	\$34.85
	Feb 12, 2025 10:49:00 AM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.2780	15.300	\$34.85
	Feb 3, 2025 2:25:10 PM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.2260	13.600	\$30.27
	Feb 3, 2025 2:40:40 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2260	7.600	\$16.92
	Feb 5, 2025 8:08:12 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.2220	14.400	\$32.00
	Feb 4, 2025 2:24:45 PM	23370	CONTRERAS, GINA	WATER BILLING	UL	City Facility	\$2.2260	15.300	\$34.06
	Feb 4, 2025 4:15:33 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2260	5.400	\$12.02
	Feb 4, 2025 4:39:11 PM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	City Facility	\$2.2260	13.000	\$28.94
	Feb 4, 2025 4:26:46 PM	23369	LOZANO, PEDRO	WATER BILLING	UL	City Facility	\$2.2260	16.700	\$37.17
	Feb 5, 2025 4:18:06 PM	23306	COLEMAN, LESLEY	WATER BILLING	UL	City Facility	\$2.2220	14.000	\$31.11
	Feb 13, 2025 11:33:21 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.2780	11.300	\$25.74
	Feb 13, 2025 3:40:22 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.2780	7.000	\$15.95
	Feb 7, 2025 11:21:48 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.2770	10.100	\$23.00
	Feb 7, 2025 11:08:45 AM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.2770	16.300	\$37.12
	Feb 20, 2025 2:37:37 PM	23305	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3640	6.600	\$15.60
	Feb 20, 2025 2:24:50 PM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	City Facility	\$2.3640	12.100	\$28.60
	Feb 21, 2025 8:12:37 AM	23306	COLEMAN, LESLEY	WATER BILLING	UL	City Facility	\$2.3510	11.600	\$27.27
	Feb 21, 2025 2:30:25 PM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.3510	17.100	\$40.20
	Feb 26, 2025 4:15:04 PM	23369	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3520	6.600	\$15.52
	Feb 26, 2025 2:26:00 PM	23431	CABEZUELA, ORLANDO	WATER BILLING	UL	City Facility	\$2.3520	13.400	\$31.52

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 25, 2025 2:16:53 PM	23369	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3450	5.200	\$12.19
	Feb 25, 2025 1:31:53 PM	23370	CONTRERAS, GINA	WATER BILLING	UL	City Facility	\$2.3450	18.400	\$43.15
	Feb 25, 2025 11:17:59 AM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	City Facility	\$2.3450	13.700	\$32.13
	Feb 25, 2025 11:27:27 AM	23306	COLEMAN, LESLEY	WATER BILLING	UL	City Facility	\$2.3450	13.100	\$30.72
	Feb 27, 2025 11:07:02 AM	23263	MARTINEZ, JEFFREY	WATER BILLING	UL	City Facility	\$2.3520	17.400	\$40.92
	Feb 27, 2025 4:12:20 PM	23369	DICKSON, CHRIS	WATER BILLING	UL	City Facility	\$2.3520	4.900	\$11.52
	Feb 27, 2025 8:10:38 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.3520	12.600	\$29.64
	Feb 28, 2025 12:06:54 PM	23059	GUTIERREZ, BRANDON	WATER BILLING	UL	City Facility	\$2.3520	17.000	\$39.98
	Feb 28, 2025 11:18:10 AM	22978	HINOJOS, FRANK	WATER BILLING	UL	City Facility	\$2.3520	10.700	\$25.17
<b>WATER BILLING Totals</b>				<b>48</b>			<b>\$111.4880</b>	<b>569.800</b>	<b>\$1,323.80</b>
<b>WATER DISTRIBUTION</b>									
	Feb 28, 2025 1:57:28 PM	23415	SANDERS, JOHN	WATER DISTRIBUTION	UL	City Facility	\$2.3520	19.100	\$44.92
	Feb 28, 2025 12:58:15 PM	23405	KENDALL, KAITLYN	WATER DISTRIBUTION	UL	City Facility	\$2.3520	27.400	\$64.44
	Feb 28, 2025 8:07:14 AM	23404	MARQUEZ, CARLOS	WATER DISTRIBUTION	UL	City Facility	\$2.3520	30.100	\$70.80
	Feb 28, 2025 9:50:34 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.8690	52.300	\$150.05
	Feb 27, 2025 8:01:34 AM	23337	GONZALEZ, CESAR	WATER DISTRIBUTION	UL	City Facility	\$2.3520	3.400	\$8.00
	Feb 27, 2025 7:42:50 AM	23282	ROJAS, AARON	WATER DISTRIBUTION	UL	City Facility	\$2.3520	28.400	\$66.80
	Feb 27, 2025 7:53:52 AM	23337	GONZALEZ, CESAR	WATER DISTRIBUTION	UL	City Facility	\$2.3520	35.000	\$82.32
	Feb 27, 2025 7:58:17 AM	22870	JOHNSON-DURANT, IAN	WATER DISTRIBUTION	UL	City Facility	\$2.3520	17.900	\$42.10
	Feb 27, 2025 7:19:08 AM	22856	DELACRUZ, FERMIN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8690	38.700	\$111.03
	Feb 25, 2025 7:09:54 AM	22838	VALDEZ, JESSE	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8340	49.700	\$140.85
	Feb 25, 2025 1:23:19 PM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.8340	25.400	\$71.98
	Feb 26, 2025 1:26:30 PM	23012	HUIZAR, JOSHUA	WATER DISTRIBUTION	UL	City Facility	\$2.3520	20.800	\$48.92
	Feb 26, 2025 9:28:18 AM	23179	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.6340	30.000	\$79.02
	Feb 26, 2025 7:31:59 AM	23064	HERNANDEZ, RODOLFO	WATER DISTRIBUTION	UL	City Facility	\$2.3450	23.600	\$55.34
	Feb 26, 2025 7:16:52 AM	23162	HERNANDEZ, PATRICK	WATER DISTRIBUTION	DL	City Facility	\$2.6340	22.100	\$58.21
	Feb 21, 2025 7:22:47 AM	23282	ROJAS, AARON	WATER DISTRIBUTION	UL	City Facility	\$2.3510	26.200	\$61.60
	Feb 7, 2025 10:14:16 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.7420	58.000	\$159.04
	Feb 7, 2025 7:55:16 AM	23282	ROJAS, AARON	WATER DISTRIBUTION	UL	City Facility	\$2.2770	28.100	\$63.98

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 7, 2025 7:50:56 AM	22816	FRANKLIN, JESSIE	WATER DISTRIBUTION	UL	City Facility	\$2.2770	14.000	\$31.88
	Feb 7, 2025 8:26:24 AM	23185	ELGUEZABAL, JOHN	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.5420	5.700	\$14.49
	Feb 7, 2025 7:44:50 AM	22820	VILLARREAL, ADRIAN	WATER DISTRIBUTION	UL	City Facility	\$2.2770	26.000	\$59.20
	Feb 7, 2025 9:52:34 AM	23162	VILLARREAL, ADRIAN	WATER DISTRIBUTION	DL	City Facility	\$2.5420	30.700	\$78.04
	Feb 14, 2025 8:01:44 AM	23282	ROJAS, AARON	WATER DISTRIBUTION	UL	City Facility	\$2.6430	30.200	\$79.82
	Feb 14, 2025 7:38:43 AM	22816	JOHNSON-DURANT, IAN	WATER DISTRIBUTION	UL	City Facility	\$2.6430	15.300	\$40.44
	Feb 14, 2025 7:57:39 AM	22175	HORTON, ANDRE	WATER DISTRIBUTION	UL	City Facility	\$2.6430	13.900	\$36.74
	Feb 13, 2025 7:09:16 AM	22838	VALDEZ, JESSE	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7560	56.800	\$156.54
	Feb 13, 2025 7:59:55 AM	22820	VILLARREAL, ADRIAN	WATER DISTRIBUTION	UL	City Facility	\$2.2780	23.800	\$54.22
	Feb 13, 2025 9:42:51 AM	22817	PINKELMAN, DANIEL	WATER DISTRIBUTION	UL	City Facility	\$2.2780	15.000	\$34.17
	Feb 5, 2025 12:58:49 PM	23244	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.2220	19.800	\$44.00
	Feb 5, 2025 11:26:49 AM	23179	TOBIA, MARIO	WATER DISTRIBUTION	DL	City Facility	\$2.5420	30.000	\$76.26
	Feb 5, 2025 10:57:03 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.7420	43.900	\$120.37
	Feb 5, 2025 3:29:24 PM	23415	SANDERS, JOHN	WATER DISTRIBUTION	UL	City Facility	\$2.2220	19.700	\$43.77
	Feb 6, 2025 11:09:12 AM	23012	LARA, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2770	16.800	\$38.25
	Feb 4, 2025 12:09:34 PM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.7290	47.500	\$129.63
	Feb 4, 2025 1:27:56 PM	22816	FRANKLIN, JESSIE	WATER DISTRIBUTION	UL	City Facility	\$2.2260	18.500	\$41.18
	Feb 5, 2025 7:51:07 AM	23405	KENDALL, KAITLYN	WATER DISTRIBUTION	UL	City Facility	\$2.2220	30.600	\$67.99
	Feb 5, 2025 7:36:55 AM	22838	VALDEZ, JESSE	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7420	58.200	\$159.58
	Feb 3, 2025 11:29:44 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.7290	44.600	\$121.71
	Feb 4, 2025 8:05:32 AM	23147	HERNANDEZ, PATRICK	WATER DISTRIBUTION	DL	City Facility	\$2.5290	27.700	\$70.05
	Feb 4, 2025 7:36:22 AM	23167	MCANEAR, BRYSON	WATER DISTRIBUTION	DL	City Facility	\$2.5290	20.600	\$52.10
	Feb 4, 2025 8:26:33 AM	23012	LARA, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2260	12.900	\$28.72
	Feb 12, 2025 8:48:01 AM	23237	KUHN, SHAUN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	16.200	\$36.90
	Feb 12, 2025 8:30:01 AM	22820	VILLARREAL, ADRIAN	WATER DISTRIBUTION	UL	City Facility	\$2.2780	9.300	\$21.19
	Feb 12, 2025 7:24:23 AM	23405	KENDALL, KAITLYN	WATER DISTRIBUTION	UL	City Facility	\$2.2780	24.800	\$56.49
	Feb 12, 2025 7:48:37 AM	23012	LARA, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2780	15.300	\$34.85
	Feb 12, 2025 3:28:05 PM	23244	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.2780	17.000	\$38.73
	Feb 3, 2025 8:00:46 AM	22820	FRANKLIN, ASHBY	WATER DISTRIBUTION	UL	City Facility	\$2.2260	30.400	\$67.67

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 3, 2025 7:53:01 AM	23415	SANDERS, JOHN	WATER DISTRIBUTION	UL	City Facility	\$2.2260	26.500	\$58.99
	Feb 10, 2025 10:17:27 AM	23337	GONZALEZ, CESAR	WATER DISTRIBUTION	UL	City Facility	\$2.2770	27.600	\$62.85
	Feb 10, 2025 11:13:55 AM	23012	LARA, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2770	7.000	\$15.94
	Feb 10, 2025 3:27:17 PM	23244	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.2770	14.300	\$32.56
	Feb 10, 2025 2:05:01 PM	22856	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.7420	48.900	\$134.08
	Feb 8, 2025 4:05:16 PM	23415	SANDERS, JOHN	WATER DISTRIBUTION	UL	San Angelo Airport	\$2.2770	17.000	\$38.71
	Feb 24, 2025 8:37:29 AM	23415	SANDERS, JOHN	WATER DISTRIBUTION	UL	City Facility	\$2.3510	35.000	\$82.28
	Feb 24, 2025 7:40:36 AM	23012	HUIZAR, JOSHUA	WATER DISTRIBUTION	UL	City Facility	\$2.3510	10.300	\$24.22
	Feb 11, 2025 7:37:40 AM	23064	HERNANDEZ, RODOLFO	WATER DISTRIBUTION	UL	City Facility	\$2.2770	26.700	\$60.80
	Feb 11, 2025 7:56:51 AM	22871	TIMM, NATHAN	WATER DISTRIBUTION	UL	City Facility	\$2.2770	20.600	\$46.91
	Feb 11, 2025 8:04:31 AM	23146	BODEN, THOMAS	WATER DISTRIBUTION	DL	City Facility	\$2.5420	17.800	\$45.25
	Feb 11, 2025 7:43:12 AM	23012	LARA, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.2770	12.900	\$29.37
	Feb 14, 2025 8:22:18 AM	23012	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.6430	16.000	\$42.29
	Feb 18, 2025 10:45:33 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.8340	44.900	\$127.25
	Feb 19, 2025 8:21:03 AM	23012	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.3640	19.400	\$45.86
	Feb 19, 2025 7:23:59 AM	22820	VILLARREAL, ADRIAN	WATER DISTRIBUTION	UL	City Facility	\$2.3640	28.600	\$67.61
	Feb 18, 2025 7:29:57 AM	23064	HERNANDEZ, RODOLFO	WATER DISTRIBUTION	UL	City Facility	\$2.6430	24.500	\$64.75
	Feb 18, 2025 8:34:17 AM	23244	GUTHRIE, JAMES	WATER DISTRIBUTION	UL	City Facility	\$2.3710	20.400	\$48.37
	Feb 18, 2025 8:29:43 AM	23162	GONZALEZ, CESAR	WATER DISTRIBUTION	DL	City Facility	\$2.6340	20.500	\$54.00
	Feb 18, 2025 8:24:19 AM	23337	GONZALEZ, CESAR	WATER DISTRIBUTION	UL	City Facility	\$2.6430	23.900	\$63.17
	Feb 18, 2025 8:20:58 AM	23147	CRUZ, CARMELO	WATER DISTRIBUTION	DL	City Facility	\$2.5560	13.800	\$35.27
	Feb 18, 2025 8:59:56 AM	23179	TOBIA, MARIO	WATER DISTRIBUTION	DL	City Facility	\$2.6340	30.000	\$79.02
	Feb 18, 2025 9:55:15 AM	23404	MARQUEZ, CARLOS	WATER DISTRIBUTION	UL	City Facility	\$2.3710	31.100	\$73.74
	Feb 20, 2025 1:05:37 PM	23405	SALGADO, ROSS	WATER DISTRIBUTION	UL	City Facility	\$2.3640	30.400	\$71.87
	Feb 20, 2025 12:59:30 PM	22816	JOHNSON-DURANT, IAN	WATER DISTRIBUTION	UL	City Facility	\$2.3640	19.200	\$45.39
	Feb 20, 2025 9:49:52 AM	22870	HORTON, ANDRE	WATER DISTRIBUTION	UL	City Facility	\$2.3640	18.600	\$43.97
	Feb 24, 2025 2:28:58 PM	23237	KUHN, SHAUN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3450	17.600	\$41.27
	Feb 24, 2025 1:43:26 PM	23244	LARA, JOSEPH	WATER DISTRIBUTION	UL	City Facility	\$2.3450	18.700	\$43.85
	Feb 24, 2025 2:24:22 PM	22820	VILLARREAL, ADRIAN	WATER DISTRIBUTION	UL	City Facility	\$2.3450	26.200	\$61.44

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 24, 2025 10:58:26 AM	22402	HORTON, ANDRE	WATER DISTRIBUTION	DL	City Facility	\$2.8340	46.700	\$132.35
	Feb 24, 2025 11:32:59 AM	23064	HERNANDEZ, RODOLFO	WATER DISTRIBUTION	UL	City Facility	\$2.3450	24.400	\$57.22
<b>WATER DISTRIBUTION Totals</b>				<b>78</b>			<b>\$191.1510</b>	<b>2,010.900</b>	<b>\$5,045.03</b>
<b>WATER PRODUCTION</b>									
	Feb 19, 2025 12:41:15 PM	22283	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.8340	22.400	\$63.48
	Feb 19, 2025 11:06:32 AM	23259	ESPINOZA, JASON	WATER PRODUCTION	UL	San Angelo Airport	\$2.1640	14.300	\$30.95
	Feb 18, 2025 2:49:07 PM	23262	OCKER, STEVE	WATER PRODUCTION	UL	City Facility	\$2.1640	13.900	\$30.08
	Feb 11, 2025 11:08:22 AM	22663	FREY, TRAVIS	WATER PRODUCTION	UL	City Facility	\$2.2770	21.800	\$49.64
	Feb 11, 2025 3:39:27 PM	23262	OCKER, STEVE	WATER PRODUCTION	UL	City Facility	\$2.0780	15.200	\$31.59
	Feb 12, 2025 11:15:42 AM	23261	ESPINOZA, JASON	WATER PRODUCTION	UL	San Angelo Airport	\$2.0780	11.200	\$23.27
	Feb 4, 2025 7:44:17 AM	22283	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7290	17.900	\$48.85
	Feb 3, 2025 3:07:45 PM	24	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.2260	5.000	\$11.13
	Feb 3, 2025 4:23:42 PM	22663	FREY, TRAVIS	WATER PRODUCTION	UL	City Facility	\$2.2260	19.500	\$43.41
	Feb 6, 2025 11:05:15 AM	23261	ESPINOZA, JASON	WATER PRODUCTION	UL	San Angelo Airport	\$2.0770	14.500	\$30.12
	Feb 6, 2025 10:27:34 AM	23411	GAMEZ, OSIEL	WATER RECLAMATION	UL	City Facility	\$2.2770	25.500	\$58.06
	Feb 5, 2025 3:11:43 PM	23262	OCKER, STEVE	WATER PRODUCTION	UL	San Angelo Airport	\$2.0220	14.700	\$29.72
	Feb 13, 2025 1:59:09 PM	24	GAMEZ, OSIEL	WATER RECLAMATION	DL	City Facility	\$2.7560	60.000	\$165.36
	Feb 13, 2025 9:45:47 AM	22453	MACIAS, EMMANUEL	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.5560	9.600	\$24.54
	Feb 13, 2025 1:50:32 PM	24	GAMEZ, OSIEL	WATER RECLAMATION	DL	City Facility	\$2.7560	60.000	\$165.36
	Feb 21, 2025 9:38:07 AM	22663	GAMEZ, OSIEL	WATER RECLAMATION	UL	City Facility	\$2.3510	23.400	\$55.01
	Feb 21, 2025 11:28:08 AM	23261	ESPINOZA, JASON	WATER PRODUCTION	UL	San Angelo Airport	\$2.1510	14.700	\$31.62
	Feb 21, 2025 1:31:40 PM	23262	OCKER, STEVE	WATER PRODUCTION	UL	San Angelo Airport	\$2.1510	14.000	\$30.11
	Feb 21, 2025 2:16:23 PM	24	HAYS, DAVID	SEWER COLLECTION	UL	City Facility	\$2.3510	4.600	\$10.81
	Feb 21, 2025 3:25:38 PM	23411	GAMEZ, OSIEL	WATER RECLAMATION	UL	City Facility	\$2.3510	23.300	\$54.78
	Feb 26, 2025 11:44:45 AM	24	GAMEZ, OSIEL	WATER RECLAMATION	DL	City Facility	\$2.8340	60.000	\$170.04
	Feb 26, 2025 11:51:57 AM	24	GAMEZ, OSIEL	WATER RECLAMATION	DL	City Facility	\$2.8340	36.300	\$102.87
	Feb 26, 2025 3:23:09 PM	23262	OCKER, STEVE	WATER PRODUCTION	UL	City Facility	\$2.1520	15.500	\$33.36
	Feb 28, 2025 2:28:56 PM	22663	FREY, TRAVIS	WATER PRODUCTION	UL	City Facility	\$2.3520	22.600	\$53.16

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
<b>WATER PRODUCTION Totals</b>				<b>24</b>			<b>\$56.7470</b>	<b>539.900</b>	<b>\$1,347.32</b>
<b>WATER QUALITY LAB</b>									
	Feb 28, 2025 3:25:51 PM	22686	CANTU, ABRAM	WATER QUALITY LAB	UL	City Facility	\$2.3520	8.300	\$19.52
	Feb 28, 2025 3:31:53 PM	23380	MITCHELL, BRONTE	WATER QUALITY LAB	UL	City Facility	\$2.3520	24.000	\$56.45
	Feb 28, 2025 9:29:37 AM	22505	OWEN, RANDALL	PERMITS/INSPECTIONS	UL	City Facility	\$2.3520	21.100	\$49.63
	Feb 27, 2025 8:34:09 AM	22686	CANTU, ABRAM	WATER QUALITY LAB	UL	City Facility	\$2.3520	12.400	\$29.16
	Feb 26, 2025 10:52:10 AM	22397	KRESTA, CLYDE	WATER QUALITY LAB	UL	City Facility	\$2.3520	21.700	\$51.04
	Feb 25, 2025 10:13:51 AM	23252	CASIAS, DANIEL	WATER QUALITY LAB	UL	City Facility	\$2.3450	15.300	\$35.88
	Feb 20, 2025 2:12:58 PM	22686	CANTU, ABRAM	WATER QUALITY LAB	UL	City Facility	\$2.3640	9.300	\$21.99
	Feb 7, 2025 11:06:56 AM	22397	KRESTA, CLYDE	WATER QUALITY LAB	UL	San Angelo Airport	\$2.2770	22.200	\$50.55
	Feb 7, 2025 11:23:12 AM	22505	OWEN, RANDALL	PERMITS/INSPECTIONS	UL	City Facility	\$2.2770	16.000	\$36.43
	Feb 13, 2025 2:46:32 PM	22446	PURCELL, MIKE	WATER QUALITY LAB	UL	City Facility	\$2.2780	24.200	\$55.13
	Feb 4, 2025 1:44:25 PM	22686	CANTU, ABRAM	WATER QUALITY LAB	UL	City Facility	\$2.2260	10.800	\$24.04
	Feb 12, 2025 3:59:15 PM	22686	MITCHELL, BRONTE	WATER QUALITY LAB	UL	City Facility	\$2.2780	14.000	\$31.89
	Feb 10, 2025 2:28:40 PM	23252	CASIAS, DANIEL	WATER QUALITY LAB	UL	City Facility	\$2.2770	17.900	\$40.76
	Feb 18, 2025 2:03:32 PM	23253	BROWN, WILLIAM	WATER QUALITY LAB	UL	City Facility	\$2.3640	15.200	\$35.93
<b>WATER QUALITY LAB Totals</b>				<b>14</b>			<b>\$32.4460</b>	<b>232.400</b>	<b>\$538.40</b>
<b>WATER RECLAMATION</b> Did Not Charge for SAISD charges									
	Feb 18, 2025 1:09:53 PM	23193	SEARCY, JERRY	WATER RECLAMATION	UL	City Facility	\$2.3640	28.000	\$66.19
	Feb 19, 2025 10:52:46 AM	22664	SANCHEZ, SAM	WATER RECLAMATION	UL	City Facility	\$2.3640	20.500	\$48.46
	Feb 19, 2025 10:12:27 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3640	17.000	\$40.19
	Feb 19, 2025 12:28:05 PM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.3640	17.900	\$42.32
	Feb 20, 2025 10:22:28 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3640	13.700	\$32.39
	Feb 10, 2025 4:50:41 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2770	15.300	\$34.84
	Feb 7, 2025 4:24:57 PM	23193	SEARCY, JERRY	WATER RECLAMATION	UL	City Facility	\$2.2770	26.600	\$60.57
	Feb 7, 2025 4:29:30 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2770	12.700	\$28.92
	Feb 11, 2025 4:57:40 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2780	13.600	\$30.98
	Feb 11, 2025 11:26:01 AM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.2780	20.800	\$47.38

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 14, 2025 4:39:05 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.6430	12.600	\$33.30
	Feb 14, 2025 12:00:51 PM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.6430	20.600	\$54.45
	Feb 12, 2025 5:01:50 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2780	13.800	\$31.44
	Feb 5, 2025 5:42:06 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2260	14.500	\$32.28
	Feb 3, 2025 5:18:41 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2260	21.700	\$48.30
	Feb 3, 2025 1:12:13 PM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.2260	17.300	\$38.51
	Feb 6, 2025 5:11:23 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2770	14.600	\$33.24
	Feb 13, 2025 4:53:11 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2780	14.100	\$32.12
	Feb 5, 2025 9:24:32 AM	22141	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.7420	58.700	\$160.96
	Feb 5, 2025 5:32:49 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.2220	16.200	\$36.00
	Feb 21, 2025 11:50:39 AM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.3510	16.900	\$39.73
	Feb 21, 2025 4:23:55 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3510	17.600	\$41.38
	Feb 25, 2025 10:12:58 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3450	17.100	\$40.10
	Feb 25, 2025 1:07:21 PM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.3450	17.600	\$41.27
	Feb 26, 2025 10:12:47 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3520	12.300	\$28.93
	Feb 27, 2025 12:12:11 PM	22815	STALLWORTH, JEREMY	WATER RECLAMATION	UL	City Facility	\$2.3520	15.900	\$37.40
	Feb 27, 2025 10:23:36 AM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3520	11.900	\$27.99
	Feb 28, 2025 1:37:36 PM	32	RUIZ, ELOY	SAISD - REGULAR EDUCATION	UL	City Facility	\$2.3520	11.300	\$26.58
<b>WATER RECLAMATION Totals</b>				<b>28</b>			<b>\$65.7680</b>	<b>510.800</b>	<b>\$1,216.22</b>
<b>WATER UTILITY MAINTENANCE</b>									
	Feb 28, 2025 12:27:23 PM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	15.900	\$37.40
	Feb 28, 2025 3:15:11 PM	23063	GONZALES, JAY	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.6690	11.100	\$29.63
	Feb 28, 2025 4:03:26 PM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	25.500	\$59.98
	Feb 28, 2025 4:28:42 PM	23008	KEY, JEFF	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	19.000	\$44.69
	Feb 28, 2025 8:15:24 AM	23017	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	16.900	\$39.75
	Feb 27, 2025 8:46:21 AM	23047	QUISENBERRY, JUSTIN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	23.700	\$55.74
	Feb 26, 2025 9:47:12 AM	11414	MACIAS, EMMANUEL	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.6340	19.400	\$51.10
	Feb 26, 2025 11:33:06 AM	23203	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	26.100	\$61.39

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 26, 2025 7:44:16 AM	26	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3520	2.000	\$4.70
	Feb 26, 2025 3:03:33 PM	23205	FRANCO, NOE	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3520	29.200	\$68.68
	Feb 25, 2025 7:43:50 AM	22828	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3450	27.000	\$63.32
	Feb 25, 2025 8:20:57 AM	26	MANLEY, MICHAEL	WATER DISTRIBUTION	UL	City Facility	\$2.3450	4.900	\$11.49
	Feb 21, 2025 3:30:55 PM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3510	26.000	\$61.13
	Feb 21, 2025 3:19:03 PM	23017	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3510	14.800	\$34.79
	Feb 21, 2025 10:06:43 AM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	San Angelo Airport	\$2.3510	15.200	\$35.74
	Feb 6, 2025 7:54:00 AM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	14.700	\$32.66
	Feb 6, 2025 10:48:24 AM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	31.500	\$71.73
	Feb 5, 2025 10:02:18 AM	22685	MACIAS, EMMANUEL	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	15.700	\$34.89
	Feb 5, 2025 10:05:28 AM	23047	QUISENBERRY, JUSTIN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	20.700	\$46.00
	Feb 13, 2025 9:45:13 AM	22828	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	23.700	\$53.99
	Feb 13, 2025 10:05:19 AM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	26.800	\$61.05
	Feb 13, 2025 8:08:29 AM	23047	ELGUEZABAL, JOHN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	19.500	\$44.42
	Feb 13, 2025 8:08:51 AM	23203	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	San Angelo Airport	\$2.2780	25.400	\$57.86
	Feb 7, 2025 8:12:43 AM	23017	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	14.300	\$32.56
	Feb 7, 2025 8:26:50 AM	22828	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	20.400	\$46.45
	Feb 4, 2025 7:43:47 AM	22828	ELGUEZABAL, JOHN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2260	29.100	\$64.78
	Feb 4, 2025 8:30:23 AM	26	LARA, MICHAEL	WATER DISTRIBUTION	DL	City Facility	\$2.7290	10.600	\$28.93
	Feb 5, 2025 7:47:43 AM	22869	TALBERT, ERIC	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	9.500	\$21.11
	Feb 5, 2025 7:54:51 AM	23203	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	23.200	\$51.55
	Feb 5, 2025 8:25:39 AM	22638	FRANCO, NOE	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2220	25.400	\$56.44
	Feb 12, 2025 12:54:34 PM	23008	KEY, JEFF	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	0.100	\$0.23
	Feb 12, 2025 12:56:25 PM	23008	KEY, JEFF	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	20.100	\$45.79
	Feb 3, 2025 7:55:11 AM	26	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2260	6.800	\$15.14
	Feb 3, 2025 7:52:36 AM	22869	TALBERT, ERIC	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2260	8.000	\$17.81
	Feb 3, 2025 8:40:19 AM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2260	22.600	\$50.31
	Feb 12, 2025 11:47:46 AM	23017	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2780	17.500	\$39.86
	Feb 14, 2025 10:22:09 AM	22444	MACIAS, EMMANUEL	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.6430	18.000	\$47.57

	Transaction Date/Time	Entered Equipment ID	Operator Name	Operator Department	Product Name	Facility	Unit Price	Quantity	Total Price
	Feb 11, 2025 7:42:18 AM	26	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	0.600	\$1.37
	Feb 11, 2025 1:29:41 PM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	San Angelo Airport	\$2.2780	15.100	\$34.40
	Feb 24, 2025 8:25:34 AM	22685	LOPEZ, FRANK	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3510	17.800	\$41.85
	Feb 10, 2025 11:14:23 AM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	32.900	\$74.91
	Feb 10, 2025 11:36:59 AM	23047	QUISENBERRY, JUSTIN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	23.300	\$53.05
	Feb 10, 2025 10:07:50 AM	23017	MCCORMICK, BRANDON	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	9.800	\$22.31
	Feb 10, 2025 9:42:33 AM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	10.400	\$23.68
	Feb 10, 2025 7:50:59 AM	22828	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	7.500	\$17.08
	Feb 10, 2025 8:05:13 AM	23205	FRANCO, NOE	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.2770	27.700	\$63.07
	Feb 10, 2025 8:24:23 AM	26	MANLEY, MICHAEL	WATER DISTRIBUTION	DL	City Facility	\$2.7420	17.000	\$46.61
	Feb 20, 2025 10:09:33 AM	23203	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	28.600	\$67.61
	Feb 24, 2025 10:54:57 AM	23188	RODRIGUEZ, PAUL	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3510	32.100	\$75.47
	Feb 24, 2025 11:36:03 AM	11414	MACIAS, EMMANUEL	WATER UTILITY MAINTENANCE	DL	City Facility	\$2.6340	21.400	\$56.37
	Feb 19, 2025 12:40:46 PM	23017	ELGUEZABAL, JOHN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	16.200	\$38.30
	Feb 19, 2025 1:15:41 PM	22869	TALBERT, ERIC	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	17.200	\$40.66
	Feb 19, 2025 1:48:22 PM	22828	RAMIREZ, MATTHEW	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	27.200	\$64.30
	Feb 19, 2025 2:46:09 PM	23008	KEY, JEFF	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	20.600	\$48.70
	Feb 18, 2025 1:29:39 PM	23016	WARD, JIM	WATER UTILITY MAINTENANCE	UL	San Angelo Airport	\$2.3640	16.200	\$38.30
	Feb 18, 2025 3:10:25 PM	22638	FRANCO, NOE	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	27.500	\$65.01
	Feb 19, 2025 5:29:20 AM	23398	MESSER, ARTHUR	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.3640	29.100	\$68.79
	Feb 18, 2025 7:54:41 AM	23203	MARTINEZ, ROBERTO	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.6430	15.700	\$41.50
	Feb 18, 2025 7:58:07 AM	23047	QUISENBERRY, JUSTIN	WATER UTILITY MAINTENANCE	UL	City Facility	\$2.6430	18.000	\$47.57
<b>WATER UTILITY MAINTENANCE Totals</b>				<b>59</b>			<b>\$138.7400</b>	<b>1,112.200</b>	<b>\$2,611.57</b>
<b>WIC</b>									
	Feb 11, 2025 4:03:43 PM	23040	LOPEZ, MARIA	WIC	UL	City Facility	\$2.2780	5.100	\$11.62
	Feb 4, 2025 11:27:51 AM	23040	LOPEZ, MARIA	WIC	UL	City Facility	\$2.2260	10.700	\$23.82
<b>WIC Totals</b>				<b>2</b>			<b>\$4.5040</b>	<b>15.800</b>	<b>\$35.44</b>
<b>Totals</b>				<b>3,323</b>			<b>\$8,010.9500</b>	<b>64,305.200</b>	<b>\$157,677.62</b>